VRABERFG LT TBRMBIEIAZAUERERURRE-HH LR
4R
—CAREREHRARERERUERE ERMENEH > FAKERERDE > ATHRABEFELLE -
oGRS E > AR T ERERGRERER LR E ) RTHERE > AARFRAERERD 0 AHERRSH
BRAREEUEREEMAEREA -
A [, A ARGASHEE RERAGRAAN  BRELGBFEHEEAZBRRASER  AIEMALH
B Ga¥E -

‘

6= T S AR R BEEE | BfEE | HiE

46-910-602000 MULTIPLE FLOW NEBULIZER 115

47-065-400000 DRY MOUTH ORAL RINSE 473ML AS:BIOTENE 350! ¥
47-098-500300 ORAL BALANCE 42G AS:BIOTENE 450 PAY
47-407-250250 TERUMO ARTIFICAL DERMIS AS:TERUMO 2.5CM X 2.5CM 4475 A
47-407-250500 TERUMO ARTIFICAL DERMIS AS:TERUMO 2.5CM X 5CM 8350 PAY
47-407-500500 TERUMO ARTIFICAL DERMIS AS:TERUMO 5CM X 5CM 14470 A
4N-665-900001 NEONNAL OXISENSOR NELLCOR N-25 /NG et 585

68-007-005541 “POLYXAL” SCAR CARE SILICONE GEL 15GM. 1890 ¥t
68-007-009100 ATOPICLAIR CREAM 40ML 650, PAY
68-007-009101 ATOPICLAIR CREAM 100ML 1200 A
63-007-009102 ATOPICLAIR LOTION 120ML 1250 PAY
68-007-015012 DERMATIX ULTRA GEL 15G 1980 A
68-007-015020 SCAR GEL 20ML AS:FROIKA 2080 PAY
68-007-100030 NEO VIDERM SKIN EMULSION 30ML/PC 1000 A
68-031-MANO14 JEIEHPEC-13[AM 3R AR 32 C-13:99 0

68-046-000050 EABEREE 1 XSOML VIAL OF CYSTISTAT 40MG 6900 *
68-090-010020 IODOFORIUM GAUGE 2 460CM/PC 356

ENVIRONMENTAL CHAMBER FOR STORAGE OF PLATELET CONCENTRATE
68-906-100010 AS:REGENLAB THT 10800 PAY
ENVIRONMENTAL CHAMBER FOR STORAGE OF PLATELET CONCENTRATE

68-906-100020 AS:REGENLAB THT-ATS 32000 PAY
68-956-0CR002 LOW RESDUE TEST DIET INCLUDE LUNCH DINNER DESSERT 332KCAL/BX 680 A
84-002-010000 DISPOSABLE SYRINGE 1CC 25GX1 NEEDLE 5

84-002-010009 SAFETY DISPOSABLE SYRINGE 1CC WITH NEEDLE 16:2MM 10

84-002-020000 DISPOSABLE SYRINGE 2CC 23GX1 NEEDLE 5

84-002-020009 SAFETY DISPOSABLE SYRINGE 2CC WITH NEEDLE 25:2MM 10

84-002-020151 2ML DISPOSABLE SYRINGE WITH LEUR-LOCK 21G X 38MM 5

84-002-050000 DISPOSABLE SYRINGE 5ML 23GX1.25 NEEDLE 5

84-002-050009 SAFETY DISPOSABLE SYRINGE 5CC WITH NEEDLE 32+2MM 10

84-002-050151 SML DISPOSABLE SYRINGE WITH LEUR-LOCK 5

84-002-100000 DISPOSABLE SYRINGE 10ML 21GX1.5 NEEDLE 5

84-002-100002 DISPOSABLE SYRINGE WITH LOCK NEEDLE 10CC X 22G X 112" 5

84-002-100009 SAFETY DISPOSABLE SYRINGE 10CC WITH NEEDLE 38+2MM 10

84-002-200000 DISPOSABLE SYRINGE 20CC 5

84-002-200121 DISPOSABLE SYRINGE WITH LEUR-LOCK NON-NEEDLE 20ML 6

84-002-500000 DISPOSABLE SYRINGE 50ML 20

84-012-305000 PLASTIC IRRIGATING SYRINGE SOML 13

84-018-320004 DISPOSABLE 200 CC SYRINGE KIT({515%5 534175 +PRIME TUBE) 553

84-018-320005 DISPOSABLE 200 CC SYRINGE 37 KITQES X2+ W% +5818445+PRIME TUBE) 778

84-021-018000 SAFETY NEEDLE 18GX40MM 10

84-021-019250 A B R4S 19G 341

84-021-021000 SAFETY NEEDLE 21GX40MM 10

84-021-023000 SAFETY NEEDLE 23GX32MM 10

84-021-025000 SAFETY NEEDLE 25GX25MM 10

84-021-027000 SAFETY NEEDLE 27GX13MM 10

84-021-218380 PLASTIC NEEDLE 18GX38MM 5

84-021-219380 PLASTIC NEEDLE 19GX38MM 5

84-021-220380 PLASTIC NEEDLE 20GX38MM 5

84-021-222380 PLASTIC NEEDLE 22GX38MM 5

84-021-223700 HYPODERMIC 23G*70MM 10

84-021-225250 PLASTIC NEEDLE 25GX25MM 5

84-021-227130 PLASTIC NEEDLE 27GX13MM 5

84-021-230040 PEN-FILL NEEDLE 32G X 4MM (B-D) 10

84-023-021000 NEEDLE ECLIPSE 21GX1.25 48PC/BX. 10

84-023-022000 NEEDLE ECLIPSE 22GX1.25 48PC/BX 10

84-024-015000 IC NEEDLE 16GX64MM 20

84-024-019000 IC NEEDLE 20GXSIMM 20

84-024-116000 INSYTE AUTOGUARD INTRAVASCULAR CATHETER 16G X 1.77 55

84-024-118000 INSYTE AUTOGUARD INTRAVASCULAR CATHETER 18G X 1.88 55

84-024-120000 INSYTE AUTOGUARD INTRAVASCULAR CATHETER 20G X 1.16 55

84-024-122000 INSYTE AUTOGUARD INTRAVASCULAR CATHETER 22G X 1 55

84-024-124000 INSYTE AUTOGUARD INTRAVASCULAR CATHETER 24G X 0.75 55

84-027-000001 MAJESTIK SERIES ANGIOGRAPHY NEEDLE 18GX7CM AS:MERIT AN18T72S 200!

84-027-A70180 PERCUTANEOUS NEEDLE DCM-18-7.0 230

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page |




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-033-650050 Wi A P 2T *8MM 773
84-036-020075 SAFETY ANGLE NEEDLE 20GX0.75 FOR PORT-A 160
84-036-020100 SAFETY ANGLE NEEDLE 20GX1” FOR PORT-A 160
84-036-022075 SAFETY ANGLE NEEDLE 22GX0.75 FOR PORT-A 160
84-036-022100 SAFETY ANGLE NEEDLE 22GX1” FOR PORT-A 160
84-037-023710 DISPOSABLE INJECTOR 23G X 4MM X 1650MM AS:OLYMPUS NM-200L-0423 910
84-037-023720 INJECTOR FOR ENDOSCOPE 23G X 4MM X 230CM AS:OLYMPUS NM-200U-0423 910
84-041-000003 IV SET REGULAR 18
84-041-000004 MINL-DRIP SET 18
84-041-000006 LUER LOK 6” + EXTENSION SET AS:BD 385301 50
84-041-000007 IV ACCESS VALVE BD-385300 50
84-041-000010 INFUSION SET NEEDLE FREE 60
ACCESS 15 IRRIGATION SYSTEM INFLOW-ONLY DISPOSABLE TUBE
84-041-200012 AS:SMITH+NEPHEW 7205699 2400
84-042-000003 DOSIFIX NEEDLE-FREE 90
84-042-000004 VOLUME-CONTROL LV. ADMINISTRATION SET 7
84-042-000009 PLUM SET NITRGLYCERIN PUMP SET (TRIDIL PUMP SET)2427 310
84-042-000012 LIFESHIELD PLUM PUMP SETS AS:HOSPIRA 12339 390
84-042-000013 LIFESHIELD PLUM PUMP SETS TWO LUMEN AS:HOSPIRA 12030 400
84-042-000014 LIFESHIELD PLUM PUMP SETS THREE LUMEN AS:HOSPIRA 11948 560
84-042-001080 CARDIOPLEAGIA DELIVERY SET AS:MEDTONIC D1080/1A 4100
84-043-000000 BLOOD TRANSFUSION SET 21
84-043-000004 Y BLOOD TRANSFUSION SET AS : TERUMO TY*A2004 40
84-045-021000 VACUTAINER BLOOD COLLECTION SET 21GX0.75” 40
84-045-023000 VACUTAINER BLOOD COLLECTION SET 23GX0.75 40
84-045-025000 VACUTAINER BLOOD COLLECTION SET 25GX0.75” 40
84-045-210000 SCALP VEIN NEEDLE 21G 10
84-045-230000 SCALP VEIN NEEDLE 23G 8
84-045-250000 SCALP VEIN NEEDLE 25G 8
84-051-000000 CVP MEASUREMENT SET 200
84-052-412012 ALLEVYN ADHESIVE 12.5CM X 12.5CM 320
84-052-417017 ALLEVYN ADHESIVE 17.5CM X 17.5CM 495
84-052-807313 INTRASITE GEL 25GM 385
84-055-100029 SAFETY INSULIN DISPOSABLE SYRINGE ICCX29GX1/2 1PC/BX 15
84-055-280006 INSULIN DISPOSABLE SYRINGE 0.5CCX28GX1/2” 10
84-055-280010 INSULIN DISPOSABLE SYRINGE 1CC X 31G X 5/16 10
84-055-280011 INSULIN DISPOSABLE SYRING 0.5CC X 31G X 5/16 10PC/BX 10
84-055-280012 INSULIN DISPOSABLE SYRINGE 0.3CC X 31G X 5/16 10
DOUBLE LUMEN HEMODIALYSIS CATHETER SET 12FR X 16CM AS:ARROW CS-
84-057-120160 1212.F 2100
DOUBLE LUMEN HEMODIALYSIS CATHETER SET 12FR X 20CM AS:ARROW CS-
84-057-120200 15122-F 1840
84-065-119010 VRS 19G X 10CM (COAXIAL INTRODUCER NEEDLE 19G X 10CM) 1075
84-065-201518 [l AR E)) 81 18G*15CM TEMNO COAXIAL BIOPSY NEEDLE 18G*15CM 1150
84-065-201520 AUTOMATIC DISPOSABLE BIOPSY NEEDLE 20G#15CM 1150
84-065-401410 BIPOSY NEEDLE 14GX10CM AS:BARD MC1410 885
84-065-401610 BIPOSY NEEDLE 16GX10CM AS:BARD MC1610 885
84-065-401820 BIOPSY NEEDLE 18GX20CM AS:BARD MC1820 975
84-065-515000 STERNUM BONE MARROW ASPIRATION NEEDLE 15G X 27-44MM 1150
84-065-515268 SNARELOK BONE MARROW BIOPSY 15G X 2.688 AS:MD TECH DBMNI1501 935
84-065-521110 BONE MARROW BIOPSY NEEDLE 11G X 10CM 910
84-067-026000 SPINAL NEEDLE 26G 52
84-067-228800 DISPOSABLE SPINAL NEEDLE 22GX88MM 48
84-067-278800 DISPOSABLE SPINAL NEEDLE 27G X 83MM 53
DISPOSABLE INTRAOSSEOUS INFUSION NEEDLE 16GA X 3CM AS:COOK C-DIN-
84-070-016003 16-3.0-T45-DKM 272
84-070-018018 PTCD-NEEDLE 18GX200MM 190
84-070-021018 PTCD-NEEDLE 21GX200MM 190
84-070-022018 PTCD-NEEDLE 22GX200MM 190
DISPOSABLE PERCUTANEOUS ENTRY THINWALL NEEDLE 18GX/CM AS:COOK
84-070-187000 BSDN-18-7.0 200
MICROPUNCTURE INTRODUCER SETS NEEDLE 21GX7CM AS:COOK MPIS-401-
84-070-S40130 NT-SST 2100
84-071-050000 GAUGE BANDAGE 2 20
84-071-075000 GAUGE BANDAGE 3 20
84-071-100000 GAUGE BANDAGE 4 40
84-071-150000 GAUZE BANDAGE 6 X10Y/RL 40
84-072-050040 ELASTIC BANDAGE 2 X5Y 15
84-072-075040 ELASTIC BANDAGE 3 X5Y 2.05
84-072-100040 ELASTIC BANDAGE 4 X5Y/RL STERILIZED 30
84-072-150040 ELASTIC BANDAGE 6 XSY/RL STERILIZED 27
84-073-050040 COTTON ELASTIC BANDAGE 2 *5Y STERILIZED 15
84-073-094040 COTTON ELASTIC BANDAGE 3.75 #SY STERILIZ 25

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 2




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-074-100020 PLASTER OF PARIS 4 X3Y/RL 40.01
84-074-150020 PLASTER OF PARIS 6 X5Y/RL 85
84-075-100000 ORTHOPEDIC COTTON BANDAGE 4 X4Y STERILIZ 31
84-075-150000 ORTHOPEDIC COTTON BANDAGE 6 X4Y STERILIZ 43
84-080-075000 TRAC BAND 3# 7.5X180CM 145
84-082-075105 STOCKINETTE 3 X 85CM STERILIZED 23
84-082-150105 STOCKINETTE 6INCH X 120CM STERILIZED 70
84-086-300050 READY-TO-USE BANDAGE FINGER 22
84-086-450500 READY-TO-USE BANDAGE HEAD 23
84-086-700300 "READY-TO-USE BANDAGE, LEG" 42
84-091-075001 "ADHESIVE TAPE, CUTTING 3 X15" 80
84-091-075002 "ADHESIVE TAPE, 3 X15" 80
84-092-013000 SURGICAL TAPE 1/2 X10Y 15 ¥e
84-092-020140 PENIS FIXED BELT 9 PAd
84-092-025000 SURGICAL TAPE 1 X10Y 28 ¥e
84-092-025034 TRANSPORE WHITE SURGICAL TAPE 1 X 10Y AS:3M 1534-1 65 PAd
84-092-050000 SURGICAL TAPE 2 X10Y 35 ¥e
84-093-075000 ELASTIC ADHESIVE TAPE 3 X15FT(5Y) 233
84-094-003017 HERADERM SCAR CARE DRESSING(NON-STERILE)3X17CM 428 DA
84-094-013000 SKIN CLOSURE 1/2 X4 42
84-094-604300 MEPIFORM 4*30CM AS:MOLNLYCKE 1605 ¥t
84-094-605075 MEPIFORM 5%7.5CM AS:MOLNLYCKE 560 PAY
84-096-075000 SCOTCHCAST 3M 3IN X 4Y AS:3M 82003 139
84-096-100000 ORTHOPEDIC TAPE 4IN X 4Y. OR SCOTCHCAST AS:3M 82004 164
84-096-125000 SCOTCHCAST 3M 5 X4Y/RL 72005 180
84-098-001072 B/ 23X45CM 360
84-098-100000 IODAN TM 2 TODOPHOR 60CM X 35CM 540
84-098-100010 IOBAN 2 ANTIMICROGIAL FILE INCISE DRAPE 90CM*45CM 550
84-098-140000 INCISE DRAPE 1040 60 X 30 CM 147
84-098-170000 I 40 X 60 CM (/K ZD) 100
84-098-180000 INCISE DRAPE 1050 45 X 90 CM 272
84-099-000001 EXPANS 1:1.5 RATIO WARNING USZ 2195-12 760
84-099-000002 EXPANSI 1:3 RATIO WARNING USZ 2195-13 760
STERI-DRAPE WITH ADHESIVE DIAMOND APERTURE OVERALL SIZE:315CM X
84-102-000005 183CM/ DIAMOND: 1 705
84-113-000301 COTTON BALL BIG 10PC/BX STERILIZED 7
84-114-600000 SWAB FOR GENERAL USE 0.8CM[X6 L 6
84-115-600000 SWAD FOR CLINIC 6 10PC/BX STERILIZED 6
84-116-600000 WASHER SWAD 6 8PC/BX STERILIZED 8
84-117-300000 SMALL SWAB 3 10PC/BX STERILIZED 5
84-120-100200 SURGICAL PATTIES 1/2X1/2IN. 80-1400 170
84-120-100300 SURGICAL PATTIES 1/2X3IN. 80-1407 170
84-120-100400 SURGICAL PATTIES 1X3IN. 260
84-120-150800 ENTIRIMAS 505 U il 30 pAY
84-120-508003 NASOPORE NASAL DRESSING FORTE PLUS 8CM AS:POLYGANICS ND05-025/08B 4800 IAY
84-120-650350 SURGICEL GAUZE SCMX35CM AS : ETHICON W1911 470
84-120-703500 AVITENE 70MMX35MMXIMM 2175 e
84-120-MS0002 SPONGOSTAN STANDARD 7CMX5CMX1CM AS : FERROSAN MS0002 179
84-131-020204 GAUZE 2 X2 2420X12P 4PC/BX STERILIZED 5 PAd
84-131-030304 GAUGE 3 X3 2420X16P 4PC/BX STERILIZED 10 DA
84-131-040402 GAUZE 4 X4 2420X16P 2PC/BX STERILIZED 5
84-131-203521 BURN GAUZE 90X50CM 2824 4PLY STERILIZED 35
84-133-040413 TRACHEOSTOMY SPONGE 4 X4 6PLY 2PC/BX 6
84-134-121200 LAPROTOMY SPONGE 12 X12 2824 SPC/BX STE 55
84-134-161600 LAPROTOMY SPONGE 16 X16 2824 SPC/BX STERILIZED 63
84-141-040601 COTTON PAD 4 X6 2PC/30G/BX 10
84-144-162000 0OBS WARD PAD 40X50CM 10 PAd
84-147-000000 FIRST AID BAND (O.K. BAND) 5
84-152-005005 HERADERM HYDROGEL WOUND DRESSING 5CMX5CM 135 PAd
84-152-005014 HERADERM HYDROGEL WOUND DRESSING 5CMX14CM 420 A
84-152-006195 HERADERM HYDROGEL WOUND DRESSING 6CMX19.5CM 563 PAd
84-152-010010 DUODERM EXTRA THIN CGF DRESSING 10 X 10CM AS:CONVATEC 87955 73
84-152-031010 ANTIMICROBIAL DRESSING(STERILE) 10X10CM AS:BCT DASNNI1010 310
84-152-701010 AQUACEL AG+ DRESSING 10X10CM AS:CONVATEC 413567 430 DA
84-152-701515 AQUACEL AG+ DRESSING 15X15CM AS:CONVATEC 413568 760 Yo
AQUACEL AG SURGICAL HYDROFIBER DRESSING WITH SILVER 9CM X 15CM
84-152-709015 AS:CONVATEC 41201 380
AQUACEL AG SURGICAL HYDROFIBER DRESSING WITH SILVER 9CM X 25CM
84-152-709025 AS:CONVATEC 41201 580
84-152-710010 AQUACEL AG HYDROFIBER DRESSING WITH SILVER 10CM X 10CM 270
84-152-715015 AQUACEL AG HYDROFIBER DRESSING WITH SILVER 15CM X 15CM 480
84-152-914014 AQUACEL FOAM HYDROFIBER DRESSING(STERILE) ADHESIVE 12.5CMX12.5CM 340

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 3




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-152-919019 AQUACEL FOAM HYDROFIBER DRESSING(STERILE) ADHESIVE 17.5CMX17.5CM 560
84-155-001010 IV DRESSING 4.4 X 44CM (O.P SITE) 15
84-155-001012 IV DRESSING 6X7CM (O.P SITE) 10
84-155-001014 IV DRESSING 10X12CM (O.P SITE) 20
84-155-040225 OCCLUSIVE WOUND DRESSING(STERILE) 2X2.5CM AS:BCT BNSTS020025 60) PAq
84-155-040510 OCCLUSIVE WOUND DRESSING(STERILE) 5X10CM AS:BCT BNSTS050100 200 PAG
84-155-040520 OCCLUSIVE WOUND DRESSING(STERILE) 5X20CM AS:BCT BNSTS050200 350 PAq
TRANSPARENT DRESSING WITH ABSORBENT PAD 9CM%T X 15CMZL(4. 5SCMHT X
84-155-309150 10CME) 25PC/BX 75
84-155-405115 IV TRANSPARENT DRESSING (O.P SITE) 8.5X11.5CM AS:3M 1685 80
84-156-000400 (3M COBAN) PACKING TAPE 4 TAN 1584 110 pAY
84-165-080001 FOLEY 2WAY RUBBER 8FR 140
84-165-100001 FOLEY 2WAY RUBBER 10FR 102
84-165-120001 FOLEY 2WAY RUBBER 12FR 55
84-165-140001 FOLEY 2WAY RUBBER 14FR 75
84-165-160001 FOLEY 2WAY RUBBER 16FR 55
84-165-180001 FOLEY 2WAY RUBBER 18FR 55
84-165-200001 FOLEY 2WAY RUBBER 20FR 35
84-165-220001 FOLEY 2WAY RUBBER 22FR 54
84-165-800090 DILATOR 9FR X 0.038 X 200MM AS:BIOTEQ DR-ER-1P-0920 230
84-165-800100 DILATOR 10FR X 0.038 X 200MM AS:BIOTEQ DR-ER-1P-1020 230
84-165-800120 DILATOR 12FR X 0.038 X 200MM AS:BIOTEQ DR-ER-1P-1220 230
84-167-043000 SUCTION PACK #5 (STERILIZED) 8
84-167-063000 SUCTION PACK #6 (STERILIZED) 8
84-167-083000 SUCTION PACK #8 (STERILIZED) 5
84-167-103000 SUCTION PACK #10 (STERILIZED) 5
84-167-143000 SUCTION PACK #14 (STERILIZED) 7
84-170-030000 UMBILICAL CATHETER 3.5FR 910
84-170-050000 UMBILICAL CATHETER SFR 910
84-172-011022 GASTROSTOMY TUBE 22FR REORDER NUMBER0110-22 2335
84-172-011024 GASTROSTOMY TUBE 24FR REORDER NUMBERO110-24 2400
84-172-050500 FEEDING TUBE 5FR 11
84-172-080500 FEEDING TUBE 8FR 15
84-172-100500 FEEDING TUBE 10FR 11
84-173-121250 STOMACH TUBE 12FR 22
84-173-141250 STOMACH TUBE 14FR 19
84-173-143250 SILICONE LEVIN TUBE 14FR 70
84-173-161250 STOMACH TUBE 16FR 16
84-173-162250 STOMACH TUBE 16FR 15.12
84-173-163250 SILICON LEVIN TUBE 16FR 70
84-173-183250 SILICONE LEVIN TUBE 18FR 70
84-174-100000 CHEST TUBE 10FR 298
84-174-120000 CHEST TUBE 12FR 195
84-174-160000 CHEST TUBE 16FR 165
84-174-200000 CHEST TUBE 20FR 134
84-174-240000 CHEST TUBE 24FR 165
84-174-280000 CHEST TUBE 28FR 143
84-174-320000 CHEST TUBE 32FR 143
SKATER SINGLE STEP CATHETER WITH LOCKING PIGTAIL 8FR AS:PBN 7565-08-
84-176-080020 020 2600,
84-176-080030 MULTIFUNCTIONAL DRAINGE CATHETER SET 7565-08-030 (8FR) 2600
SKATER SINGLE STEP CATHETER WITH LOCKING PIGTAIL 10FR AS:PBN 7565-
84-176-100020 10-020 2600
84-176-100030 MULTIFUNCTIONAL DRAINGE CATHETER SET 7565-10-030 (10FR) 2600,
84-176-406030 PIGTAIL NEPHROSTOMY SET 6FR X 30CM 3600
84-176-408030 PIGTAIL NEPHROSTOMY SET 8FR X 30CM 3600,
84-176-510030 PIGTAIL NEPHROSTOMY SET 10FR X 30CM AS:PBN 780510030 3600
84-176-514030 PIGTAIL NEPHROSTOMY SET 14FR X 30CM AS:PBN 780514030 3600
84-176-743015 CONNECTING TUBES 15CM AS:ARGON 404743015 440
84-178-040011 TWO LUMEN CVP KIT OD:4FR X 13CM ID:22GA ~ 22GA 1785
84-178-070011 ANTISEPTIC TWO LUMEN CVP KIT OD:7FR X 20CM ID:14GA ~ 18GA 1701
84-178-070022 ANTISEPTIC MULTI-LUMEN CVP KIT OD:7FR X 20CM ID:16GA ~ 18GA X 2 2048
84-178-070031 ANTISEPTIC TWO LUMEN CVP KIT OD:8FR X 20CM ID:14GA 1850
84-178-122022 ANTISEPTIC MULTI-LUMEN KIT OD:12FR X 20CM ID:12GA X 2 ~ 16GA 1990
AMSTERDAM BILIARY STENT KIT STENT:7FR 5CM DELIVERY:200CM
84-185-307005 AS:MICROVASIVE 3420 4681
AMSTERDAM BILIARY STENT KIT STENT:7FR 7CM DELIVERY:200CM
84-185-307007 AS:MICROVASIVE 3421 4681
AMSTERDAM BILIARY STENT KIT STENT:7FR 10CM DELIVERY:200CM
84-185-307010 AS:MICROVASIVE 3922 4725
AMSTERDAM BILIARY STENT KITSTENT:7FR 12CM DELIVERY:200CM
84-185-307012 AS:MICROVASIVE 3423 4681
AMSTERDAM BILIARY STENT KITSTENT:7FR 15CM DELIVERY:200CM
84-185-307015 AS:MICROVASIVE 3424 4681

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 4




VARERESLAABERMEIAZRHEBERBERURAE-HH &R

AMSTERDAM BILIARY STENT KITSTENT:I0FR 5CM DELIVERY:200CM
84-185-310005 AS:MICROVASIVE 3432 4681
AMSTERDAM BILIARY STENT KITSTENT:I0FR 7CM DELIVERY:200CM
84-185-310007 AS:MICROVASIVE 3433 4681
AMSTERDAM BILIARY STENT KIT STENT:I0FR 10CM DELIVERY:200CM
84-185-310010 AS:MICROVASIVE 3932 4681
84-185-310012 AMSTERDAM BILIARY STENT KIT STENT:10FR 12CM AS:MICROVASIVE 3435 4681
84-186-003363 ERBD 7FR 10CM BY MICROVASIVE 2300
84-186-100007 COTTON-LEUNG BILIARY STENT ONLY 10FRX7CM AS:COOK 2394
84-186-100009 COTTON-LEUNG BILIARY STENT ONLY 10FRX9CM AS:COOK 2394
84-186-100012 COTTON-LEUNG BILIARY STENT ONLY 10FRX12CM AS:COOK 2394
84-188-018042 EMBOLIZATION MICROCOIL AS:COOK MWCE-18S-4/2-TORNADO 3520
84-188-035053 (COOK) TORNADO EMBOLIZATION MICROCOILS MWCE-35-5/3-TORNADO 3555
84-193-031175 INTRACORONARY SHUNT 1.75MM AS:MEDTRONIC 31175 4300
84-193-355502 JUDKINS RT CORONARY SFR5-100CM 0.035 900!
SAFETY INTRAVASCULAR CATHETER(CHECKVALVE) 20GX1.25 OD:1.IMM
84-195-020000 L:31MM 40
84-195-200000 ANGIO CATH. 20G X 1.88 13
84-201-030005 URETERAL CATHETER 3FR 195
84-201-040005 URETERAL CATHETER 4FR 195
84-201-050005 URETERAL CATHETER 5FR 195
84-201-120035 URETERAL ACCESS SHEATH 12FR X 35CM AS:COOK FUS-120035 8000
84-203-160000 T-TUBE RUBBER 16FR 200!
84-203-180000 T-TUBE RUBBER 18FR 200
84-203-200000 T-TUBE RUBBER 20FR 200!
84-203-220000 T-TUBE RUBBER 22FR 200
84-203-240000 T-TUBE RUBBER 24FR 270
84-204-080001 FOLEY 2WAY SILICON 8FR 263
84-204-120001 FOLEY 2WAY SILICON 12FR 120
84-204-140001 FOLEY 2WAY SILICON 14FR 120
84-204-160001 FOLEY 2WAY SILICON 16FR 120
84-204-180001 FOLEY 2WAY SILICON 18FR 120
84-204-200001 FOLEY 2WAY SILICON 20FR 120
84-204-200002 20FR.3WAY SILICON FOLEY CATH 187
84-204-220002 SILICON 3WAY FOLEY 75CC 22FR 550!
DESTINATION GUIDING SHEATH SFR 45CM CCV STRAIGHT AS:TERUMO 54-
84-210-545010 54501 8600
DESTINATION GUIDING SHEATH 6FR 45CM CCV STRAIGHT AS:TERUMO 54-
84-210-645010 64501 8600
DESTINATION GUIDING SHEATH 7FR 45CM CCV STRAIGHT AS:TERUMO 54-
84-210-745010 74501 8600
DESTINATION GUIDING SHEATH 8FR 45CM CCV STRAIGHT AS:TERUMO 54-
84-210-845010 84501 8600
84-210-S60110 SHEATH INTRODUCER SET 6F 11CM 1300
84-212-400010 RADIFOCUS INTORDUCER 10CM 4FR . WITH 0.035 GUIDE WIRE 1300
84-212-500110 TERUMO RADIFOCUS INTRODUCER II(4-11FR 70-100MM) 950
84-212-500125 SFR £25CM SHEATH(TERUMO) 1295
84-212-R07010 IEPRR R 5 |3 7F 10CM TERUMO RADIFOCUS INTRODUCER 11 10CM 1300
84-212-R08010 M5 [ 8F 10CMTERUMO RADIFOCUS INTRODUCER II 10CM 1300
BREAST LOCALIZATION WIRE 7CM NEEDLE ; 20CM LOCALIZATION WIRE
84-216-447720 AS:BARD 47720 1120
BREAST LOCALIZATION WIRE 9CM NEEDLE ; 20CM LOCALIZATION WIRE
84-216-447920 AS:BARD 47920 1120
84-218-006201 VARI-STIM Il CONCEPT 6201 2500
84-221-006532 FAAEE 5.5XTCM 0
84-221-006535 PAUERS 8.25X7CM 0
84-221-006550 AAEE TXTICM 0
CARPENTIER BI-CAVAL FEMORAL CANNULA 24/29FR WITH 172
84-221-058729 AS:MEDTRONIC 58729 17860.5
84-221-068032 SINGLE STAGE VENOUS SETURN CANNULAE 32FRAS:BAXTER TF032L 1150
84-222-000000 NASAL OXYGEN CANNULA 2 WAY 20
84-223-000000 DE LEE SUCTION CATHETER 63
84-223-020008 BEUbE S SFR*40CM 0
84-223-020014 PR IR 7 0
84-225-160000 ESOPHAGEAL-NASOGASTRIC TUBE 16G 1990
84-226-000000 EXTENSION TUBE 95CM 10
84-226-000001 T INTERMITTED INJECTION CAP 15
84-227-000000 PRESSURE TUBING 33
84-227-000003 PRESSURE MONITORING KIT DOME 1295A 388
84-229-500002 ENDO WITH CUFF #5.0 80
84-229-550002 ENDO WITH CUFF #5.5 80
84-232-000019 EPIDURAL MINI PACK WITH RESISTANCE SYRINGE 18G AS:B.BRAUN 4513010 445
84-232-000020 EPICUTAUEQ-CAVA-CATHETER 1196
84-233-000265 NON-KINKING TRACHEAL TUBE WITH CUFF 6.5MM 375
84-233-000270 NON-KINKING TRACHEAL TUBE WITH CUEF 7.0MM 375

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 5




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-233-200260 RAFE PREFORMED TRACHEAL TUBE WITH CUFF 6. 232

84-233-200265 RAE PREFORMED TRACHEAL TUBE NASAL 6.5# 294

84-233-200270 RAE PREFORMED TRACHEAL TUBE WITH CUFF 7. 294

84-233-250000 LOW PRESSURE ENDOTRACHEAL TUBE 2.5MM 135

84-233-300000 LOW PRESSURE ENDOTRACHEAL TUBE 3.0MM 135

84-233-350000 LOW PRESSURE ENDOTRACHEAL TUBE 3.5MM 135

84-233-400000 LOW PRESSURE ENDOTRACHEAL TUBE 4.0MM 135

84-233-450000 LOW PRESSURE ENDOTRACHEAL TUBE 4.5MM 135

84-233-500000 LOW PRESSURE ENDOTRACHEAL TUBE 5.0MM 135

84-233-550000 LOW PRESSURE ENDOTRACHEAL TUBE 5.5MM 7

84-233-600000 LOW PRESSURE ENDOTRACHEAL TUBE 6.0MM CUR 80

84-233-650000 LOW PRESSURE ENDOTRACHEAL TUBE 6.5MM 80

84-233-700000 LOW PRESSURE ENDOTRACHEAL TUBE 7.0MM CUR 80

84-233-750000 LOW PRESSURE ENDOTRACHEAL TUBE 7.5MM CUF 80

84-233-800000 LOW PRESSURE ENDOTRACHEAL TUBE 8.0MM CUR 80

84-236-000002 DRAIN-TUBE 24-0015 1250

84-239-000135 BRONCHO CATH 35FR RIGHT ENDO BROCHIAL 1859

84-239-000228 BRONCHOCATH LEFT(CODE:125-28) 1859

84-239-000235 BRONCHO CATH 35FR LEFT ENDO BROCHIAL 1859

84-251-015035 CURVED-GUIDE-WIRE TSCF-35-145-1.5 440

84-251-035100 GUIDE-WIRE RFGA35153 1130

84-251-100035 GUIDE WIRE STRAIGHT 440
CEVOX CENTRAL VENOUS OXYGEN SATURATION MONITORING SYSTEM

84-256-202236 FIBROPTIC PROBE CATHETE 6610

84-256-260153 AMPLATZ TYPE RENAL SHEATH 28FR AS:MICROVASIVE 260-153 1250

84-258-000026 DISPOSABLE PECTAL TUBE 26FR 20

84-259-000007 RUBBER FOLEY CATH #7 (STERILIZED) 45
FLEXOR GUIDING CATHETERS 5.0FRX55CMX30° AS:COOK KSAW-5.0-18/38-55-

84-260-385551 RB-ANL1-HC 8800
FLEXOR GUIDING CATHETERS 5.0FR*55CMX60 AS:COOK KSAW-5.0-18/38-55-

84-260-385552 RB-ANL2-HC 8800
FLEXOR GUIDING CATHETERS 5.0FR X 55CM AS:COOK KCFW-5.0-38-55RB-

84-260-385554 RAABE 8500
FLEXOR GUIDING CATHETERS 6.0FR*55CMX30 AS:COOK KSAW-6.0-18/38-55-

84-260-386551 RB-ANL1-HC 8800
FLEXOR GUIDING CATHETERS 6.0FR*55CMX60 AS:COOK KSAW-6.0-18/38-55-

84-260-386552 RB-ANL2-HC 8800
FLEXOR GUIDING CATHETERS 6.0FR X 55CM AS:COOK KCFW-6.0-38-55-RB-

84-260-386554 RAABE 8500

84-261-000102 GUIDE WIRE .35 X70CM STRAIGHT 336

84-262-18153M |45 PA GUIDE WIRE 0.018 150CM 861

TERUMO” RADIOFOCUS GUIDE WIRE M RADIOFOCUS STIFF GUIDE WIRE

84-262-351513 0.035*150CM 1065

84-262-352630 GUIDEWIRE STIFF TYPE ANGLED 0.035 260CM AS:TERUMO RF*PA35263M 2200

84-262-35263M _ |GUIDE WIRE 0.035 260CM RF*GA35263 2200

84-262-38153M  |GUIDE-WIRE 0.038/50CM 1130

84-262-40808M  |PIGTAIL ANGIO CATH 4F 80CM RF*4SP0068M 810

84-2624310GM _ |RC3 ANGIO CATH (RC3) 4F RF*AD6410GM 805

84-262-50808M |PIGTAIL ANGIO CATH SF 80CM RF*SSPO0S8M 810

84-263-018000 SPINAL NEEDLE 25GX89MM 38

84-263-034108 RADIFOCUS OPTITORQUE ANGIO. CATHE TERUMO RH*AG34108M 900

84-263-080040 ANGIO CATHETER NP4-RH-4FR 1955
STERLING OTW PTA BALLON DILATAT CATH 90CM 4.0MMXS0MM AS:BOSTON

84-263-972589 H74939147408090 10300
STERLING OTW PTA BALLON DILATAT CATH 90CM 4.0MMX80MM AS:BOSTON

84-263-974089 H74939147408090 10300
STERLING OTW PTA BALLON DILATAT CATHIS0CM Z.5MMXI20MM

84-263-982521 AS:BOSTON H74939148251210 13500
STERLING OTW PTA BALLON DILATAT CATH 90CM 2.5MMX120MM

84-263-982529 AS:BOSTON H74939148251290 13500
STERLING OTW PTA BALLON DILATAT CATH 150CM 2.5MMXS0MM

84-263-982581 AS:BOSTON H74939148258010 10300
STERLING OTW PTA BALLON DILATAT CATHIS0CM 3.0MMXI20MM

84-263-983021 AS:BOSTON H74939148301210 13500
STERLING OTW PTA BALLON DILATAT CATH 90CM 3.0MMX120MM

84-263-983029 AS:BOSTON H74939148301290 13500
STERLING OTW PTA BALLON DILATAT CATH 150CM 3. 0MMXSOMM

84-263-983081 AS:BOSTON H74939148308010 10300
STERLING OTW PTA BALLON DILATAT CATH 90CM 3.0MMXS0MM AS:BOSTON

84-263-983089 H74939148308090 10300
STERLING OTW PTA BALLON DILATAT CATH 150CM 4MMXI20MM

84-263-984021 AS:BOSTON H74939148401210 13500
STERLING OTW PTA BALLON DILATAT CATH 90CM 4.0MMX120MM

84-263-984029 AS:BOSTON H74939148401290 13500
STERLING OTW PTA BALLON DILATAT CATH 150CM 4 OMMXSOMM

84-263-984081 AS:BOSTON H74939148408010 10300

84-263-H03047 MUSTANG PTA BALLOON DILATATION CATHETER 3.0MMX40MM SFR 75CM 6500

84-263-H04047 MUSTANG PTA BALLOON DILATATION CATHETER 4.0MMX40MM SFR 75CM 6500

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 6




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-263-H04081 MUSTANG PTA BALLOON DILATATION CATHETER 4.0MMX80MM SER 135CM 6500
MUSTANG PTA BALLOON DILATAT CATH.4.0MMXI00MM SER 135CM
84-263-H04101 AS:BOSTON H74939171041010 6500
84-263-H05047 MUSTANG PTA BALLOON DILATATION CATHETER 5.0MMX40MM SFR 75CM 6500
84-263-H05067 MUSTANG PTA BALLOON DILATATION CATHETER 5.0MMX60MM SER 75CM 6500
84-263-105081 MUSTANG PTA BALLOON DILATATION CATHETER 5.0MMX60MM SFR 75CM 6500
84-263-H06047 MUSTANG PTA BALLOON DILATATION CATHETER 6.0MMX40MM SER 75CM 6500
84-263-H06067 MUSTANG PTA BALLOON DILATATION CATHETER 6.0MMX60MM SFR 75CM 6500
84-263-H06087 MUSTANG PTA BALLOON DILATATION CATHETER 6.0MMX80MM SER 75CM 6500
84-263-H07047 MUSTANG PTA BALLOON DILATATION CATHETER 7.0MMX40MM SFR 75CM 6500
84-263-H07067 MUSTANG PTA BALLOON DILATATION CATHETER 7.0MMX60MM SER 75CM 6500
84-263-H07087 MUSTANG PTA BALLOON DILATATION CATHETER 7.0MMX80MM SFR 75CM 6500
84-263-H08047 MUSTANG PTA BALLOON DILATATION CATHETER 8.0MMX40MM 6ER 75CM 6500
84-263-H08067 MUSTANG PTA BALLOON DILATATION CATHETER 8.0MMX60MM 6FR 75CM 6500
84-263-H08087 MUSTANG PTA BALLOON DILATATION CATHETER 8.0MMX80MM 6ER 75CM 6500
84-263-H09047 MUSTANG PTA BALLOON DILATATION CATHETER 9.0MMX40MM 6FR 75CM 6500
84-263-H09067 MUSTANG PTA BALLOON DILATATION CATHETER 9.0MMX60MM 6ER 75CM 6500
84-263-H10047 MUSTANG PTA BALLOON DILATATION CATHETER 10.0MMX40MM 6FR 75CM 6500
84-263-H10067 MUSTANG PTA BALLOON DILATATION CATHETER 10.0MMX60MM 6FR 75CM 6500
84-263-H12047 MUSTANG PTA BALLOON DILATATION CATHETER 12.0MMX40MM 7FR 75CM 6500
84-264-003060 PCA BAG 148 e
84-264-003061 PCA BAG 250ML/PC 172 ¥t
84-264-003072 GEMSTAR PCA PUMP SET 279CM AS:HOSPIRA 132610401 1350 %
84-264-561012 BARD SUPRAPUBIC CATHETERISATION SET 12FR 745
84-264-561016 BARD SUPRAPUBIC CATHETERISATION SET 16FR 745
84-266-003007 POLYSITE IMPLANTABLE PORT 7FR AS:PEROUSE 3007ISP 8400
M.R.I IMPLANTED LOW-TROFILE PORT WITH ATTACHABLE GROSHONG-
84-266-603830 ENDED CATHETER 7.0FR 10100
84-26E-046854 V-18 CONTROL WIRE 0.018 X 300CM X 8CM AS:BOSTON 46-854 4000
DEFLECTABLE 10-POLES ELECTRICAL CATHETER 6FR D CURVE 2-5-2MM 92CM
84-26G-R252RT  [DEFLECTABLE AS 17280
84-26N-D7BTDL  [BIOSENSE WEBSTER BRAIDED TIP 4-POLETEMP CTRL ABLATION CATHETER 27875
84-271-051618 NEPHROSTOMY BALLOON CATH F-18B 660
84-271-051620 NEPHROSTOMY BALLOON CATH F-20B 660
84-271-052021 DOUBLE-J 52021 6FR26CM 1649
84-271-052022 DOUBLE-J 52022 6FR28CM 1649
84-271-052042 DOUBLE-J 7FR 28CM 1649
84-271-052061 DOUBLE J-STENT 8FR 26CM #ANS5743-0050 1412
84-271-05FS35 HYDRO GLIDE GUIDEWIRE STRAIGHT 035 X145CM AS:BARD 145FS35 420
UNIVERSA DOUBLE PIGTAIL STENT (BOTH OPEN END) 4.7FR X 26CM AS:COOK
84-271-485426 USL-526 1932
UNIVERSA DOUBLE PIGTAIL STENT (BOTH OPEN END) 4.7FR X 28CM AS:COOK
84-271-485428 USI-528 1932
84-271-521040 UROSOFT TUMOR STENT SET 6FR 24CM(28CM) AS:ANGIOMED 60521040 9300
84-271-521050 UROSOFT TUMOR STENT SET 6FR 26CM(30CM) AS:ANGIOMED 60521050 9300
UNIVERSA DOUBLE PIGTAIL STENT (CLOSE END) 6FRX26CM AS:COOK USI-626-
84-271-716026 CE 1932
URETERAL PIGTAIL STENT(CLOSED DISTAL END) 6FRX28CM AS:COOK 009628-
84-271-726028 GRAD-CE 1932
84-271-777426 INLAY URETERAL STENT WITH HYDRSET 4.7FRX26CM AS:BARD 777426 1850
84-271-777624 INLAY URETERAL STENT WITH HYDRSET 6FRX24CM AS:BARD 777624 1850
84-271-777626 INLAY URETERAL STENT WITH HYDRSET 6FRX26CM AS:BARD 777626 1850
84-271-778622 INLAY URETERAL STENT WITHOUT SET 6FRX22CM AS:BARD 778622 1700
84-271-788626 INLAY URETERAL STENT 6FR X 26CM AS:BARD BA788626 6000
84-273-800425 PRO-GAV ADJUSTABLE SHUNT SYSTEM AS:AESCULAP FV425-T 71275(63792
84-273-821521 ACCU-FLO 3 WAY CONN 82-1521 3050
84-273-821700 EXTERNAL DRAINAGE BAG+VENTRICULAR CATH AS:BMI 06118+06128 6028
84-273-821701 EXTERNAL DRAINAGE BAG+VENTRICULAR CATH AS:MEDTRONIC 26020+46128 6479
84-273-823838 PROGRAMMABLE VALVE SYSTEM 30MM-200MMH20 AS:CODMAN 82-3838 60200[52717
84-274-026130 PROGREAT MICRO CATHETER 0.021”  130CM 15740
84-274-326090 CXI SUPPORT CATHETER 2.6FRX90CM STRAIGHT AS:COOK CXI-2.6-18-90-P-NS-0 11400
CXI SUPPORT CATHETER 2.6FRX90CM ANGLED AS:COOK CXI-2.6-18-90-P-NS-
84-274-326091 ANG 11400
CXI SUPPORT CATHETER 2.6FRX150CM STRAIGHT AS:COOK CXI-2.6-18-150-P-
84-274-326150 NS-0 11400
CXI SUPPORT CATHETER Z.6FRX150CM ANGLED AS:COOK CXI-2.6-18-150-P-NS-
84-274-326151 ANG 11400
84-274-403880 OPTITORQUE ANGIO CATH.AF 0.038 80CM RC1 900
TORCON NB ANGIOGRAPHIC CATHETER 5FR 40CM KMP AS:COOK HNB5.0-38-
84-274-500KMP_ [40-P-NS-KMP 800
84-274-525420 CXI SUPPORT CATHETER 4.0FR AS:COOK CX1-4.0-35-135-P-NS-0 11400

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 7




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-274-525430 CXI SUPPORT CATHETER 4.0FR AS:COOK CX1-4.0-35-135-P-NS-DAV 11400
84-274-525440 CXI SUPPORT CATHETER 4.0FR AS:COOK CX1-4.0-35-150-P-NS-0 11400
84-274-525450 CXI SUPPORT CATHETER 4.0FR AS:COOK CXI1-4.0-35-150-P-NS-DAV 11400
84-274-525460 CXI SUPPORT CATHETER 4.0FR AS:COOK CX1-4.0-35-90-P-NS-0 11400
84-274-525470 CXI SUPPORT CATHETER 4.0FR AS:COOK CX1-4.0-35-90-P-NS-DAV 11400
84-276-280091 RICHARD WOLF EHL PROBE 9FR AS:WOLF 2280.091 6600
84-276-280131 E.HLL 3.3FR ik 5000
84-280-000102 FOGARTY ARTERIAL EMBELECTONCY AE4 1470
CATEX-FREE EMBOLECTOMY CATH. SPRING-TIP 3FRXS0CM_AS:BIOSENSOR
84-280-000380 EL1380 1400
CATEX-FREE EMBOLECTOMY CATH. SPRING-TIP 4FRXS0CM_AS:BIOSENSOR
84-280-000480 EL1480 1400
CATEX-FREE EMBOLECTOMY CATH. SPRING-TIP SFRXS0CM_AS:BIOSENSOR
84-280-000580 EL1580 1400
84-280-000680 LATEX-FREE EMBOLECTOMY CATH. SPRING-TIP 6FRX80CM AS:BIOSENSOR 1400
84-280-600000 DAIG ANGIO SEAL VASCULAR CLOSURE DEVICE 6F 12540 s
84-280-800000 DAIG ANGIO SEAL VASCULAR CLOSURE DEVICE 8F 12540 A
84-281-010000 HEMO VAC 1/4INCH 285
84-281-020000 CLOSED WOUND DRAINAGE SYSTEM 4S0MLPVC (bk+/5+1) 285
84-281-106124 EDMS DRAINAGE BAG 700ML 805
84-283-608000 CONNECTING TUBE 100CM (F-M) 1000PSI 330
84-284-000000 SILICON DRAINAGE TUBE 150CM X40CM 42
84-284-032307 FORTUNE C.W.V DRAIN SYSTEM:SILICON DRAINS TUBE 7MM 357
84-284-032310 FORTUNE C.W.V DRAIN SYSTEM:SILICON DRAINS TUBE 10MM 357
84-284-141484 FLOTRAC SENSOR KIT 84 PRESSURE LINE AND IV SET AS:EDWARDS MHDS 6980
84-285-030000 3-WAY STOPCOCK 15
84-285-030200 3-WAY STOPCOCK 200PSI S3SNC 75
84-286-000001 HYALOGLIDE ANTI-ADHESION GEL IML AS:ANIKA 16000 s
84-286-000149 SURGIPRO POLYPROPYLENE MESH 14 X 9 AS:USSC SPM-149 5700
84-286-001510 PARIETENE POLYPROPYLENE MESHES 15X10CM AS:COVIDIEN PPLIS10 2350
VISCOSEAL SYNOVIAL FLUID SUBSTITUTE SOMG/I0ML AS:TRB CHEMEDICA
84-286-005010 VISCOSEAL 28000 s
84-286-010006 ULTRAPRO HERNIA SYSTEM MEDIUM 6CMX12CMX7.5CM AS:ETHICON UHSM1 13000 s
ULTRAPRO HERNIA SYSTEM LARGE 6CMATX12CMEEX 10CMI% AS:ETHICON
84-286-010007 UHSL1 13000 s
ULTRAPRO HERNIA SYSTEM OVAL GCMZTX 12CME< [0CMATX12CMEL
84-286-010008 AS:ETHICON UHSOV1 13000 s
84-286-076200 HYALOBARRIER GEL ENDO 30MG/ML/ACP 10ML + 30CM CANNULA 14200 A
84-286-076204 BARRIGEL 40MG/ML 10ML/PC 15000 s
84-286-115808 MODIFIED KUGEL HERNIA PATCH MESH 6X13.7CM D:7.5CM_AS:BARD 0115808 11600 s
84-286-115810 MODIFIED KUGEL HERNIA PATCH MESH 6X13.7CM D:10CM_AS:BARD 0115810 11600 s
84-286-115812 MODIFIED KUGEL HERNIA PATCH MESH 8X12CM  AS:BARD 0115814 11600 A
84-286-1208DL _ |PARIETENE PROGRIP MESHES LEFT SIDE 12X8CM AS:COVIDIEN PP1208DL 12000 s
84-286-1208DR __ |PARIETENE PROGRIP MESHES RIGHT SIDE 12X8CM AS:COVIDIEN PP120SDR 12000 ¥
84-286-126400 MARLEX MESH 1 *4 USCI 11264 1126
84-286-130155 PERFIX PLUG MESH MEDIUM 1.3” X 1.55” AS:BARD 0112760 5400
84-286-15100L  |PARIETEX MESHES 15X10CM AS:COVIDIEN TECT1510ADP2L 15750 s
84-286-15102R  |PARIETEX MESHES 15X10CM AS:COVIDIEN TECT1S10ADP2R 15750 A
84-286-160190 PERFIX PLUG MESH LARGE 1.6” X 1.9” AS:BARD 0112770 5400
84-286-160200 PERFIX PLUG MESH EXTRA-LARGE 1.6” X 20" AS:BARD 0112780 5400
84-286-430506 BIORESORBABLE MEMBRANE 5 X 6 AS:GENZYME CORPORATION 430102 12700 s
84-288-001101 "VENTRICULAR CATHETER, AS: BMI #01101" 1550
84-288-003105 PERITONEAL CATHETER AS:MBI ; #03105. 2500
84-288-005103 "CSF CATHETER CONNECTOR STRAIGHT ,AS:BMI #05103." 560
84-288-005104 "CSF CATHETER CONNECTOR.RIGHT ANGLE AS:BMI #05104." 1190
84-288-005105 "CSF CATHETER CONNECTOR 3-WAY ,AS:BMI :#05105." 2000
84-288-020800 PENROSE DRAIN SILASTIC NO.8 60
84-288-021000 PENROSE DRAIN SILASTIC NO.10 60
84-288-021200 PENROSE DRAIN SILASTIC NO.12 2
84-288-02512H |"CSF VALVE BURR HOLE H/P 12MM , AS:BMI #02512H." 6500
84-288-02512L |"CSF VALVE BURR HOLE L/P 12MM , AS:BMI #02512L." 6500
84-288-02512M  |"CSF VALVE BURR HOLE M/P 12MM , AS:BMI #02512M." 6500
84-288-02514H  |CSE VALVE BURR HOLE H/P 14MM AS:BMI (02514H 6500
84-288-02812L  |CSE-FLOW CONTROL VALVE L/P AS:BMI : #02812L. 6500
84-288-02810M |CSE-FLOW CONTROL VALVE M/P AS:BMI ; #02812M. 6500
84-288-041101 CSF VENTRICULOR CATHETER 41101 1469
84-288-042532 CONTROL L/P VALVE 12MM 42532 8950
84-288-042534 CONTROL M/P VALVE 12MM 42534 8950
84-288-042536 CONTROL DALVE 12M/M H-P 6405
84-288-043103 PERITONEAL COTHETER 43103 3200
84-288-045103 CONNECTOR STR. #45103 420
84-288-045105 CONNECTOR 3-WAY #45105 2300

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 8




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-290-230000 IEHERS 0
PALINDROME CATHETER KIT AND SPORTPACK T4.5TR 19736CM AS KENDALL
84-298-145014 8888145014 4600
PALINDROME CATHETER KIT AND SPORTPACK T4.5FR 23/40CM AS KENDALL
84-298-145015 8888145015 4600
PALINDROME CATHETER KIT AND SPORTPACK T4.5TR 55772CM AS KENDALL
84-298-145018 8888145018 4600
TIICKMAN DIALYSTS/PHFRESIS DUAL CATHETER 13.3FRXA0CM AS-BARD
84-298-600692 BA600692 4900
TEMOGLIDE LONG-TERM HEMODIALYSIS CATH. 14 5FRXT9CM/26CM AS BARD
84-298-663690 5663690 4900
HEMOSPLIT HEMODIALYSIS CATHETER 14.3F 42CM STRAIGHT AS.BARD
84-298-714542 BAS734420 8950
84-301-00020L STLK 2/0 WTST02W 0
84-301-00030L SILK 1/0 WTS703B 0
84-301-00040L FRER#L) {1 0
84-301-000493 P.D.S 50 7-493G 300
84-301-000496 P.D.S 74966 4-0 350
84-301-000498 50 P.D.S 7-503 350
84-301-009124 3.0 PDS 25MM T-CUT 70CM AS:ETHICON W9124T 20
84-301-009918 40 VICRYL CUTTING W9918 220
84-301-009919 3.0 VICRYL, CUTTING W9919 275
84-301-010042 TENSION-FREE VAGINAL TAPE (TVT)DEVICE AS:ETHICON 810081 20000
84-301-010359 P.D.S* 11 NO.1 W9299T 190
84-301-010442 P.D.S Z442H 3-0 210
84-301-010969 P.D.S 7969H 2-0 178
84-301-012317 COATED VICRYLE W9789 3-0 610
84-301-019100 STLK 1-0 COAIG 620
84-301-021100 4.0 SILK W211 76
84-301-021200 STLK 3-0 W212 63
84-301-031900 ETHILON 4-0 W319 73
84-301-032000 3.0 ETHILON W320 75
84-301-043400 COATED VICRYLE 4-0 J434H 140
84-301-043500 40 CHROMIC W435 4
84-301-043700 3.0 CHROMIC W437 90
84-301-044800 CHROMIC 20 W448 70
84-301-048000 40 CHROMIC W480 73
84-301-048100 CHROMIC 3-0 W481 60
84-301-048800 CHROMIC 2-0 W488 70
84-301-052600 5.0 ETHILON W526 70
84-301-065300 5.0 CHROMIC W653 80
84-301-075800 CHROMIC 1-0 W758 70
84-301-076200 CHROMIC 1 W762 7
84-301-078600 ETHILON 2-0 W786 CUTTING 70
84-301-081000 BONE WAX W810 90
84-301-088800 6-0 SILK W388 410
84-301-095520 COATED VICRYL 60 552G 610
84-301-095650 COATED VICRYL, 7-0 546G 700
84-301-0LASSG  |2-0 BLACK SILK SUTURE 365CM AS:ETHICON LAS5G 477
84-301-0W4843  |ETHIBOND NO.2 W4843 4EA/PC 790
84-301-0W4846  |FTHIBOND W4846 NO:5 710
ABSORBABLE SUTURES(WITH NEEDLE) 30 TAPFR 12CURVE X T7MM 70CM
84-301-0Y215H  |AS:ETHICON MONOCR 520
84-301-169604 7.0 ETHILON 1696G 213
UPHOLD LITE VAGINAL SUPPORT SYSTEM AS-BOSTON SCIENTIFIC
84-301-318170 MO068318170 55000
OBTRYX TRANSOBTURATOR SLING SYSTEM-HATLO AS-BOSTON SCIENTIFIC
84-301-505000 MO068505000 16500
84-301-693600 ETHIBOND 3-0 W6936 185
84-301-697600 ETHIBOND 3-0 W6976 130
84-301-697700 ETHIBOND 2-0 W6977 170
84-301-852124 PROLENE 4-0 8521H 195
84-301-852200 3.0 PROLENE 178
84-301-855600 PROLENE 5-0 W8556 195
84-301-855700 PROLENE 4-0 W8557 260
84-301-870200 PROLENE 7-0 W8702 290
84-301-871000 PROLENE 5-0 W8710 205.6
84-301-871200 PROLENE 6-0 W8712 205
84-301-897700 PROLENE 2-0 W8977 178
84-301-911400 COATED VICYLE 3-0 WOl 14 165
84-301-913000 COATED VICRYL 3-0 J516H 165
84-302-000603 VICRYL J603H 330
84-302-073325 ETHILON 10-0 W2870 520
84302061181 |4-0 POLYSORB GL-181 116

84-302-174111

NYLON 6-0 NC126

59

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 9




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-302-185048 ETHILON 11-0 W2881 1170
84-302-720421 DEXON 5-0 7204-21 140
84-302-720731 VICRYL 4-0 J304H 128
84-302-726751 VICRYL 2-0 J345H 133
84-302-728761 VICRYL 1-0 J358H 125
84-302-753621 VICRYL 5-0 J493G 208
84-302-753831 COATED VICRYL 4-0 J494G 190
84-302-755118 COATED VICRYL 8-0 J548G 775
84-302-761941 VICRYL 3-0 J442H 120
84-302-770421 VICRYL 5-0 J503G 215
84-302-775551 VICRYL 20 J472H 128
84-302-775971 VICRYL NO.1 J486H 130
84-302-900000 ETHILON NYLON SUTURE(WITH/WITHOUT NEEDLE) 9-0 BV130-5 570
84-302-CLO316 V-LOC 180 ABSORBABLE WOUND CLOSURE DEVICE 0 1/2CIRCLE GS-21 37MM 2300
STRATAFIX SPIRAL PDO KNOTLESS DEVICE 1 24X24CM 172 36MM AS:ETHICON
84-302-D2B410 SXPD2B410 1500
84-305-198225 10-0 NYLON 1982 610
84-305-198325 9-0 NYLON 1922 705
84-310-030414 ENDO GIA IT ROTICULATOR 60-3.5SULU AS:USSC 030414 6600
84-310-030418 ENDO GIA I ROTICULATOR 30-2.5 DLU AS:COVIDIEN 030418 5400
84-310-030422 ENDO GIA 1 45-3.5 DLU AS:USSC 030422 5300
84-310-030425 ENDO GIA I ROTICULATOR 45-2.5SULU AS:COVIDIEN 030425 6900
84-310-030449 ENDO GIA UNIVERSAL INTRUMENT 12MM AS:USSC 030449 11100
84-310-030451 ENDO GIA UNIVERSAL ROTICULATOR 30-2.5MM AS:COVIDIEN 030451 5400
84-310-030452 ENDO GIA UNIVERSAL ROTICULATOR 30-3.5MM AS:COVIDIEN 030452 5400
84-310-030455 ENDO GIA ROTICULATOR 45-3.5 DLU AS:USSC 030455 6900
84-310-030458 ENDO GIA UNIVERSAL ROTICULATOR 60-3.5MM AS:COVIDIEN 030458 8300
84-310-030459 ENDO GIA UNIVERSAL ROTICULATOR 60-4.8MM AS:COVIDIEN 030459 8300
84-310-034525 ENDO GIA ROTICULATOR 45-2.5 DLU AS:COVIDIEN 030454 6900
84-310-034548 ENDO GIA ROTICULATOR 45-4.8 DLU AS:COVIDIEN 030456 6900
84-310-0PPHO1 ETHHICON PROXIMATE HCS STAPLER PPHO1 13000 ¥
84-310-180000 WP RER B vy 3700
AUTO SUTURE BLUNT TIP TROCAR AND SYRINGE 10MM AS:COVIDIEN
84-310-180010 OMSTI0BT 3900
84-310-A8038L GIA 80-3.8 DST STAPLER RELOADS UNIT AS:COVIDIEN GIAS038L 3200
MULTIFIRE DST GIA-30 RELOADABLE STAPLER 80-3.8MM AS:COVIDIEN
84-310-A80388 GIAS038S 3300
84-310-A8048L GIA 80-4.8 DST STAPLER RELOADS UNIT AS:COVIDIEN GIASM4SL 3200
MULTIFIRE DST GIA-80 RELOADABLE STAPLER 80-4. SMM AS:COVIDIEN
84-310-A80488 GIA8048S 3300
SINGLE USE ABSORBABLE FIXATION SMM W/15 TACKS AS:COVIDIEN
84-310-ABSOLS  |ABSTACKIS 17500 Y
84-310-E4SAMT  |COVIDIEN EGIA MED THICK SULU 45X3-4MM AS : COVIDIEN EGIA4SAMT 10350 ¥t
84-310-E45AVM  |COVIDIEN EGIA VASCULAR MED SULU 45X2-3MM AS : COVIDIEN EGIA45AVM 10350 e
84-310-B60AMT _ |COVIDIEN EGIA MED THICK SULU 60X3-4MM AS : COVIDIEN EGIAGOAMT 11500 e
84-310-EGIAQ0 COVIDIEN ENDO GIA UNIVERSAL STND AS : COVIDIEN EGIAUSTND 13300
84-310-EGIAOL ENDO GIA ULTRA UNIVERSAL SHORT STAPLER AS:COVIDIEN EGIAUSHORT 11400
84-312-AC0682 KIT OPTICAL ACCESS SYSTEM 12X 100MM FOR DA VINCI AS:APPLIED CTR73 2300
84-312-AC0684 KII OPTICAL ACCESS SYSTEM 12X150MM AS:APPLIED CTR71 2300
KIT OPTICAL ADVANCED FIXATION ACCESS SYSTEM SMMXI00MM
84-312-AC0703 AS:APPLIED CFRO3 2300
K1 OPTICAL ADVANCED FIXATION ACCESS SYSTEM 1IMMX100MM
84-312-AC0733 AS:APPLIED CFR33 2300
K1 OPTICAL ADVANCED FIXATION ACCESS SYSTEM 12MMX 100MM
84-312-AC0773 AS:APPLIED CFR73 2300
84-312-AC0802 KII SLEEVE ADVANCED FIXATION SMMX100MM AS:APPLIED CES02 1350
84-312-AC0957 KII OPTICAL ACCESS SYSTEM SX100MM FOR DA VINCI AS:APPLIED CTR03 2300
84-326-000001 CULTURE TUBE 1X12CM/PC (GLASS) STERILIZE 12
84-340-032060 ENDOTRACHEAL TUBE NO 6 CUFF 60
84-365-000000 ASRME AR (S 75
84-369-180000 DISPOSABLE CHEST DRAINAGE BOTTLE WITH TU 110
84-36A-A00618  |BONASTENT BILIARY STENT 7FR 1800MM D:10MM L:60MM AS:BB-100618 65000 ¢
84-36A-A00718  |BONASTENT BILIARY STENT 7FR 1800MM D:10MM L:70MM AS:BB-100718 65000 e
84-36A-A00818  |BONASTENT BILIARY STENT 7FR 1800MM D:10MM L:80MM AS:BB-100818 65000 ¢
84-36A-B00618 BONASTENT BILIARY STENT $FR 1800MM D:10MM L:60MM AS:BBC-100618 65000 Y
84-36A-B00718 BONASTENT BILIARY STENT 8ER 1800MM D:10MM L:70MM AS:BBC-100718 65000 ¢
84-36A-B00S 18 BONASTENT BILIARY STENT $FR 1800MM D:10MM L:80MM AS:BBC-100818 65000 Y
84-36B-608084 ZILVER VASCULAR STENT 7FV6-80-8-4.0 AS:COOK 34025
84-36B-608086 ZILVER VASCULAR STENT ZFV6-80-8-6.0 AS:COOK 34005
84-36B-608088 7ILVER VASCULAR STENT 7FV6-80-8-8.0 AS:COOK 34025
84-36B-6080A4 ZILVER VASCULAR STENT ZFV6-80-10-4.0 AS:COOK. 34025
84-36B-6080A6 7ILVER VASCULAR STENT 7EFV6-80-10-6.0 AS:COOK. 34025
84-36B-6080A8 ZILVER VASCULAR STENT ZFV6-80-10-8.0 AS:COOK. 34025

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 10




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-36B-612617 ZILVER FLEX STENT 125CM 6MMX17CM AS:COOK ZFV6-125-6-17.0 53000
84-36B-612620 ZILVER FLEX STENT 125CM 6MMX20CM AS:COOK ZFV6-125-6-20.0 53000
84-36B-612717 ZILVER FLEX STENT 125CM 7MMX17CM AS:COOK ZFV6-125-7-17.0 53000
84-36B-612720 ZILVER FLEX STENT 125CM TMMX20CM AS:COOK ZFV6-125-7-20.0 53000
84-36B-ZFC566 ZILVER FLEX STENT 125CM 6MMX6CM AS : COOK ZFV6-125-6-6.0 36500
84-36B-ZFC568 ZILVER FLEX STENT 125CM 6MMX8CM AS : COOK ZFV6-125-6-8.0 36500
84-36B-ZFC56A  |ZILVER FLEX STENT 125CM 6MMX10CM AS : COOK ZFV6-125-6-10.0 36500
84-36B-ZFC56C ZILVER FLEX STENT 125CM 6MMX12CM AS : COOK ZFV6-125-6-12.0 36500
84-36B-ZFCS6E ZILVER FLEX STENT 125CM 6MMX14CM AS @ COOK ZFV6-125-6-14.0 36500
84-36B-ZFC576 ZILVER FLEX STENT 125CM 7MMX6CM AS : COOK ZFV6-125-7-6.0 36500
84-36B-ZFC578 ZILVER FLEX STENT 125CM 7MMX8CM AS : COOK ZFV6-125-7-8.0 36500
84-36B-ZFC57A  |ZILVER FLEX STENT 125CM 7MMX10CM AS : COOK ZFV6-125-7-10.0 36500
84-36B-ZFC57C ZILVER FLEX STENT 125CM 7MMX10CM AS @ COOK ZFV6-125-7-10.0 36500
84-36B-ZFC5TE ZILVER FLEX STENT 125CM TMMX14CM AS : COOK ZFV6-125-7-14.0 36500
84-374-280010 SUCTION BOTTLE DISPOSABLE 7
84-389-050000 PEIRTE S SOOML 50
84-418-200021 SHIBLRAT 1800CC 0
84-430-000021 PLASTIC STOOL BATH 110 A
84-430-070010 PLASTIC MALE URINARY 30 Yo
84-442-190301 ANEURYSM CLIP SMALL MIZUHO NO.1 3500
84-442-190302 ANEURYSM CLIP SMALL MIZUHO NO.2 3500
84-442-190312 ANEURYSM CLIP NO:12 MIZUHO 3500
84-442-190313 ANEURYSM CLIP MIZUHO NO.13 3500
84-442-190315 ANEURYSM CLIP NO:15 MIZUHO 3500
84-442-190330 ANEURYSM CLIP L MEDIUM MIZUHO NO.30 3500
84-442-190336 SUGITA ANEURYSM CLIPS NO.36 3500
84-442-190338 SUGITA ANEURYSM CLIPS NO.38 3500
84-442-190339 ANEURYSM CLIP L MEDIUM MIZUHO NO.39 3500
84-442-190341 ANEURYSM CLIP NO:41 MIZUHO 3500
84-442-190348 ANEURYSM CLIP SUGITA NO:48 MIZHO (7-940- 3500
84-442-190363 ANEURYSM CLIP SUGITA NO:63 MIZHO 07-940- 3500
84-442-190381 ANEURYSM CLIP MIZUHO NO.81 3500
84-442-190384 ANEURYSM CLIP MIZUHO NO.84 3500
84-446-100000 i 2l 0
84-448-000154 RANEY SCALY CLIP 1037/&; 160
84-448-010201 HEMO CLIP TITANLUM SMALL 30
84-448-010202 HEMO CLIP TITANLUM MEDIUM 6 CLIPS/HEQVD) 30
TR P 2 A X COVIDIEN AUTO SUTURE DISPOSABLE AUTOMATIC
84-448-134046 CLIP APPLIER 2300
84-448-176620 ENDO CLIP 5MM AS:USSC 176620 3574
84-448-176625 ENDO CLIP LARGE AS:USSC 176625 4600
84-448-544230 HEM-0-LOK POLYMER CLIP ML 6CLIP/PC AS:WECK PW544230) 2400 A
84-448-544240 HEM-0-LOK POLYMER CLIP L 6CLIP/PC AS:WECK PW544240 2400 e
84-448-544250) HEM-0-LOK POLYMER CLIP XL 6CLIP/PC AS:WECK PW54425() 5400 A
84-449-610090 CLIP LONG 90° 40PC/BX AS:OLYMPUS HX-610-090L 350
84-449-610135 CLIP STANDARD 135° 40PC/BX AS:OLYMPUS HX-610-135 350
84-455-001281 DISPOSABLE BIOPSY FORCEPS 1.8MMJEX160CMEL AS:MICROVASIVE 1281 620
84-461-206000 CLAVICULAR BAND 6CMX20CM 422 A
84-461-256000 CLAVICULAR BAND 6CMX25CM 422 Yo
84-461-307000 CLAVICULAR BAND 7CMX30CM 428 A
84-461-407000 CLAVICULAR BAND 7CMX40CM 428 Yo
84-461-458000 CLAVICULAR BAND 8CMX45CM 428 A
84-461-508000 CLAVICULAR BAND 8CMX50CM 428 e
84-461-608000 CLAVICULAR BAND 8CMX60CM 430 A
84-466-300200 FINGER SPLINT 2X45CM 40
84-466-528110 NASAL SPLINT 25PC/BX (XOMED 15-28110) 410) ¥
84-469-000004 "POLYNECK #4, CERVICAL COLLAR" 760 e
84-469-000006 "POLYNECK #6, CERVICAL COLLAR" 760 A
84-482-025040 NEONATAL BLOOD PRESSURE CUFF #1 DISPOSAB 220 e
84-482-032020 NEONATAL BLOOD PRESSURE CUFF #2 DISPOSAB 220 A
84-482-042030 NEONATAL BLOOD PRESSURE CUFF #3 DISPOSAB 220 e
84-482-051040 NEONATAL BLOOD PRESSURE CUFF #4 DISPOSAB 210 A
DIGITAL THERMOMETER RANGE:32°C-42.9C ACCURACY:%0.1C
84-515-000001 AS:MICROLIFE MT200 280 A
84-527-000000 URINE BAG 2000CC X 30PC/BX 2
84-527-000001 JRANFIREOTE) URINE BAG 80
84-527-000002 PCN BAG 2000ML AS:SVEND ANDERSEN 9075A 60
84-528-000000 "URINARY BAG , LED ATTACHABLE 50 PC/BX" 35
84-529-000000 URINARY ADHESIRE BAG 10 PC/BX 15
84-563-034000 R SRR AT 0
84-564-404000 TRIFLO-II 225
84-564-870003 SR TR A 459
84-564-870006 DISPOSABLE RESUSCITATOR(CHILD) 420

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 11




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-564-870015 DISPOSABLE RESUSCITATOR 320
ESTEEM SYNERGY DRAINABLE TRANSPARENT POUCH/FILTER 61MM

84-568-091633 AS:CONVATEC 405405 75

84-569-110000 PUMP FEEDING SET ICE POUNCH 1000ML BAG 134

84-571-000000 BABY GLOVES 100PR/BX 25 PA

84-573-650000 RUBBER GLOVES FOR OPERATING 6.5FR 20

84-573-700000 RUBBER GLOVES FOR OPERATING 7FR 16

84-573-750000 RUBBER GLOVES FOR OPERATING 7.5FR 16

84-573-800000 RUBBER GLOVES FOR OPERATING 8FR 20

84-574-021000 STERILIZED ISOLATED GLOVES M 5

84-574-022000 ISOLATED GLOVES M 5

84-575-650000 MEDICAL EXAM. GLOVE SIZE:S 10

84-575-700000 PLASTIC GLOVE 7FR FOR MEDICINE 10

84-575-750000 MEDICAL EXAM. GLOVE SIZE:L 10

84-579-650000 EXAM. GLOVE (S) 5 PAY

84-579-700000 EXAM. GLOVE (M) 5 Aq

84-586-000002 EKG RECORD PAPER 1C8G 50MMX30M 36

84-751-020014 AORTIC ROOT CANNULA(2-WAY)7FR 14G/NEEDLEAS:MEDTRONIC 20014 1050

84-751-020114 DLP AORTIC ROOT CANNULA (2-WAY) 7FR 14G/NEEDLE AS:AR-11114 1050

84-765-205312 ARTHROSCOPY SHAVER BLADE 420

84-765-205314 ARTHROSCOPY SHAVER BLADE INCISOR 5.5MM 7205314 840

84-765-205315 ARTHROSCOPY SHAVER BLADE 365

84-765-205325 ARTHROSCOPY SHAVER BLADE 730

84-765-225305 3.5MM 90/% HOOK ELECTRODE AS:MITEK 225305 2000

84-765-4004HR TRICUT BLADE 4MM ROTATABLE 360/%AS:MEDTRONIC 1884004HR 3000 ¥t

84-765-4006HR RAD 40 BLADE 4MM ROTATABLE 360/%AS:MEDTRONIC 1884006HR 3200 DAY

84-765-4016HR RAD 60 BLADE 4MM ROTATABLE 360/%AS:MEDTRONIC 1884016HR 3200 ¥t
INFERIOR TURBINATE BLADE WITH IRRIGATIONTUBE 2.0MM 11CM AS *

84-765-882040 MEDTRONIC 1882040 7000, PAG

84-765-884008 XPS RADENOID PEDIATRIC 4.0MM AS:XOMED 18-84008 2700, w

84-765-895600 STRAIGHTSHOT TO XPS IRRIGATION TUBING AS:XOMED 18-95522 1700
BONE SCALPEL 20MM UNILATERAL SERRATIONS INCLUDES BLADE SHORT

84-765-MXBB10 EXTENSION AND SILIC 31000
BONE SCALPEL MICRO HOOK INCLUDES SHAVER TIP SHORT EXTENSION AND

84-765-MXBS10 SILICONE SLEEVE 31000 ¥t

84-765-MXBT00 IRRIGATION TUBE AS : MISONIX MXB-T 5000 w

84-818-000021 SYRINGE FILTER 25M/M 0.2UM C.A (S0PC/BX) 63

84-828-000004 MICROAGGREGATE BLOOD TRANSFUSION FILTER 40 MICRON AS:PALL SQ40S 404

84-830-100000 PULMONARY FILTER FOR SENSORMEDICS AUTOBOX 6200 28

84-840-000001 DISPOSABLE PAPER TOWELS 30 X 30CM#£1CM 20PC/BX 1.25 ¥t

84-852-000000 PAPER MASK 100PC/BX 5

84-856-000001 SYMBLE PHARON EYE SHIELD SMALL 1900

84-856-000002 SYMBLE PHARON EYE SHIELD MIDDLE 1737

84-856-010000 ALUMIN EYE SHIELD 9CM 20

84-856-030000 M5, 0

84-861-001000 SIMPLE MASK FOR ADULT 60

84-861-001001 02 MASK ADULT(AEROSOL) 110

84-861-002000 "02 MASK, PEDIATRIC (TUBING)" 120

84-861-002001 "02 MASK, PEDIATRIC (AEROSOL)" 30

84-866-M00001 AMBU MASK (L) $:p 7 111 5 70

84-869-003000 NONREBREATHING MASK 56

84-891-004004 DURA NEURO-PATCH 4X5CM AS:B.BRAUN 1064045 4263

84-891-006008 DURA NEURO-PATCH 6X8CM AS:B.BRAUN 1064029 10232

84-891-010016 DURA NEURO-PATCH 12X14CM AS:B.BRAUN 1064002 33106

84-891-020010 DURAFORM DURAL GRAFT IMPLANT 2.5X7.5CM AS:CODMAN 80-1473 3374

84-891-020011 DURAFORM DURAL GRAFT IMPLANT 7.5X7.5CM AS:CODMAN 3301-1 10616

84-891-020012 DURAFORM DURAL GRAFT IMPLANT 10.16X12.7CM AS:CODMAN 80-1480 22521

84-892-1200V3 SILICONE NASAL IMPLANT L:5.5CM H:0.45CM AS:IMPLANTECH W5545 3300 PAG

84-892-121001 SILICONE NASAL IMPLANT L:4.7CM H:0.4CM AS:IMPLANTECH N4740 3300 w

84-892-121002 SILICONE NASAL IMPLANT L:5.0CM H:0.35CM AS:IMPLANTECH W5035 3300, PA

84-892-121003 SILICONE NASAL IMPLANT L:4.7CM H:0.3CM AS:IMPLANTECH N4730 3300 w

84-892-121004 SILICONE NASAL IMPLANT L:5.0CM H:0.3CM AS:IMPLANTECH W5030 3300, PA

84-892-140086 DRAIN-TUBE 14-0086 580

84-892-501501 MEMORYGEL SMOOTH ROUND MODERATE PLUS PROFILE 150CC 27000 PAG
MEMORYGEL SMOOTH ROUND MODERATE SILICONE PROFILE SILICONE GEL-

84-892-501751 FILLED 175CC AS:ME 27000 ¥t
MEMORYGEL SMOOTH ROUND MODERATE SILICONE PROFILE SILICONE GEL-

84-892-502001 FILLED 200CC 27000 PA
MEMORYGEL SMOOTH ROUND MODERATE SILICONE PROFILE SILICONE GEL-

84-892-502251 FILLED 225CC 27000 PA
MEMORYGEL SMOOTH ROUND MODERATE SILICONE PROFILE SILICONE GEL-

84-892-502501 FILLED 250CC 27000 PA
MEMORYGEL SMOOTH ROUND MODERATE SILICONE PROFILE SILICONE GEL-

84-892-502751 FILLED 275CC 27000 PA

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 12




VARE/RES A TERMEIAZRHEBERERUKRRE-HH &R

MEMORYGEL SMOOTH ROUND MODERATE SILICONE PROFILE SILICONE GEL-

84-892-503001 FILLED 300CC 27000 ¥
MEMOR YGEL SMOOTH ROUND MODERATE SILICONE PROFILE SILICONE GEL-
84-892-503251 FILLED 325CC 27000 ¥
MEMOR YGEL SMOOTH ROUND MODERATE SILICONE PROFILE SILICONE GEL-
84-892-503501 FILLED 350CC 27000 ¥
BREAST IMPLANTS SILICONE SMOOTH ROUND MODERATE CLASSIC PROFILE
84-892-7130MC_ |130CC AS:MENTOR 3 26000 ¥
BREAST IMPLANTS SILICONE SMOOTH ROUND MODERATE CLASSIC PROFILE
84-892-7150MC_ |150CC AS:MENTOR 3 26000 ¥
BREAST IMPLANTS SILICONE SMOOTH ROUND MODERATE CLASSIC PROFILE
84-892-7170MC__ |170CC AS:MENTOR 3 26000 ¥
BREAST IMPLANTS SILICONE SMOOTH ROUND MODERATE CLASSIC PROFILE
84-892-7215MC_ [215CC AS:MENTOR 3 26000 ¥
84-893-000055 LO.L. ALCON MI30BD 2461
84-893-000063 ACRYSOF SINGLE PIECE NATURAL AS:ALCON SNGOAT 15000]12119
84-893-000121 ACRYLIC IOL AS:AMO AABOO 4100
84-893-001060 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 6.0D AS:ALCON SN6OWF 30500{27619
84-893-001070 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 7.0D AS:ALCON SN6OWF 30500]27619
84-893-001080 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 8.0D AS:ALCON SN6OWF 30500{27619
84-893-001090 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 9.0D AS:ALCON SN6OWF 30500]27619
84-893-001095 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 9.5D AS:ALCON SN6OWF 30500{27619
84-893-001100 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 10.0D AS:ALCON SN6OWF 30500]27619
84-893-001105 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 10.5D AS:ALCON SN6OWE 3050027619
84-893-001110 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 11.0D AS:ALCON SN6OWF 30500]27619
84-893-001115 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 11.5D AS:ALCON SN6OWE 3050027619
84-893-001120 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 12.0D AS:ALCON SN6OWF 30500]27619
84-893-001125 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 12.5D AS:ALCON SN6OWE 3050027619
84-893-001130 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 13.0D AS:ALCON SN6OWF 30500]27619
84-893-001135 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 13.5D AS:ALCON SN6OWE 3050027619
84-893-001140 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 14.0D AS:ALCON SN6OWF 30500]27619
84-893-001145 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 14.5D AS:ALCON SN6OWE 30500]27619
84-893-001150 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 15.0D AS:ALCON SN6OWF 30500]27619
84-893-001155 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 15.5D AS:ALCON SN6OWE 30500]27619
84-893-001160 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 16.0D AS:ALCON SN6OWF 30500]27619
84-893-001165 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 16.5D AS:ALCON SN6OWE 30500]27619
84-893-001170 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 17.0D AS:ALCON SN6OWF 30500]27619
84-893-001175 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 17.5D AS:ALCON SN6OWE 30500]27619
84-893-001180 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 18.0D AS:ALCON SN6OWF 30500]27619
84-893-001185 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 18.5D AS:ALCON SN6OWE 30500]27619
84-893-001190 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 19.0D AS:ALCON SN6OWF 30500]27619
84-893-001195 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 19.5D AS:ALCON SN6OWE 30500]27619
84-893-001200 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 20.0D AS:ALCON SN6OWF 30500]27619
84-893-001205 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 20.5D AS:ALCON SN6OWE 30500]27619
84-893-001210 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 21.0D AS:ALCON SN6OWF 30500]27619
84-893-001215 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 21.5D AS:ALCON SN6OWE 30500]27619
84-893-001220 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 22.0D AS:ALCON SN6OWF 30500]27619
84-893-001225 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 22.5D AS:ALCON SN6OWE 30500{27619
84-893-001230 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 23.0D AS:ALCON SN6OWF 30500]27619
84-893-001235 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 23.5D AS:ALCON SN6OWE 30500{27619
84-893-001240 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 24.0D AS:ALCON SN6OWF 30500]27619
84-893-001245 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 24.5D AS:ALCON SN6OWE 30500]27619
84-893-001250 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 25.0D AS:ALCON SN6OWF 30500]27619
84-893-001255 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 25.5D AS:ALCON SN6OWE 30500]27619
84-893-001260 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 26.0D AS:ALCON SN6OWF 30500]27619
84-893-001265 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 26.5D AS:ALCON SN6OWE 30500]27619
84-893-001270 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 27.0D AS:ALCON SN6OWF 30500]27619
84-893-001275 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 27.5D AS:ALCON SN6OWE 30500]27619
84-893-001280 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 28.0D AS:ALCON SN6OWF 30500]27619
84-893-001285 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 28.5D AS:ALCON SN6OWE 30500{27619
84-893-001290 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 29.0D AS:ALCON SN6OWF 30500]27619
84-893-001295 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 29.5D AS:ALCON SN6OWE 30500{27619
84-893-001300 ACRYSOF IQ SINGLE-PIECE INTRAOCULAR LENS 30.0D AS:ALCON SN6OWF 30500]27619
84-893-003130 ACRYSOF IQ RESTOR INTRAOCULAR LENSES 13.0D AS:ALCON SN6AD1 60000]57119
84-893-003140 ACRYSOF IQ RESTOR INTRAOCULAR LENSES 14.0D AS:ALCON SN6AD1 60000|57119
84-893-003145 ACRYSOF IQ RESTOR INTRAOCULAR LENSES 14.5D AS:ALCON SN6AD1 60000]57119
84-893-003185 ACRYSOF IQ RESTOR INTRAOCULAR LENSES 18.5D AS:ALCON SN6AD1 60000|57119
84-893-003190 ACRYSOF IQ RESTOR INTRAOCULAR LENSES 19.0D AS:ALCON SN6AD1 60000]57119
84-893-003240 ACRYSOF IQ RESTOR INTRAOCULAR LENSES 24.0D AS:ALCON SN6AD1 60000|57119
84-893-062060 ACRYSOF INTRAOCULAR LENSES 6.0 AS:ALCON SAGOAT 3750
84-893-062070 ACRYSOF INTRAOCULAR LENSES 7.0 AS:ALCON SA60AT 3750
84-893-062080 ACRYSOF INTRAOCULAR LENSES 8.0 AS:ALCON SAGOAT 3750
84-893-062090 ACRYSOF INTRAOCULAR LENSES 9.0 AS:ALCON SA60AT 3750
84-893-062100 ACRYSOF INTRAOCULAR LENSES 10.0 AS:ALCON SAGOAT 3750

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 13




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-893-062105 ACRYSOF INTRAOCULAR LENSES 10.5 AS:ALCON SAG0AT 3750,
84-893-062110 ACRYSOF INTRAOCULAR LENSES 11.0 AS:ALCON SA60AT 3750
84-893-062115 ACRYSOF INTRAOCULAR LENSES 11.5 AS:ALCON SAGOAT 3750,
84-893-062120 ACRYSOF INTRAOCULAR LENSES 12.0 AS:ALCON SA60AT 3750
84-893-062125 ACRYSOF INTRAOCULAR LENSES 12.5 AS:ALCON SAGOAT 3750,
84-893-062130 ACRYSOF INTRAOCULAR LENSES 13.0 AS:ALCON SA60AT 3750
84-893-062135 ACRYSOF INTRAOCULAR LENSES 13.5 AS:ALCON SAGOAT 3750,
84-893-062140 ACRYSOF INTRAOCULAR LENSES 14.0 AS:ALCON SA60AT 3750
84-893-062145 ACRYSOF INTRAOCULAR LENSES 14.5 AS:ALCON SAGOAT 3750,
84-893-062150 ACRYSOF INTRAOCULAR LENSES 15.0 AS:ALCON SA60AT 3750
84-893-062155 ACRYSOF INTRAOCULAR LENSES 15.5 AS:ALCON SAGOAT 3750,
84-893-062160 ACRYSOF INTRAOCULAR LENSES 16.0 AS:ALCON SA60AT 3750
84-893-062165 ACRYSOF INTRAOCULAR LENSES 16.5 AS:ALCON SAG0AT 3750,
84-893-062170 ACRYSOF INTRAOCULAR LENSES 17.0 AS:ALCON SA60AT 3750
84-893-062175 ACRYSOF INTRAOCULAR LENSES 17.5 AS:ALCON SAG0AT 3750,
84-893-062180 ACRYSOF INTRAOCULAR LENSES 18.0 AS:ALCON SA60AT 3750
84-893-062185 ACRYSOF INTRAOCULAR LENSES 18.5 AS:ALCON SAG0AT 3750,
84-893-062190 ACRYSOF INTRAOCULAR LENSES 19.0 AS:ALCON SA60AT 3750
84-893-062195 ACRYSOF INTRAOCULAR LENSES 19.5 AS:ALCON SAGOAT 3750,
84-893-062200 ACRYSOF INTRAOCULAR LENSES 20.0 AS:ALCON SA60AT 3750
84-893-062205 ACRYSOF INTRAOCULAR LENSES 20.5 AS:ALCON SAG0AT 3750,
84-893-062210 ACRYSOF INTRAOCULAR LENSES 21.0 AS:ALCON SA60AT 3750
84-893-062215 ACRYSOF INTRAOCULAR LENSES 21.5 AS:ALCON SAGQAT 3750,
84-893-062220 ACRYSOF INTRAOCULAR LENSES 22.0 AS:ALCON SA60AT 3750
84-893-062225 ACRYSOF INTRAOCULAR LENSES 22.5 AS:ALCON SAG0AT 3750,
84-893-062230 ACRYSOF INTRAOCULAR LENSES 23.0 AS:ALCON SA60AT 3750
84-893-062235 ACRYSOF INTRAOCULAR LENSES 23.5 AS:ALCON SAGOAT 3750,
84-893-062240 ACRYSOF INTRAOCULAR LENSES 24.0 AS:ALCON SAG60AT 3750
84-893-062245 ACRYSOF INTRAOCULAR LENSES 24.5 AS:ALCON SAG0AT 3750,
84-893-062250 ACRYSOF INTRAOCULAR LENSES 25.0 AS:ALCON SA60AT 3750
84-893-062255 ACRYSOF INTRAOCULAR LENSES 25.5 AS:ALCON SAGOAT 3750,
84-893-062260 ACRYSOF INTRAOCULAR LENSES 26.0 AS:ALCON SA60AT 3750
84-893-062265 ACRYSOF INTRAOCULAR LENSES 26.5 AS:ALCON SAG0AT 3750,
84-893-065210 TECNIS 1-PIECE ACRYLIC INTRAOCULAR LENS 21.0D AS:AMO ZCB00 30000[27119
84-893-065215 TECNIS 1-PIECE ACRYLIC INTRAOCULAR LENS 21.5D AS:AMO ZCB00 30000[27119
84-893-065225 TECNIS 1-PIECE ACRYLIC INTRAOCULAR LENS 22.5D AS:AMO ZCB00 30000[27119
84-893-109010 ASPHERIC INJECTABLE ACRYLIC LENS 1.0D AS:RAYNER 920H 28000[25119
84-893-109035 ASPHERIC INJECTABLE ACRYLIC LENS 3.5D AS:RAYNER 920H 28000[25119
84-893-109105 ASPHERIC INJECTABLE ACRYLIC LENS 10.5D AS:RAYNER 920H 28000[25119
84-893-109115 ASPHERIC INJECTABLE ACRYLIC LENS 11.5D AS:RAYNER 920H 28000[25119
84-893-109120 ASPHERIC INJECTABLE ACRYLIC LENS 12.0D AS:RAYNER 920H 28000[25119
84-893-109125 ASPHERIC INJECTABLE ACRYLIC LENS 12.5D AS:RAYNER 920H 28000[25119
84-893-109130 ASPHERIC INJECTABLE ACRYLIC LENS 13.0D AS:RAYNER 920H 28000[25119
84-893-109135 ASPHERIC INJECTABLE ACRYLIC LENS 13.5D AS:RAYNER 920H 28000[25119
84-893-109150 ASPHERIC INJECTABLE ACRYLIC LENS 15.0D AS:RAYNER 920H 28000[25119
84-893-109160 ASPHERIC INJECTABLE ACRYLIC LENS 16.0D AS:RAYNER 920H 28000[25119
84-893-109170 ASPHERIC INJECTABLE ACRYLIC LENS 17.0D AS:RAYNER 920H 28000[25119
84-893-109175 ASPHERIC INJECTABLE ACRYLIC LENS 17.5D AS:RAYNER 920H 28000[25119
84-893-110180 ASPHERIC INJECTABLE ACRYLIC LENS 18.0D AS:RAYNER 970C 28000[25119
84-893-110185 ASPHERIC INJECTABLE ACRYLIC LENS 18.5D AS:RAYNER 970C 28000[25119
84-893-110190 ASPHERIC INJECTABLE ACRYLIC LENS 19.0D AS:RAYNER 970C 28000[25119
84-893-110195 ASPHERIC INJECTABLE ACRYLIC LENS 19.5D AS:RAYNER 970C 28000[25119
84-893-110200 ASPHERIC INJECTABLE ACRYLIC LENS 20.0D AS:RAYNER 970C 28000[25119
84-893-110205 ASPHERIC INJECTABLE ACRYLIC LENS 20.5D AS:RAYNER 970C 28000[25119
84-893-110210 ASPHERIC INJECTABLE ACRYLIC LENS 21.0D AS:RAYNER 970C 28000[25119
84-893-110215 ASPHERIC INJECTABLE ACRYLIC LENS 21.5D AS:RAYNER 970C 28000[25119
84-893-110220 ASPHERIC INJECTABLE ACRYLIC LENS 22.0D AS:RAYNER 970C 28000[25119
84-893-110240 ASPHERIC INJECTABLE ACRYLIC LENS 24.0D AS:RAYNER 970C 28000[25119
84-893-110270 ASPHERIC INJECTABLE ACRYLIC LENS 27.0D AS:RAYNER 970C 28000[25119
84-893-110280 ASPHERIC INJECTABLE ACRYLIC LENS 28.0D AS:RAYNER 970C 28000[25119
84-893-114205 T-FLEX ASPHERIC HYDROPHILIC LENS 20.5D CYLINDER 3D AS:RAYNER 623T 44780[41899
84-893-122020 INJECTABLE IOL 2.0D AS:RAYNER 620H 3450
84-893-122030 INJECTABLE IOL 3.0D AS:RAYNER 620H 3450
84-893-122N10 INJECTABLE IOL -1.0D AS:RAYNER 620H 3450
84-893-122N30 INJECTABLE IOL -3.0D AS:RAYNER 620H 3450
84-893-122N50 INJECTABLE IOL -5.0D AS:RAYNER 620H 3450
84-893-122N70 INJECTABLE IOL -7.0D AS:RAYNER 620H 3450
84-893-138050 MATRIX ACRYLIC INTRAOCULAR LENS 5.0D AS:MEDENNIUM 404 40381{37500
LENTIS HYDROSMART POSTERIOR CHAMBER LENS & MULTIFOCAL +8.0D
84-893-142080 AS:OCULENTIS MF15 66881]64000
84-894-010042 PLAIN VENT TUBE 508

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 14




VARE/RUS L ABERMEIAZRHBERBERUKRRE-HH &R

CARPENTIER IMR ETLOGIX ANNULOPLASTY RING 26MM AS:EDWARDS 4100-

84-896-130426 26 25000
CARPENTIER IMR ETLOGIX ANNULOPLASTY RING 28MM _AS:EDWARDS 4100-

84-896-130428 28 25000
CARPENTIER IMR ETLOGIX ANNULOPLASTY RING 30MM AS:EDWARDS 4100-

84-896-130430 30 25000
CARPENTIER IMR ETLOGIX ANNULOPLASTY RING 32MM AS:EDWARDS 4100-

84-896-130432 32 25000
CARPENTIER IMR ETLOGIX ANNULOPLASTY RING 34MM AS:EDWARDS 4100-

84-896-130434 34 25000
MASTERS SERIES MECHANICAL HEARD MITRAL VALVE 25MM AS:STJUDE

84-897-25M101 25MJ-501 46000
MASTERS SERIES MECHANICAL HEARD MITRAL VALVE 27MM AS:STJUDE

84-897-27M101 27MJ-501 46000
MASTERS SERIES MECHANICAL HEARD MITRAL VALVE 29MM AS:STJUDE

84-897-29M101 29MJ-501 46000
MASTERS SERIES MECHANICAL HEARD MITRAL VALVE 31IMM AS:STJUDE

84-897-31M101 31MJ-501 46000
MASTERS SERIES MECHANICAL HEARD MITRAL VALVE 33MM AS:STJUDE

84-897-33M101 33MJ-501 46000

84-899-006040 STRETCH VASCULAR GRAFT 6MMX40CM GORE TEX 17000
T LSl BARD CARDIOVASCULAR PATCH-CARDIOVASCULAR

84-899-007830 FABRICS(10.2%10.2CM) 3000
GELSFEAL GELATIN SEALED POLYESTER VASCULAR PROSTHESES

84-899-240888 24AMMX40X4@15CM 60000
GELSFEAL GELATIN SEALED POLYESTER VASCULAR PROSTHESES 26MM X

84-899-260888 40CM 4@ 15CM 60000
GFELSFEAL GELATIN SEALED POLYESTER VASCULAR PROSTHESES 28MM X

84-899-280888 40CM 4@ 15CM 60000
GELSFEAL GELATIN SEALED POLYESTER VASCULAR PROSTHESES 30MM X

84-899-300888 40CM 4@ 15CM 60000
GELSFEAL GELATIN SEALED POLYESTER VASCULAR PROSTHESES 30MM X

84-899-432030 20CM 13800
GELSFEAL GELATIN SEALED POLYESTER VASCULAR PROSTHESES 32MM X

84-899-432032 20CM 13800
GELSFEAL GELATIN SEALED POLYESTER VASCULAR PROSTHESES 26MM X

84-899-432526 25CM 13800

84-899-432528 GELSEAL GELATIN SEALED POLYESTER VASCULAR PROSTHESES 28MMX25CM 13800
GELSOFT PLUS GELATIN SEALED POLYESTER VASCULAR PROSTHESES 20MM

84-899-632520 X 25CM 12900
GELSOFT PLUS GELATIN SEALED POLYESTER VASCULAR PROSTHESES 22MM

84-899-632522 X 25CM 12900
GELSOFT PLUS GELATIN SEALED POLYESTER VASCULAR PROSTHESES 24MM

84-899-632524 X 25CM 12900
GELSOFT PLUS GELATIN SEALED POLYESTER VASCULAR PROSTHESES 6MM X

84-899-633006 30CM AS:TERUMO 6 11600
GELSOFT PLUS GELATIN SEALED POLYESTER VASCULAR PROSTHESES SMM X

84-899-633008 30CM 11600
GELSOFT PLUS GELATIN SEALED POLYESTER VASCULAR PROSTHESES 10MM

84-899-633010 X 30CM 11600

84-899-850502 VIABAHN VASCULAR STENT SMM X 5CM AS:GORE VBC050502 90500

84-899-851002 VIABAHN VASCULAR STENT 5MM X 10CM AS:GORE VBC051002 116000

84-899-851502 VIABAHN VASCULAR STENT 10MM X 15CM AS:GORE VBC101502 135000

84-899-860502 VIABAHN VASCULAR STENT 6MM X 5CM AS:GORE VBC060502 90500

84-899-861002 VIABAHN VASCULAR STENT 6MM X 10CM AS:GORE VBC061002 116000

84-899-861502 VIABAHN VASCULAR STENT 6MM X 15CM AS:GORE VBC061502 135000

84-899-870502 VIABAHN VASCULAR STENT 7MM X 5CM AS:GORE VBC070502 90500

84-899-871002 VIABAHN VASCULAR STENT 7MM X 10CM AS:GORE VBC071002 116000

84-899-871502 VIABAHN VASCULAR STENT 7MM X 15CM AS:GORE VBC071502 135000

84-899-880502 VIABAHN VASCULAR STENT 8MM X 5CM AS:GORE VBC080502 90500

84-899-831002 VIABAHN VASCULAR STENT 8MM X 10CM AS:GORE VBC081002 116000
INTERING VASCULAR ACCESS GRAFT STRETCH FLEX 6MMX40CM AS:GORE-

84-899-RST640 TEX IRST06040040L 24000

84-89A-014026 PULSION PICCO CATHETER KIT INCLUDING: MODEL PV8015 MODEL PV2014L08 8770

84-906-016320 K-PIN 2.0X310MM AS:AESCULAP LX40S 120

84-906-262003 STEINMANN PIN WITH THREAD 2.8X230MM 2620-03 480

84-906-262021 STEINMANN PIN WITH THREAD 3.2X230MM 2620-21 480

84-906-262027 STEINMANN PIN WITH THREAD 2.4X230MM 2620-27 480

84-906-262031 STEINMANN PIN WITH THREAD 2.0X230MM 2620-31 480

84-906-810101 KNOWLE'S PIN 1430

84-906-810102 KNOWLES PIN 5/32 2 3/4 USZ 281-01-09 1250

84-906-810103 KNOWLE'S PIN 5/32 3 USZ 281-01-09 1250

84-906-810104 KNOWLE'S PIN 5/32 3-1/4 USZ 281-01-09 1350

84-906-810105 KNOWLE'S PIN 5/32 3-1/2 USZ 281-01-09 1250

84-906-810106 KNOWLE'S PIN 5/32 3-3/4 USZ 281-01-09 1313

84-906-810107 KNOWLE'S PIN 5/32 4 USZ281-01-09 1313

84-906-810108 KNOWLES PIN 5/32 -4-1/4 1313

84-906-810109 KNOWLE'S PIN 5/32 4 1/2 USZ 281-01-09 1350

84-906-810110 KNOWLES PIN 5/32 4 3/4 USZ 281-01-09 1282

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 15




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-906-810111 KNOWLES PIN 5/32 5 USZ 281-01-11 1350
84-906-810112 KNOWLE'S PIN 5/32 5 1/4 USZ281-01-12 1282
84-907-100005 FORAMIC BONE GRAFT SUBSTITUTE 5CC/PC AS:MBI FM-05 5275
STIMULAN CALCIUM SULPHATE BONE GRAFT 3.0MM 5CC AS:BIOCOMPOSITES
84-907-200105 600-30-005 5741
84-907-310005 COLLAGEN BONE GRAFT MATRIX GRANULES 5CC AS:NUVASIVE 5010005 51000 ¥
GRAFTON DEMINERALIZED BONE MATRIX (DBM) ALLOGRAFT PRODUCTS
84-907-443103 PUTTY 2.5CC AS:0STEOT 47000 ¥
84-907-AT0103 A-GRIX TE RESORBABLE BONE VOID FILLER 3CC AS:FORMOSA ATM0103 40500 ¥t
84-907-AT0105 A-GRIX TE RESORBABLE BONE VOID FILLER 5CC AS:FORMOSA ATMO0105 54000 ¥
84-908-016310 K-PIN 1.0X310MM AS:AESCULAP LX30S 140
84-908-016324 K-PIN 2.5X310MM AS:AESCULAP LX45S 120
84-908-016330 K-PIN 3.0X310MM AS:AESCULAP LX47S 120
84-909-005064 C-WIRE 0.062X5 140
84-909-134601 C-WIRE 0.035X5 140
84-909-134603 C-WIRE 0.045X5 140
84-909-134626 C-WIRE 0.028X5 140
84-909-331022 HALF PIN 3-80X20MM SF-3012 790
84-913-031896 OSTEOPAL V BONE CEMENT AS:HERAEUS 66031896 24000 Y%
ANTIBIOTIC SIMPLEX BONE CEMENT RADIOPAQUE WITH TOBRAMYCIN 41G
84-913-100041 AS:HOWMEDICA 6197- 21000 ¥t
84-913-2A2520 VANCOGENX 40G WITH VANCOMYCIN+GENTAMICIN AS:TECRES 12A2520 22000 e
84-913-CM0300  |COHESION BONE CEMENT 20ML AS:TEKNIMED CM0300 24000 ¥t
84-915-000070 RESN 0
84-916-000100 TEFLON TRACHEOSTOMY DOUBLE TUBE 10MMOD 734
84-916-000110 TEFLON TRACHEOSTOMY DOUBLE TUBE 11MMOD 980
84-916-100701 PROFILE CUFFED TRACHEOSTOMY 7MM 393
84-916-100801 TRACHEOSTOMY TUBE 8.0MM ID 393
84-916-307004 F.LP.C TRACHEOSTOMY TUBE #6 30FR 7M/M 1225
84-916-307006 SIS 158 8MM ON CUFF 1182
84-916-368506 IS L] 28MM 1182
84-916-399004 F.L.P.C TRACHEOSTOMY TUBE #10 39FR 9M/M 1060
84-916-670170 BIVONA TRACHEOSTOMY TUBE 7.0MM AS:SMITHS 670170 4515
84-916-670180 BIVONA TRACHEOSTOMY TUBE 8.0MM AS:SMITHS 670180 4515
84-917-016006 TRACHEOSTOMY MASK WITH 02 TUBING CONNECT FOR ADULT 95
84-919-080000 TRACHEOSTOMY TUBE 8.5 MM 1225
SKINPLUS S LASER LIGHT GUIDE WITH BARE FIBER & RINSING TUBE
84-920-106100 AS:DORNIER D-6100-B 31000 ¥
ATOVEN DIODE LASER FIBER OPTIC CATILG00UM 3M RADIAL FIBER
84-920-LF1476 AS:DIOTECH DLF147-6 41000 ¥
ATOVEN DIODE LASER FIBER OPTIC CATHL 600UM 3M BARE FIBER
84-920-LF1477 AS:DIOTECH DLF147-7 41000 ¥
84-921-000006 SRS 76 %
84-921-000007 SIPINAL SET [l 0
84-921-013100 REMOVE STITCHES SCISSORS TRAY (STERILIZ) 20
84-921-015000 C.V.P. PACKAGE 145
84-923-000003 SR 0
84-923-000004 DISPOSABLE STERILE CATHETERIZATION KIT 55
84-924-002100 EXTRACORPOREAL TUBING CONNECTOR X X AS:GISH EC-2100 180
84-924-002105 EXTRACORPOREAL TUBING CONNECTOR X X AS:GISH EC-2105 180
84-924-002115 EXTRACORPOREAL TUBING CONNECTOR X X AS:GISH EC-2115 180
84-924-002116 EXTRACORPOREAL TUBING CONNECTOR X X AS:GISH EC-2116 180
84-924-002120 EXTRACORPOREAL TUBING CONNECTOR X X AS:GISH EC-2120 180
84-924-002125 EXTRACORPOREAL TUBING CONNECTOR X AS:GISH EC-2125 180
84-924-002130 EXTRACORPOREAL TUBING CONNECTOR X AS:GISH EC-2130 180
84-924-002135 EXTRACORPOREAL TUBING CONNECTOR X AS:GISH EC-2135 180
84-924-002140 EXTRACORPOREAL TUBING CONNECTOR X AS:GISH EC-2140 180
CAMINO POST CRANIOTOMY SUBDURAL PRESSURE MONITORING KIT
84-926-800010 AS:INTEGRA 110-4G 24000
CAMINO INTRACRANIAL PRESSURE-TEMPERATURE MONITORING KIT
84-926-800020 AS:INTEGRA 110-4BT 24000 %
84-926-826632 NEURO MONITOR SKULL BOLT KIT 82-6632 20340 ¥
84-927-000001 ACTIVE FIXATION ENDOCARDIAL ICD LEAD AS:MEDTRONIC SPRINT 6947M 109003
84-927-000005 SPRINT QUATTRO SECURE IMPLANTABLE LEAD AS:MEDTRONIC 6935M 85000
PROTECTA XT DR IMPLANTABLE CARDIOVERTERDEFIBRILLATOR
84-927-000164 AS:MEDTRONIC D354DRG 564190
PROTECTA XT VR IMPLANTABLE
84-927-000165 CARDIOVERTERDEFIBRILLATORAS:MEDTRONIC D354VRG 366810
PROTECTA XT DR IMPLANTABLE CARDIOVERTER DEFIBRILLATOR
84-927-000166 AS:MEDTRONIC D354DRM 507000
PROTECTA XT VR IMPLANTABLE CARDIOVERTER DEFIBRILLATOR
84-927-000167 AS:MEDTRONIC D354VRM 362000
PROTECTA XT CRT-D IMPLANTABLECARDIOVERTER DEFIBRILLATOR(CRI-D)
84-927-007279 AS:MEDTRONIC D354 665470
PROTECTA XT CRT-D IMPLANTABLE CARDIOVERTER DEFIBRILLATOR
84-927-007280 AS:MEDTRONIC D354TRM 664000

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 16




VARE/EG A ATERMEIASZRHEBERBERUKRAE-HH &R

FORTIFY IMPLANTABLE CARDIOVERTER DEFIBRILATOR AS:SIM FORTIFY VR

84-927-012311 CD1231-40 403495
FORTIFY IMPLANTABLE CARDIOVERTER DEFIBRILATOR AS:SIM FORTIFY VR
84-027-012312 CD1231-40Q 403495
FORTIFY IMPLANTABLE CARDIOVERTER DEFIBRILATOR AS:SIM FORTIFY DR
84-027-022311 CD2231-40 534180
FORTIFY IMPLANTABLE CARDIOVERTER DEFIBRILATOR AS:SIM FORTIFY DR
84-027-022312 CD2231-40Q 534180
UNIFY IMPLANTABLE CARDIOVERTER DEFIBRILATOR AS:SIM UNIFY CD3235-
84-927-323540 40 679585 *
UNIFY IMPLANTABLE CARDIOVERTER DEFIBRILATOR AS:SIM UNIFY CD3235-
84-927-CD3235 40Q 679585 *
84-935-040300 PEAK FLOW METER 580 ¥t
84-935-060081 AEROCHAMBER PLUS WITH FLOW-VU AS:TRUDELL 10152091120 1270 ¥t
84-935-060085 AEROCHAMBER WITH MOUTHPIECE FOR PED 630 ¥t
84-935-060091 AEROCHAMBER WITH MASK FOR ADULT 1240 pig
84-938-000000 BABY JOY PACIFIER 100PC/BX 40 ¥
84-040-003001 DISPOSABLE DIAPER FOR BABY 224PC/BX 6 ¥
84-940-005001 DISPOSABLE DIAPER SS 6 ¥t
84-054-230020 DISPOSABLE FEEDER CUP 30 ¥
84-959-011000 "IRRIGATION BAG,PLASTIC" 120
84-960-011020 TRIMMER BELT LARGE 35 -45 142 ¥
84-966-111001 SURGILUBE JELLY 82G 107
84-066-111012 PATIENT LUBRICANT 3ML/PC AS:HANBIO 280 ¥
ESTEEM SYNERGY STOMAHESIVE WITH WHITE FLEXIBLE COLLAR 61MM
84-967-091933 AS:CONVATEC 405458 270
84-970-174910 MULTIFUNCTION ADULT DEFIB ELECTRODES M3501A 795
RADIO FREQUENCY PAIN MANAGEMENT RF CANNULA 22G X 100MM
84-970-221005 AS:BAYLIS PMC22-100-5 3500
84-971-000010 PERCUTANEOUS ENDOSCOPIC GASTROSTOMY (PEG-PULL) 5905
84-971-010003 ESOPHAGEAL STENT 17MM-23MM X 10CM-7CM AS:MICROVASIVE 1373 62875
84-971-010006 ESOPHAGEAL STENT 17MM-23MM X 15CM-12CM AS:MICROVASIVE 1386 62875
WALLSTENT ENTERAL ENDOPROSTHESIS WITH UNISTEP PLUS DELIVERY
84-971-010022 SYSTEM 2.5 X 9CM AS: 66190 ¥
WALLSTENT ENTERAL ENDOPROSTHESIS WITH UNISTEP PLUS DELIVERY
84-971-010023 SYSTEM 2.5 X 6CM AS: 66190 ¥
WALLSTENT ENTERAL ENDOPROSTHESIS WITH UNISTEP PLUS DELIVERY
84-971-010025 SYSTEM 2.5 X 12CM AS 66190 ¥
WALLSTENT BILIARY ENDOPROSTHESIS OD:1CM L:6CM AS:MICROVASIVE
84-971-010064 MO00570640 58500 ¥
84-971-020020 EVL-MULTIPLE BAND LIGATOR-7 BAND AS:MICROVASIVE 4225 5000
84-971-035025 LEVEEN NEEDLE ELECTRODE 0.D:3.5L:25CM M001262150/LE3525 25390 *
84-971-040800 BIOENTERICS INTRAGASTRIC BALLOON BIB SYSTEM AS:INAMED B-40800 69000 A
84-971-172015 STAR RF FIXED ELECTRODE 17G 20MM 15CM AS:STARMED 17-15820F 32000 *
84-971-172030 VIVA RF ELECTRODE 5-30MM 17G 20CM AS:STARMED 17-20V05-30 24130 *
84-971-172040 VIVA RF ELECTRODE 15-40MM 17G 20CM AS:STARMED 17-20V15-40 23565 *
84-971-173015 STAR RF FIXED ELECTRODE 17G 30MM 15CM AS:STARMED 17-15830F 32000 *
EXTRACTOR PRO RETRIEVAL BALLOON CATHETER3.2MM 0.035 BALLOON OD
84-971-547100 9-12MM ABOVE 9700
84-972-000004 LAMINARIN 254
84-972-400060 SOFT VACUUM CUPS SINGLE USE SILC CUP ID:60MM AS:MEDELA 2100 %
84-072-ME001B  |MEDELA LACTASET BRESTPUMP(M113) 1145 ¢
DURATA LEAD 7120Q ACTIVE-FIXATION DEFIBRILLATION LEADS TIP-TO-
84-974-001590 PROXIMAL COIL 17CM 94995
DURATA LEAD 7121Q ACTIVE-FIXATION DEFIBRILLATION LEADS TIP-TO-
84-974-001591 PROXIMAL COIL 21CM 94995
DURATA LEAD 7122Q ACTIVE-FIXATION DEFIBRILLATION SINGLE COIL ICD
84-974-001592 LEADS AS:SIM 71 94995
DURATA LEAD 7170Q PASSIVE-FIXATION DEFIBRILLATION LEADS TIP-TO-
84-974-001600 PROXIMAL COIL 17C 94995
DURATA LEAD 7171Q PASSIVE-FIXATION DEFIBRILATION LEADS TIP-TO-
84-974-001601 PROXIMAL COIL 21CM 94995
84-976-020000 DLP LEFT HEART VENT CATHETER 20FR(6.7MM)AS: MEDTRONIC 12002 1050
84-977-038681 ENTROPY SENSOR FOR ANESTHESIA MONITOR AS:GE M1038681 1365
84-978-530800 UITRATOME SPHINCTEROTOME 20MM X 0.035 AS:MICROVASIVE 3080 4980
84-078-532820 AUTOTOME SPHINCTEROTOME 20MM X 0025 AS:BOSTON SCIENTIFIC 4519 4980
84-980-108930 TRAPEZOID RX WIREGUIDED RETRIEVAL BASKET 3.0CM AS:BOSTON 1089 15000
84-080-952535 WOLF STONE BASKET 3.5FR 8952.535 7600
84-984-00080S WOUND RETRACTOR 80MM AS:LAGIS WR-80S 2200 %
84-984-0060ES WOUND RETRACTOR 60MM AS:LAGIS WR-60ES 1900 ¥
84-984-008002 GELPORT SYSTEM WITH ALEXIS O RETRACTOR 120MM AS:APPLIED C8XX2 28500 A
84-084-008301 ALEXIS WOUND RETRACTORS FOR 2.5-6CM INCISIONS S AS:APPLIED C8301 3200 ¥
84-984-008302 ALEXIS WOUND RETRACTORS FOR 5-9CM INCISIONS M AS:APPLIED C8302 4200 A
84-084-008312 ALEXIS WOUND RETRACTORS FOR 2-4CM INCISIONS XS AS:APPLIED C8312 2800 ¥
84-986-021086S  [PVCE#REE(AIAIELLY) 21X86CM 96
84-989-046037 CONCENTRIC NEEDLE ELECTRODE 0.46X37MM 170 ¥
84-991-000004 HISTOACRYL BLAU 0.59/AP. 2200 %
84-091-000012 HEALON 0.4ML 2600

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 17




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-991-000021 VISCOAT 0.5ML 2250
84-991-000030 EPIGLU TISSUE ADHESIVE ik g AhIE 1532 PAY
84-991-104130 PUNCHER KNIFE FOR NITRECTOMY SERGURY USE 19G 300!
84-991-740837 S 35 ROUND 8065740837 127
84-991-750159 KIT SMALL PARTS LEGACY MT MS AS:ALCON 8065750159 120
84-991-750541 PR AT b e 2751
84-991-751054 T A- 257 ALCON 8065751054 2440
84-991-751136 T P I ALAS: ALCONS065751136 760
84-991-CHBOL0 __|HHgemIkB P IRER(L 3 HED 70 DAY
84-992-120300 AEROVENT 445
84-992-120301 AEROCHAMBER FOR VENTILATOR 735
84-996-021011 (02 LASER NASAL FIBER PROBE SHARPLAN 146 2574
THULIUM SURGICAL LASER FIBER 200W 600UM CORE 3M LONG AS:QUANTA
84-996-206001 OAFO06001 114000 A
84-996-370301 HEPANES RS SOMM 114000 Yo
84-996-400402 MERACEL NASAL TAMPONS 400402 280
84-996-503213 REVOLIX 70 LASER FIBER (RIGIFIB SU) AS:LISA 101-503-289 114000 Yo
84-996-996070 OPMI DRAPE 70 1400
84-997-510212 b 87 ED LA TEHE 45 ¥
84-998-000030 AN 0
84-998-000040 BEAR 1000 IFFil; #4515 194
84-998-100010 NASAL CPAP SYSTEM AS:HUDSON PN:1683-SIZE:0 1255
84-998-110010 INFANT NASAL CPAP SYSTEM NO.1 1255
84-998-120010 INFANT NASAL CPAP SYSTEM NO.2 1255
84-998-130010 INFANT NASAL CPAP SYSTEM NO.3 1255
84-999-000003 Pl U UEE#3 600
84-999-000004 Pl QTS 310
84-999-000500 PEDIATRIC ELECTRIC PAD 425-2508 CONMED 110
84-999-001000 VACCUM BALL 100CC 315
84-999-001902 HAND NEBULIZER (ACON) 63
84-999-004002 AIR WAY 90MM NO.4 10
84-999-004003 AIR WAY 80MM NO.3 10
84-999-004004 AIR WAY 60MM NO.2 8
84-999-004005 AIR WAY 43MM NO.1 8
84-999-004012 NASAL AIR WAY 28FR 90
84-999-004014 NASAL AIR WAY 7.5MM 30ER 90
84-999-006001 WASHER FOR OBS PATIENT 30 Yo
84-999-007507 POLY HESIVE 2 E7507 5PC/BX. 210
84-999-011001 "URINE LDPE BAG, 83X800X0.03MM 1KG/BAG" 120
84-999-011003 SCOPE PVC BAG 0.15MMTX10CMX220CM 80
84-999-012001 SURGEON'S BRUSH 70
84-999-013001 PLASTIC RAZOR (TWO SIDE) 10
84-999-014000 ELECTRIC PAD 125
84-999-014001 "DISPOSABLE ELECTRODE, ADULT" 5
84-999-014002 BABY DISPOSABLE ELECTRODE 40
84-999-014010 PEDIATRIC EKG ELECTRODE (NE-50-K) 20 Yo
84-999-014070 T RRTE MR T N-S0K 137
84-999-016001 SODA-LINE 10LB/TK 520
84-999-017004 SURGICAL BLADE #20 STAINLESS 5
84-999-018003 TONGUE DEPRESSOR 10PC/BX 5
84-999-024042 CURTTING LOOP NO.24 27040G 1000
84-999-024043 CURTTING LOOP NO.24 27040L 1000
84-999-024044 CURTTING LOOP NO.24 27040N 2085
84-999-025003 BONE CEMENT40GM 1050
84-999-036006 SUCTION BOTTLE SET 178
84-999-041003 YU HEUR 22
84-999-042001 ADULT IDENTIFICATION BAND 250PC/BX 10
84-999-042002 BABY IDENTIFICATION BAND 250PC/BX 5
84-999-050300 BREATHING TUBE-ADULT 133
84-999-051006 INTERMITTED INJECTION CAP(LOCK) 2.2CML 5
84-999-067000 MICRO BEAVE KNIFE NO:67 145
84-999-080220 HUMID-VENT 34
84-999-113001 PROXIMATE ILS STR. INTRALUMINAL STAPLER 29MM AS:ETHICON SDH-29A 7300
84-999-113007 S Ul A £ AR5 ST 12100
84-999-113010 TELEFLEX MEDICAL VISISTAT REMOVABLE SKIN STAPLE(35 WIDE) 530
84-999-113017 VERSAPORT PLUS V2 W/FIXATION CANNULA SMM 1675
84-999-113019 VERSAPORT PLUS V2 W/FIXATION CANNULA 11MM 1675
84-999-113020 VERSAPORT PLUS V2 W/FIXATION CANNULA 12MM 1675
84-999-113024 ENDOSCOPIC NEEDLES 150MML AS:COVIDIEN 172016 340
84-999-113032 ENDOSCOPIC SHEARS AS:COVIDIEN 176643 210
84-999-114011 AUTO SUTURE DISPOSABLE GIA 2 AS:COVIDIEN 030424L 3350
84-999-115001 ARCH BAR MATERIAL PADGATT P-670 200!

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 18




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-999-131805 WECK DEEP BLADE 100!
84-999-136000 DERMATOME BADE 8800-000-10 1100
84-999-140242 BEVELED VENT TUBE ID1.14MM #520-003 405
84-999-192300 VISCOT SURGICAL SKIN MARKER 100
84-999-351112 IDENTI-LOOPS MAXI RED 2EA/PC #1001-76 126
84-999-351114 IDENTI-LOOPS MAXI BLUE 2EA/PC #1001-78 125.8
84-999-480020 DUOACTIVE 20CMX20CM 662
84-A02-00080S GAMMA3 LAG SCREW 10.5X80MM AS : STRYKER 3060-0080S 0
84-A02-00170S GAMMA3 TROCHANTERIC NAIL 10X170MMX130" AS : STRYKER 3130-0170S 20412
84-A02-020006 CORTEX SCREWS 1.5 X 6 MM 200.06 240
84-A02-020008 CORTEX SCREWS 1.5 X 8 MM 200.08 240
84-A02-020009 CORTEX SCREWS 1.5 X 9 MM 200.09 250
84-A02-020010 CORTEX SCREWS 1.5 X 10 MM 200.10 250
84-A02-020011 CORTEX SCREWS 1.5 X 11 MM 200.11 260
84-A02-020012 CORTEX SCREWS 1.5 X 12 MM 200.12 260
84-A02-020014 CORTEX SCREWS 1.5 X 14 MM 200.14 270
84-A02-020016 CORTEX SCREWS 1.5 X 16 MM 200.16 270
84-A02-020106 CORTEX SCREWS 2.0 X 6 MM 201.06 240
84-A02-020108 CORTEX SCREWS 2.0 X 8 MM 201.08 240
84-A02-020110 CORTEX SCREWS 2.0 X 10 MM 201.10 250
84-A02-020112 CORTEX SCREWS 2.0 X 12 MM 201.12 250
84-A02-020114 CORTEX SCREWS 2.0 X 14 MM 201.14 270
84-A02-020116 CORTEX SCREWS 2.0 X 16 MM 201.16 270
84-A02-020118 CORTEX SCREWS 2.0 X 18 MM 201.18 280
84-A02-020120 CORTEX SCREWS 2.0 X 20 MM 201.20 280
84-A02-020208 COHEX SCREW DIA 2.7/L.8MM 228
84-A02-020210 COHEX SCREW DIA 2.7/L.10MM 228
84-A02-020212 COHEX SCREW DIA 2.7/L.12MM 228
84-A02-020214 COHEX SCREW DIA 2.7/L.14MM 235
84-A02-020216 COHEX SCREW DIA 2.7/L.16MM 235
84-A02-020410 CORTEX SCREW DIA 3.5/L.10MM 225
84-A02-020412 CORTEX SCREW DIA 3.5/L.12MM 225
84-A02-020414 CORTEX SCREW DIA 3.5/L.14MM 225
84-A02-020416 CORTEX SCREW DIA 3.5/L.16MM 204-16 225
84-A02-020418 CORTEX SCREW DIA 3.5/L.18MM 204-18 230
84-A02-020420 CORTEX SCREW DIA 3.5/L.20MM 204-20 230
84-A02-020422 CORTEX SCREW DIA 3.5/L.22MM 204-22 240
84-A02-020424 CORTEX SCREW DIA 3.5/L.24MM 204-24 230
84-A02-020426 CORTEX SCREW DIA 3.5/L26MM 204-26 230
84-A02-020428 CORTEX SCREW DIA 3.5/L.28MM 204-28 230
84-A02-020432 CORTEX SCREW DIA 3.5/L.32MM 204-32 280
84-A02-020436 CORTEX SCREW DIA 3.5/L..36MM 204-36 260
84-A02-020440 CORTEX SCREW DIA 3.5/L.4A0MM 204-40 260
84-A02-020612 4.0-CANCELLOUS BONE SCREW DIA 206-12 235
84-A02-020614 CANCELLOUS SCREW DIA 3.5/L.14MM 206-14 235
84-A02-020616 CANCELLOUS SCREW DIA 3.5/L.16MM 206-16 235
84-A02-020618 CANCELLOUS SCREW DIA 3.5/L.18MM 206-18 265
84-A02-020620 CANCELLOUS SCREW DIA 3.5/L.20MM 206-20 265
84-A02-020622 CANCELLOUS SCREW DIA 3.5/L2.2MM 206-22 265
84-A02-020624 CANCELLOUS SCREW DIA 3.5/2.4MM 206-24 265
84-A02-020626 CANCELLOUS SCREW DIA 3.5/L2.6MM 206-26 265
84-A02-020628 CANCELLOUS SCREW DIA 3.5/L.2.8MM 206-28 265
84-A02-020630 4.0 CANCELLOUS SCREW 30MM FULLY THREAD AS:AO/SYNTHES 206.030 210
84-A02-020632 CANCELLOUS SCREW DIA 3.5/L.3.2MM 206-32 305
84-A02-020636 CANCELLOUS SCREW DIA 3.5/L3.6MM 206-36 305
84-A02-020640 CANCELLOUS SCREW DIA 3.5/L4.0MM 206-40 305
84-A02-020645 CANCELLOUS BONE SCREWS L:45MM 206.45 310
84-A02-020650 CANCELLOUS BONE SCREWS L:50MM 206.50 310
84-A02-020655 CANCELLOUS BONE SCREWS L:55MM 206.55 320
84-A02-020660 CANCELLOUS BONE SCREWS L:60MM 206.60 311
84-A02-020712 CANCELLOUS SCREWS 4.0 X 12 MM 207.12 260
84-A02-020714 CANCELLOUS SCREWS 4.0 X 14 MM 207.14 260
84-A02-020716 CANCELLOUS SCREWS 4.0 X 16 MM 207.16 260
84-A02-020718 CANCELLOUS SCREWS 4.0 X 18 MM 207.18 265
84-A02-020720 CANCELLOUS SCREWS 4.0 X 20 MM 207.20 265
84-A02-020722 CANCELLOUS SCREWS 4.0 X 22 MM 207.22 265
84-A02-020724 CANCELLOUS SCREWS 4.0 X 24 MM 207.24 265
84-A02-020726 CANCELLOUS SCREWS 4.0 X 26 MM 207.26 265
84-A02-020728 CANCELLOUS SCREWS 4.0 X 28 MM 207.28 265
84-A02-020730 CANCELLOUS SCREWS 4.0 X 30 MM 207.30 305
84-A02-020735 CANCELLOUS SCREWS 4.0 X 35 MM 207.35 305
84-A02-020740 CANCELLOUS SCREWS 4.0 X 40 MM 207.40 305

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 19




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-A02-020745 CANCELLOUS SCREW DIA 4.0/L.45MM 308
84-A02-020750 CANCELLOUS SCREW DIA 4.0/L.50MM 308
84-A02-020800 7.0 CANNUL SCREW 100/16MM AS:AQ/SYNTHES 208.100 2700,
84-A02-020805 7.0 CANNUL SCREW 105/16MM AS:A0/SYNTHES 208.105 2700
84-A02-020810 7.0 CANNUL SCREW 110/16MM AS:AQ/SYNTHES 208.110 2700,
84-A02-020815 7.0 CANNUL SCREW 115/16MM AS:AQ/SYNTHES 208.115 2700
84-A02-020820 2700,
84-A02-020825 2700
84-A02-020826 2700,
84-A02-020830 2700
84-A02-020835 2700,
84-A02-020840 2700
84-A02-020845 2700,
84-A02-020850 2700
84-A02-020855 2700,
84-A02-020860 2700
84-A02-020865 2700,
84-A02-020870 2700
84-A02-020875 2700,
84-A02-020880 2700
84-A02-020885 2700,
84-A02-020890 2700
84-A02-020895 2700,
84-A02-020900 2700
84-A02-020905 CANNULATED SCROW 209.05 2700,
84-A02-020910 CANNULATED SCROW 209.10 2700
84-A02-020915 CANNULATED SCROW 209.15 2700,
84-A02-020920 CANNULATED SCROW 209.20 2700
84-A02-020925 CANNULATED SCROW 209.25 2700,
84-A02-020945 CANNULATED SCREW 209.45 2700
84-A02-020950 CANNULATED SCREW 209.50 2700,
84-A02-020955 CANNULATED SCREW 209.55 2700
84-A02-020960 CANNULATED SCREW 209.60 2700,
84-A02-020965 CANNULATED SCREW 209.65 2700
84-A02-020970 CANNULATED SCREW 209.70 2700,
84-A02-020975 CANNULATED SCREW 209.75 2700
84-A02-020980 CANNULATED SCREW 209.80 2700,
84-A02-020985 CANNULATED SCREW 209.85 2700
84-A02-020990 CANNULATED SCREW 209.90 2700,
84-A02-020995 CANNULATED SCREW 209.95 2700
84-A02-021414 CORTEX SCREW DIA 4.5/L14MM 263
84-A02-021416 CORTEX SCREW DIA 4.5/L16MM 263
84-A02-021418 CORTEX SCREW DIA 4.5/L18MM 250
84-A02-021420 CORTEX SCREW DIA 4.5/L.20MM 250
84-A02-021422 CORTEX SCREW DIA 4.5/L.22MM 250
84-A02-021424 CORTEX SCREW DIA 4.5/L.24AMM 250
84-A02-021426 CORTEX SCREW DIA 4.5/L26MM 250
84-A02-021428 CORTEX SCREW DIA 4.5/L.28MM 250
84-A02-021430 CORTEX SCREW DIA 4.5/L30MM 250
84-A02-021432 CORTEX SCREW DIA 4.5/L32MM 250
84-A02-021434 CORTEX SCREW DIA 4.5/L34MM 250
84-A02-021436 CORTEX SCREW DIA 4.5/L36MM 260
84-A02-021438 CORTEX SCREW DIA 4.5/L38MM 260
84-A02-021440 CORTEX SCREW DIA 4.5/LAOMM 260
84-A02-021442 CORTEX SCREW DIA 4.5.42MM 260
84-A02-021444 CORTEX SCREW DIA 4.5/L.44MM 260
84-A02-021446 CORTEX SCREW DIA 4.5/L.46MM 260
84-A02-021448 CORTEX SCREW DIA 4.5/LASMM 260
84-A02-021452 CORTEX SCREW DIA 4.5/L52MM 260
84-A02-021456 CORTEX SCREW DIA 4.5/L56MM 300
84-A02-021460 CORTEX SCREW DIA 4.5/L60MM 300
84-A02-021464 CORTEX SCREWS L:64MM 214.64 300
84-A02-021470 CORTEX SCREWS L:70MM 214.70 300
84-A02-021525 MALLEOLAR SCREWS 25 X 12 MM 215.25 401
84-A02-021530 MALLEOLAR SCREWS 30 X 15 MM 215.30 401
84-A02-021535 MALLEOLAR SCREWS 35 X 18 MM 215.35 416
84-A02-021540 MALLEOLAR SCREWS 40 X 20 MM 215.40 416
84-A02-021545 MALLEOLAR SCREWS 45 X 22 MM 215.45 431
84-A02-021550 MALLEOLAR SCREWS 50 X 24 MM 215.50 431
84-A02-021555 MALLEOLAR SCREWS 55 X 26 MM 215.55 441
84-A02-021560 MALLEOLAR SCREWS 60 X 28 MM 215.60 441
84-A02-021565 MALLEOLAR SCREWS 65 X 30 MM 215.65 456

A AR > BEATEMEE
HECWAE" Rl - ASAIEL

Page 20




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-A02-021570 MALLEOLAR SCREWS 70 X 32 MM 215.70 456
84-A02-021630 CANCELLOUS SCREWS THREAD 30MM 216.30 450
84-A02-021635 CANCELLOUS SCREWS THREAD 35MM 216.35 460
84-A02-021640 CANCELLOUS SCREWS THREAD 40MM 216.40 460
84-A02-021645 CANCELLOUS SCREWS THREAD 45MM 21645 474
84-A02-021650 CANCELLOUS SCREWS THREAD 50MM 216.50 474
84-A02-021655 CANCELLOUS SCREWS THREAD 55MM 216.55 460
84-A02-021660 THD 16MM CANCELLOUS SCREW DIA 6.5/L60MM 460
84-A02-021665 THD 16MM CANCELLOUS SCREW DIA 6.5/L65MM 504
84-A02-021670 THD 16MM CANCELLOUS SCREW DIA 6.5/L70MM 504
84-A02-021675 THD 16MM CANCELLOUS SCREW DIA 6.5/L75SMM 520
84-A02-021680 THD 16MM CANCELLOUS SCREW DIA 6.5/L80MM 520
84-A02-021685 THD 16MM CANCELLOUS SCREW DIA 6.5/L85MM 530
84-A02-021690 THD 16MM CANCELLOUS SCREW DIA 6.5/L90MM 530
84-A02-02170S GAMMA3 TROCHANTERIC NAIL 12X170MMX130" AS : STRYKER 3130-2170S 20412
84-A02-021745 THD 32MM CANCELLOUS SCREW DIA 6.5/L45SMM 504
84-A02-021750 THD 32MM CANCELLOUS SCREW DIA 6.5/L50MM 504
84-A02-021755 THD 32MM CANCELLOUS SCREW DIA 6.5/L55MM 520
84-A02-021760 THD 32MM CANCELLOUS SCREW DIA 6.5/L60MM 520
84-A02-021765 THD 32MM CANCELLOUS SCREW DIA 6.5/L65MM 530
84-A02-021770 THD 32MM CANCELLOUS SCREW DIA 6.5/L70MM 530
84-A02-021780 THD 32MM CANCELLOUS SCREW DIA 6.5/L80MM 544
84-A02-021790 CANCELLOUS SCREWS THREAD 32X90 MM 217.90 520
84-A02-021825 CANCELLOUS SCREWS 6.5MM L:25MM 218.25 474
84-A02-021830 THD CANCELLOUS SCREW 218.30 474
84-A02-021835 THD CANCELLOUS SCREW 218.35 460
84-A02-021840 THD CANCELLOUS SCREW 218.40 504
84-A02-021998 WASHERS 7MM DIAM. 114
84-A02-021999 WASHER 13M 219.99 124
84-A02-022935 RECONSTRUCTION PLATE 5H 229.35 5892
84-A02-022936 RECONSTRUCTION PLATE 4.5 6H 229.36 4685.1
84-A02-022937 RECONSTRUCTION PLATE 7H 229.37 4685.1
84-A02-022938 RECONSTRUCION PLATE 4.5 8H 229.38 4685.1
84-A02-024005 SPOON PLATES SH 100MM 240.05 3013
84-A02-024013 T-PLATES 3H 68MM 240.13 3475
84-A02-024014 T-PLATES 4H 84MM 240.14 3475
84-A02-024015 T-PLATES SH 100MM 240.15 3600,
84-A02-024016 T-PLATES 6H 116MM 240.16 3311
84-A02-024018 T-PLATES 7H 148MM 240.18 3511
84-A02-024023 CLOVERLEAF PLATES 3H 88MM 240.23 2646
84-A02-024024 CLOVERLEAF PLATES 4H 104MM 240.24 2696
84-A02-024034 T-PLATES 4H 80MM 240.34 3513
84-A02-024044 L-PLATES LT 84MM 240.44 3513
84-A02-024054 L-PLATES RT 84MM 240.54 3513
84-A02-024070 LT.CONDYLE BUTTRESSN PLATE 11H 240.70 6513
84-A02-024073 RT.CONDYLE BUTTRESSN PLATE 11H 240.73 6513
84-A02-024092 LT.CONDYLE BUTTRESSN PLATE 7H 240.92 6513
84-A02-024093 LT.CONDYLE BUTTRESSN PLATE 9H 240.93 6513
84-A02-024094 RT.CONDYLE BUTTRESSN PLATE 7H 240.94 6513
84-A02-024095 RT.CONDYLE BUTTRESSN PLATE 9H 240.95 6513
84-A02-024102 1/3 TUBULAR PLATE 2H 680
84-A02-024103 1/3 TUBULAR PLATE 3H 740
84-A02-024104 1/3 TUBULAR PLATE 4H 712
84-A02-024105 1/3 TUBULAR PLATE 5H 742
84-A02-024106 1/3 TUBULAR PLATE 6H 712
84-A02-024107 1/3 TUBULAR PLATE 7TH 788
84-A02-024108 1/3 TUBULAR PLATE 8H 812
84-A02-024113 SMALL T-PLATE RIGHT ANGLE 3H AS:AO/SYNTHES 241.130 1575
84-A02-024114 SMALL T-PLATE RIGHT ANGLE 4H AS:AO/SYNTHES 241.140 1471
SMALL T-PLATE RIGHT ANGLE HEAD 3H SHAFT 5H 67MM AS:AO/SYNTHES
84-A02-024115 241.150 1521
SMALL T-PLATE RIGHT ANGLE HEAD 4H SHAFT 6H 78MM AS:AO/SYNTHES
84-A02-024116 241.160 1571
84-A02-024123 SMALL T-PLATES L:39MM 241.23 1658
84-A02-024124 SMALL T-PLATES OBLIQUE ANGLE HEAD 4H 63MM SYNTHES 241.24 1267.35
84-A02-024125 SMALL T-PLATES L:67MM 241.25 1708
84-A02-024213 1/4 TUBULAR PLATE 3H AS:AO/SYNTHES 242.030 482
84-A02-024214 1/4 TUBULAR PLATE 4H AS:AO/SYNTHES 242.040 482
84-A02-024215 1/4 TUBULAR PLATE 5H AS:AO/SYNTHES 242.050 482
84-A02-024216 1/4 TUBULAR PLATE 6H AS:AO/SYNTHES 242.060 482
84-A02-024217 1/4 TUBULAR PLATE 7H AS:AO/SYNTHES 242.070 482
84-A02-024218 SMALL STRAIGHT PLATE 8H AS:AO/SYNTHES 242.080 482
84-A02-024231 ANGLE FINGER PLATE LEFT 585

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 21




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-A02-024232 ANGLE FINGER PLATE RIGHT 585
84-A02-024233 ANGLE FINGER OBLIGVE LEFT 585
84-A02-024234 ANGLE FINGER OBLIGVE RIGHT 585
84-A02-024241 T-PLATES 242.41 585
84-A02-024313 STRAIGHT MINI-PLATES 3H L:17MM 243.13 530
84-A02-024314 STRAIGHT MINI-PLATES 4H L:23MM 243.14 560
84-A02-024315 STRAIGHT MINI-PLATES 5H L:29MM 243.15 605
84-A02-024316 STRAIGHT MINI-PLATES 6H L:35MM 243.16 635
84-A02-024331 MINI-PLATES LEFT 243.31 530
84-A02-024332 MINI-L-PLATE RIGHT 530
84-A02-024333 MINI-L-PLATE OBIQUE LEFT 530
84-A02-024334 MINI-L-PLATE OBIQUE RIGHT 530
84-A02-024341 MINI-T-PLATE 530
84-A02-024515 RECONSTRUCTION PLATE 4685.1
84-A02-024516 RECONSTRUCTION PLATE 4685.1
84-A02-024517 RECONSTRUCTION PLATE 4685.1
84-A02-024518 RECONSTRUCTION PLATE 4685.1
84-A02-024530 RECONSTRUCTION PLATE CURVED 6H 245.30 5892
84-A02-024531 RECONSTRUCTION PLATE CURVED 8H 245.31 4685.1
84-A02-024803 DCP (3.5MM) 3H 1500
84-A02-027050 PNFA II BLADE LENGTH 75MM AS:SYNTHES 04.027.050S 0 PAG
84-A02-027051 PNFA 1T BLADE LENGTH 80MM AS:SYNTHES 04.027.051S 0 w
84-A02-027052 PNFA II BLADE LENGTH 85MM AS:SYNTHES 04.027.052S 0 PAG
84-A02-027053 PNFA 1T BLADE LENGTH 90MM AS:SYNTHES 04.027.053S 0 w
84-A02-027054 PNFA II BLADE LENGTH 95MM AS:SYNTHES 04.027.054S 0 PAG
84-A02-027055 PNFA 1T BLADE LENGTH 100MM AS:SYNTHES 04.027.0558 0 w
84-A02-027056 PNFA II BLADE LENGTH 105MM AS:SYNTHES 04.027.056S 0 PA
84-A02-028000 DHS LAG SCREW 100MM AS:AO/SYNTHES 280.000 1480
84-A02-028005 DHS LAG SCREW 105SMM AS:AO/SYNTHES 280.050 1480
84-A02-028010 DHS LAG SCREW 110MM AS:AO/SYNTHES 280.100 1480
84-A02-028015 DHS LAG SCREW 115MM AS:AO/SYNTHES 280.150 1480
84-A02-028050 DHS/DCS LAG SCREW 50MM SYNTHES 280.50 1480
84-A02-028055 DHS/DCS LAG SCREW 55MM SYNTHES 280.55 1480
84-A02-028060 DHS/DCS LAG SCREW 60MM SYNTHES 280.60 1480
84-A02-028065 DHS LAG SCREW 65MM AS:AO/SYNTHES 280.650 1480
84-A02-028070 DHS LAG SCREW 70MM AS:AO/SYNTHES 280.700 1480
84-A02-028075 DHS LAG SCREW 75MM AS:AO/SYNTHES 280.750 1480
84-A02-028080 DHS LAG SCREW 80MM AS:AO/SYNTHES 280.800 1480
84-A02-028085 DHS LAG SCREW 85MM AS:AO/SYNTHES 280.850 1480
84-A02-028090 DHS LAG SCREW 90MM AS:AO/SYNTHES 280.900 1480
84-A02-028095 DHS LAG SCREW 95MM AS:AO/SYNTHES 280.950 1480
84-A02-028099 DHS COMP SCREW AS:AO/SYNTHES 280.990 220
84-A02-028110 DHS PLATE 135 10H AS:AO/SYNTHES 281.100 3200
84-A02-028114 DHS PLATE 135 4H AS:AO/SYNTHES 281.140 3200
84-A02-028115 DHS PLATE 135 SH AS:AO/SYNTHES 281.150 3200
84-A02-028116 DHS PLATE 135 6H AS:AO/SYNTHES 281.160 32001
84-A02-028118 DHS PLATE 135 8H AS:AO/SYNTHES 281.180 3200
84-A02-028144 DHS PLATE 150 4H AS:AO/SYNTHES 281.440 32001
84-A02-028145 DHS PLATE 150 SH AS:AO/SYNTHES 281.450 3200
84-A02-028148 DHS PLATE 150 DEG. 8H AS:AO/SYNTHES 281.480 32001
84-A02-028190 DCS PLATES 95 SHORT 10 HOLES 281.90 3200
84-A02-028192 DCS PLATES 95 SHORT 10 HOLES 281.92 32001
84-A02-028196 DCS PLATES 9506H100MM/281.96 3200
84-A02-028198 DCS PLATES 9506H100MM/281.98 32001
84-A02-202608 CANNULATED SCREW SHORT-THREAD 3.0X8MM AS:SYNTHES 202.608 2700,
84-A02-202609 CANNULATED SCREW SHORT-THREAD 3.0X9MM _AS:SYNTHES 202.609 2700
84-A02-202610 CANNULATED SCREW SHORT-THREAD 3.0X10MM AS:SYNTHES 202.610 2700,
84-A02-202611 CANNULATED SCREW SHORT-THREAD 3.0X11MM AS:SYNTHES 202.611 2700
84-A02-202612 CANNULATED SCREW SHORT-THREAD 3.0X12MM AS:SYNTHES 202.612 2700,
84-A02-202613 CANNULATED SCREW SHORT-THREAD 3.0X13MM AS:SYNTHES 202.613 2700
84-A02-202615 CANNULATED SCREW SHORT-THREAD 3.0X15MM AS:SYNTHES 202.615 2700,
84-A02-202616 CANNULATED SCREW SHORT-THREAD 3.0X16MM AS:SYNTHES 202.616 2700
84-A02-202617 CANNULATED SCREW SHORT-THREAD 3.0X17MM AS:SYNTHES 202.617 2700,
84-A02-202618 CANNULATED SCREW SHORT-THREAD 3.0X18MM AS:SYNTHES 202.618 2700
84-A02-202619 CANNULATED SCREW SHORT-THREAD 3.0X19MM AS:SYNTHES 202.619 2700,
84-A02-202620 CANNULATED SCREW SHORT-THREAD 3.0X20MM AS:SYNTHES 202.620 2700
84-A02-202621 CANNULATED SCREW SHORT-THREAD 3.0X21MM AS:SYNTHES 202.621 2700,
84-A02-202622 CANNULATED SCREW SHORT-THREAD 3.0X22MM AS:SYNTHES 202.622 2700
84-A02-202623 CANNULATED SCREW SHORT-THREAD 3.0X23MM _AS:SYNTHES 202.623 2700,
84-A02-202624 CANNULATED SCREW SHORT-THREAD 3.0X24MM AS:SYNTHES 202.624 2700
84-A02-202625 CANNULATED SCREW SHORT-THREAD 3.0X25MM AS:SYNTHES 202.625 2700,
84-A02-202626 CANNULATED SCREW SHORT-THREAD 3.0X26MM AS:SYNTHES 202.626 2700

A AR > BEATEMEE
HECWAE" Rl - ASAIEL

Page 22




84-A02-202627

CANNULATED SCREW SHORT-THREAD 3.0X27MM

VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

AS:SYNTHES 202.627

2700,

84-A02-202628

CANNULATED SCREW SHORT-THREAD 3.0X28MM

AS:SYNTHES 202.628

2700

84-A02-202629

CANNULATED SCREW SHORT-THREAD 3.0X29MM

AS:SYNTHES 202.629

2700,

84-A02-202630

CANNULATED SCREW SHORT-THREAD 3.0X30MM

AS:SYNTHES 202.630

2700

84-A02-202632

CANNULATED SCREW SHORT-THREAD 3.0X32MM

AS:SYNTHES 202.632

2700,

84-A02-202634

CANNULATED SCREW SHORT-THREAD 3.0X34MM

AS:SYNTHES 202.634

2700

84-A02-202636

CANNULATED SCREW SHORT-THREAD 3.0X36MM

AS:SYNTHES 202.636

2700,

84-A02-202638

CANNULATED SCREW SHORT-THREAD 3.0X38MM

AS:SYNTHES 202.638

2700

84-A02-202640

CANNULATED SCREW SHORT-THREAD 3.0X40MM

AS:SYNTHES 202.640

2700,

84-A02-202714

CANNULATED SCREW LONG-THREAD 3.0X14MM

AS:SYNTHES 202.714

2700

84-A02-202715

CANNULATED SCREW LONG-THREAD 3.0X15MM

AS:SYNTHES 202.715

2700,

84-A02-202716

CANNULATED SCREW LONG-THREAD 3.0X16MM

AS:SYNTHES 202.716

2700

84-A02-202717

CANNULATED SCREW LONG-THREAD 3.0X17MM

AS:SYNTHES 202.717

2700,

84-A02-202718

CANNULATED SCREW LONG-THREAD 3.0X18MM

AS:SYNTHES 202.718

2700

84-A02-202719

CANNULATED SCREW LONG-THREAD 3.0X19MM

AS:SYNTHES 202.719

2700,

84-A02-202720

CANNULATED SCREW LONG-THREAD 3.0X20MM

AS:SYNTHES 202.720

2700

84-A02-202721

CANNULATED SCREW LONG-THREAD 3.0X21MM

AS:SYNTHES 202.721

2700,

84-A02-202722

CANNULATED SCREW LONG-THREAD 3.0X22MM

AS:SYNTHES 202.722

2700

84-A02-202723

CANNULATED SCREW LONG-THREAD 3.0X23MM

AS:SYNTHES 202.723

2700,

84-A02-202724

CANNULATED SCREW LONG-THREAD 3.0X24MM

AS:SYNTHES 202.724

2700

84-A02-202725

CANNULATED SCREW LONG-THREAD 3.0X25MM

AS:SYNTHES 202.725

2700,

84-A02-202726

CANNULATED SCREW LONG-THREAD 3.0X26MM

AS:SYNTHES 202.726

2700

84-A02-202727

CANNULATED SCREW LONG-THREAD 3.0X27MM

AS:SYNTHES 202.727

2700,

84-A02-202728

CANNULATED SCREW LONG-THREAD 3.0X28MM

AS:SYNTHES 202.728

2700

84-A02-202729

CANNULATED SCREW LONG-THREAD 3.0X29MM

AS:SYNTHES 202.729

2700,

84-A02-202730

CANNULATED SCREW LONG-THREAD 3.0X30MM

AS:SYNTHES 202.730

2700

84-A02-202732

CANNULATED SCREW LONG-THREAD 3.0X32MM

AS:SYNTHES 202.732

2700,

84-A02-202734

CANNULATED SCREW LONG-THREAD 3.0X34MM

AS:SYNTHES 202.734

2700

84-A02-202736

CANNULATED SCREW LONG-THREAD 3.0X36MM

AS:SYNTHES 202.736

2700,

84-A02-202738

CANNULATED SCREW LONG-THREAD 3.0X38MM

AS:SYNTHES 202.738

2700

84-A02-202740

CANNULATED SCREW LONG-THREAD 3.0X40MM

AS:SYNTHES 202.740

2700,

84-A02-214520

CANNULATED SCREW SHORT-THREAD 4.5X20MM

AS:SYNTHES 214.520

2700

84-A02-214522

CANNULATED SCREW SHORT-THREAD 4.5X22MM

AS:SYNTHES 214.522

2700,

84-A02-214524

CANNULATED SCREW SHORT-THREAD 4.5X24MM

AS:SYNTHES 214.524

2700

84-A02-214526

CANNULATED SCREW SHORT-THREAD 4.5X26MM

AS:SYNTHES 214.526

2700,

84-A02-214528

CANNULATED SCREW SHORT-THREAD 4.5X28MM

AS:SYNTHES 214.528

2700

84-A02-214530

CANNULATED SCREW SHORT-THREAD 4.5X30MM

AS:SYNTHES 214.530

2700,

84-A02-214532

CANNULATED SCREW SHORT-THREAD 4.5X32MM

AS:SYNTHES 214.532

2700

84-A02-214534

CANNULATED SCREW SHORT-THREAD 4.5X34MM

AS:SYNTHES 214.534

2700,

84-A02-214536

CANNULATED SCREW SHORT-THREAD 4.5X36MM

AS:SYNTHES 214.536

2700

84-A02-214538

CANNULATED SCREW SHORT-THREAD 4.5X38MM

AS:SYNTHES 214.538

2700,

84-A02-214540

CANNULATED SCREW SHORT-THREAD 4.5X40MM

AS:SYNTHES 214.540

2700

84-A02-214542

CANNULATED SCREW SHORT-THREAD 4.5X42MM

AS:SYNTHES 214.542

2700,

84-A02-214544

CANNULATED SCREW SHORT-THREAD 4.5X44MM

AS:SYNTHES 214.544

2700

84-A02-214546

CANNULATED SCREW SHORT-THREAD 4.5X46MM

AS:SYNTHES 214.546

2700,

84-A02-214548

CANNULATED SCREW SHORT-THREAD 4.5X48MM

AS:SYNTHES 214.548

2700

84-A02-214550

CANNULATED SCREW SHORT-THREAD 4.5X50MM

AS:SYNTHES 214.550

2700,

84-A02-214552

CANNULATED SCREW SHORT-THREAD 4.5X52MM

AS:SYNTHES 214.552

2700

84-A02-214554

CANNULATED SCREW SHORT-THREAD 4.5X54MM

AS:SYNTHES 214.554

2700,

84-A02-214556

CANNULATED SCREW SHORT-THREAD 4.5X56MM

AS:SYNTHES 214.556

2700

84-A02-214560

CANNULATED SCREW SHORT-THREAD 4.5X60MM

AS:SYNTHES 214.560

2700,

84-A02-214564

CANNULATED SCREW SHORT-THREAD 4.5X64MM

AS:SYNTHES 214.564

2700

84-A02-214568

CANNULATED SCREW SHORT-THREAD 4.5X40MM

AS:SYNTHES 214.568

2700,

84-A02-214572

CANNULATED SCREW SHORT-THREAD 4.5X40MM

AS:SYNTHES 214.572

2700

84-A02-214720

CANNULATED SCREW FULLY-THREAD 4.5X20MM

AS:SYNTHES 214.720

2700,

84-A02-214722

CANNULATED SCREW FULLY-THREAD 4.5X22MM

AS:SYNTHES 214.722

2700

84-A02-214724

CANNULATED SCREW FULLY-THREAD 4.5X24MM

AS:SYNTHES 214.724

2700,

84-A02-214726

CANNULATED SCREW FULLY-THREAD 4.5X26MM

AS:SYNTHES 214.726

2700

84-A02-214728

CANNULATED SCREW FULLY-THREAD 4.5X28MM

AS:SYNTHES 214.728

2700,

84-A02-214730

CANNULATED SCREW FULLY-THREAD 4.5X30MM

AS:SYNTHES 214.730

2700

84-A02-214732

CANNULATED SCREW FULLY-THREAD 4.5X32MM

AS:SYNTHES 214.732

2700,

84-A02-214734

CANNULATED SCREW FULLY-THREAD 4.5X34MM

AS:SYNTHES 214.734

2700

84-A02-214736

CANNULATED SCREW FULLY-THREAD 4.5X36MM

AS:SYNTHES 214.736

2700,

84-A02-214738

CANNULATED SCREW FULLY-THREAD 4.5X38MM

AS:SYNTHES 214.738

2700

84-A02-214740

CANNULATED SCREW FULLY-THREAD 4.5X40MM

AS:SYNTHES 214.740

2700,

84-A02-214742

CANNULATED SCREW FULLY-THREAD 4.5X42MM

AS:SYNTHES 214.742

2700

84-A02-214744

CANNULATED SCREW FULLY-THREAD 4.5X44MM

AS:SYNTHES 214.744

2700,

84-A02-214746

CANNULATED SCREW FULLY-THREAD 4.5X46MM

AS:SYNTHES 214.746

2700

84-A02-214748

CANNULATED SCREW FULLY-THREAD 4.5X48MM

AS:SYNTHES 214.748

2700,

84-A02-214750

CANNULATED SCREW FULLY-THREAD 4.5X50MM

AS:SYNTHES 214.750

2700

84-A02-214752

CANNULATED SCREW FULLY-THREAD 4.5X52MM

AS:SYNTHES 214.752

2700,

84-A02-214754

CANNULATED SCREW FULLY-THREAD 4.5X54MM

AS:SYNTHES 214.754

2700

A AR > BEATEMEE
HECWAE" Rl - ASAIEL

Page 23




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-A02-214756 CANNULATED SCREW FULLY-THREAD 4.5X56MM _AS:SYNTHES 214.756 2700
84-A02-214760 CANNULATED SCREW 4.5X60MM 214.760 2700
84-A02-214764 CANNULATED SCREW FULLY-THREAD 4.5X64MM _AS:SYNTHES 214.764 2700
84-A02-214768 CANNULATED SCREW 4.5X68MM 214.768 2700
84-A02-214772 CANNULATED SCREW FULLY-THREAD 4.5X72MM AS:SYNTHES 214.772 2700
84-A02-219910 WASHER (FOR 4.5MM SCREW) AS:SYNTHES 219910 160
84-A02-219972 WASHER (FOR 3.0MM SCREW) AS:SYNTHES 219.972 160
84-A02-223540 LC-DCP PLATE 3.5X51MM 4-HOLES AS:SYNTHES 223.540 1350
84-A02-223550 LC-DCP PLATE 3.5X64MM 5-HOLES AS:SYNTHES 223.550 1350
84-A02-223560 LC-DCP PLATE 3.5X77MM 6-HOLES AS:SYNTHES 223.560 1350
84-A02-223570 LC-DCP PLATE 3.5X90MM 7-HOLES AS:SYNTHES 223.570 1350
84-A02-223580 LC-DCP PLATE 3.5X103MM 8-HOLES AS:SYNTHES 223.580 1350
84-A02-223600 LC-DCP PLATE 3.5X129MM 10-HOLES AS:SYNTHES 223.600 1350
84-A02-224550 LC-DCP PLATE 4.5X88MM 5-HOLES AS:SYNTHES 224.550 1650
84-A02-224560 LC-DCP PLATE 4.5X106MM 6-HOLES AS:SYNTHES 224.560 1650
84-A02-224570 LC-DCP PLATE 4.5X124MM 7-HOLES AS:SYNTHES 224.570 1650
84-A02-224580 LC-DCP PLATE 4.5X142MM 8-HOLES AS:SYNTHES 224.580 1650
84-A02-224590 LC-DCP PLATE 4.5X160MM 9-HOLES AS:SYNTHES 224.590 1650
84-A02-224600 LC-DCP PLATE 4.5X178MM 10-HOLES AS:SYNTHES 224.600 1650
84-A02-224620 LC-DCP PLATE 4.5X214MM 12-HOLES AS:SYNTHES 224.620 1650
84-A02-226560 LC-DCP BROAD PLATE 4.5X106MM 6-HOLES AS:SYNTHES 226.560 2400
84-A02-226570 LC-DCP BROAD PLATE 4.5X124MM 7-HOLES AS:SYNTHES 226.570 2400
84-A02-226590 LC-DCP BROAD PLATE 4.5X160MM 9-HOLES AS:SYNTHES 226.590 2400
84-A02-226600 LC-DCP BROAD PLATE 4.5X178MM 10-HOLES AS:SYNTHES 226.600 2400
84-A02-226640 LC-DCP BROAD PLATE 4.5X250MM 14-HOLES AS:SYNTHES 226.640 2400
84-A02-243230 "MINI T-PLATE 2.0, 3X9-HOLES AS:SYNTHES 243.230" 3675
84-A02-243240 "MINI T-PLATE 2.0, 4X9-HOLES AS:SYNTHES 243.240" 3675
84-A02-243610 MINI CONDYLAR PLATE L. AS:MATHYS 234.610 4300
84-A02-243620 MINI CONDYLAR PLATE L. AS:MATHYS 234.610 4300
84-A02-246190 MINI PLATE 1.5X100MM 20-HOLES AS:SYNTHES 246.190 3675
84-A02-246230 "MINI T-PLATE 1.5, 3X9-HOLES AS:SYNTHES 246.230" 3675
84-A02-246240 "MINI T-PLATE 1.5, 4X9-HOLES AS:SYNTHES 246.240" 3675
84-A02-246480 "MINI H-PLATE 1.5, 4-HOLES AS:SYNTHES 246.480" 3675
84-A02-246610 MINI CONDYLAR PLATE L. AS:MATHYS 236.610 4300
84-A02-246620 MINI CONDYLAR PLATE L. AS:MATHYS 236.620 4300
84-A02-281001 WIRE MOUNT AS:SYNTHES 281.001 2200
84-A02-281869 DHS TROCHANTER STABILIZE PLATE 138MM AS:SYNTHES 281.869 18000
CORTEX SCREW SELF-TAPPING PURE TITANIUM 2.0MM X 12MM AS:SYNTHES
84-A02-401812 401.812 2800 Y
CORTEX SCREW SELF-TAPPING PURE TITANIUM 2.0MM X 14MM AS:SYNTHES
84-A02-401814 401.814 2800 Y
84-A02-404018 TITANIUM CORTES SCREW 3.5X18MM AS:SYNTEC 404018 340
84-A02-422220 MATHYS LCP-PLT TAN RIGHT 5H AS:SYNTHES 422.220 89000 Y
84-A02-422221 MATHYS LCP-PLT TAN LEFT SH AS:SYNTHES 422.221 89000 ¥
84-A02-422222 MATHYS LCP-PLT TAN RIGHT 7H AS:SYNTHES 422.222 89000 Y
84-A02-422223 MATHYS LCP-PLT TAN LEFT 7H AS:SYNTHES 422.223 89000 ¥
84-A02-420224 MATHYS LCP-PLT TAN RIGHT 9H AS:SYNTHES 422.04 89000 Y
84-A02-422225 MATHYS LCP-PLT TAN LEFT 9H AS:SYNTHES 422.225 89000 ¥
84-A02-422226 MATHYS LCP-PLT TAN RIGHT 11H AS:SYNTHES 422.226 89000 Y
84-A02-422227 MATHYS LCP-PLT TAN LEFT 11H AS:SYNTHES 422.227 89000 ¥
84-A02-420208 MATHYS LCP-PLT TAN RIGHT 13H AS:SYNTHES 422.228 89000 Y
84-A02-422229 MATHYS LCP-PLT TAN LEFT 13H AS:SYNTHES 422.229 89000 ¢
84-A02-422250 MATHYS LCP-DF TAN RIGHT 5H AS:SYNTHES 422.250 89000 Y
84-A02-422251 MATHYS LCP-DF TAN LEFT SH AS:SYNTHES 422.251 89000 ¥
84-A02-422252 MATHYS LCP-DF TAN RIGHT 7H AS:SYNTHES 422.252 89000 Y
84-A02-422253 MATHYS LCP-DF TAN LEFT 7H AS:SYNTHES 422.253 89000 ¥
84-A02-420254 MATHYS LCP-DF TAN RIGHT 9H AS:SYNTHES 422.254 89000 Y
84-A02-422255 MATHYS LCP-DF TAN LEFT 9H AS:SYNTHES 422.255 89000 ¥
84-A02-422256 MATHYS LCP-DF TAN RIGHT 11H AS:SYNTHES 422.256 89000 Y
84-A02-422257 MATHYS LCP-DF TAN LEFT 11H AS:SYNTHES 422.257 89000 ¥
84-A02-420258 MATHYS LCP-DF TAN RIGHT 13H AS:SYNTHES 422.258 89000 Y
84-A02-422259 MATHYS LCP-DF TAN LEFT 13H AS:SYNTHES 422.259 89000 ¢
84-A02-423561 MATHYS LC-LCP PLATE 3.5MM 6H AS:SYNTHES 423.561 34000 Y
84-A02-423581 MATHYS LC-LCP PLATE 3.5MM 8H AS:SYNTHES 423.581 34000 ¥
84-A02-423591 BRI B AY MATHYS LC-LCP PLATE 3.5MM 9H AS:SYNTHES 423.591 34000 A
84-A02-423601 MATHYS LC-LCP PLATE 3.5MM 10H AS:SYNTHES 423.601 34000 %
84-A02-424561 MATHYS LC-DCP 4.5/5.0 NARROW 6H AS:SYNTHES 424.561 41000 Y
84-A02-424571 MATHYS LC-DCP 4.5/5.0 NARROW 7H AS:SYNTHES 424.571 41000 %
84-A02-424581 MATHYS LC-DCP 4.5/5.0 NARROW 8H AS:SYNTHES 424.581 41000 Y
84-A02-424591 MATHYS LC-DCP 4.5/5.0 NARROW 9H AS:SYNTHES 424.591 41000 %
84-A02-424601 MATHYS LC-DCP 4.5/5.0 NARROW 10H AS:SYNTHES 424.601 41000 Y
84-A02-424611 MATHYS LC-DCP 4.5/5.0 NARROW 11H AS:SYNTHES 424.611 41000 %
84-A02-424621 MATHYS LC-DCP 4.5/5.0 NARROW 12H AS:SYNTHES 424.621 41000 Y

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 24




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-A02-424768 MATHYS LCP METAPHYSEAL PLATE 3.5/4.5/5.0RIGHT 4/4 AS:SYNTHES 424.768 66000 A
84-A02-424770 MATHYS LCP METAPHYSEAL PLATE 3.5/4.5/5.0RIGHT 4/6 AS:SYNTHES 424.770 66000 A
84-A02-424772 MATHYS LCP METAPHYSEAL PLATE 3.5/4.5/5.0RIGHT 4/4 AS:SYNTHES 424.768 66000 A
84-A02-424774 MATHYS LCP METAPHYSEAL PLATE 3.5/4.5/5.0RIGHT 4/10 AS:SYNTHES 424.774 66000 A
84-A02-424776 MATHYS LCP METAPHYSEAL PLATE 3.5/4.5/5.0RIGHT 4/12 AS:SYNTHES 424.776 66000 A
84-A02-424808 MATHYS LCP METAPHYSEAL PLATE 3.5/4.5/5.0LEFT 4/4 AS:SYNTHES 424.808 66000 PAG
84-A02-424810 MATHYS LCP METAPHYSEAL PLATE 3.5/4.5/5.0LEFT 4/6 AS:SYNTHES 424.810 66000 A
84-A02-424812 MATHYS LCP METAPHYSEAL PLATE 3.5/4.5/5.0LEFT 4/8 AS:SYNTHES 424.812 66000 PAG
84-A02-424814 MATHYS LCP METAPHYSEAL PLATE 3.5/4.5/5.0LEFT 4/10 AS:SYNTHES 424.814 66000 PA
84-A02-424816 MATHYS LCP METAPHYSEAL PLATE 3.5/4.5/5.0LEFT 4/12 AS:SYNTHES 424.816 66000 PA
84-A02-426561 MATHYS LC-DCP 4.5/5.0 BROAD 6H AS:SYNTHES 426.561 41000 w
84-A02-426571 MATHYS LC-DCP 4.5/5.0 BROAD 7H AS:SYNTHES 426.571 41000 PAG
84-A02-426581 MATHYS LC-DCP 4.5/5.0 BROAD 8H AS:SYNTHES 426.581 41000 w
84-A02-426591 MATHYS LC-DCP 4.5/5.0 BROAD 9H AS:SYNTHES 426.591 41000 PAG
84-A02-426601 MATHYS LC-DCP 4.5/5.0 BROAD 10H AS:SYNTHES 426.601 41000 w
84-A02-426621 MATHYS LC-DCP 4.5/5.0 BROAD 12H AS:SYNTHES 426.621 41000 PA
84-A02-426661 MATHYS LC-DCP 4.5/5.0 BROAD 16H AS:SYNTHES 426.661 41000 w
84-A02-429351 MATHYS LCP RECONSTRUCTION PLATE 4.5/5.0 SH AS:SYNTHES 429.351 41000 PAG
84-A02-429361 MATHYS LCP RECONSTRUCTION PLATE 4.5/5.0 SH AS:SYNTHES 429.361 41000 A
84-A02-429371 MATHYS LCP RECONSTRUCTION PLATE 4.5/5.0 7H AS:SYNTHES 429.371 41000 PAG
84-A02-429381 MATHYS LCP RECONSTRUCTION PLATE 4.5/5.0 8H AS:SYNTHES 429.381 41000 A
84-A02-429391 MATHYS LCP RECONSTRUCTION PLATE 4.5/5.0 9H AS:SYNTHES 429.391 41000 PAG
84-A02-429401 MATHYS LCP RECONSTRUCTION PLATE 4.5/5.0 10H AS:SYNTHES 429.401 41000 A
84-A02-436505 LCP OLECRANON PLATE 3.5MM 4H LEFT AS : SYNTHES 436.505 71000 PA
84-A02-439984 LCP MEDIAL PROXIMAL TIBIAL PLATE 5.0MM 4H RIGHT AS:SYNTHES 439.984 72000 PA
84-A02-439985 LCP MEDIAL PROXIMAL TIBIAL PLATE 5.0MM 4H LEFT AS:SYNTHES 439.985 72000 A
84-A02-439986 LCP MEDIAL PROXIMAL TIBIAL PLATE 5.0MM 6H RIGHT AS:SYNTHES 439.986 72000 A
84-A02-439987 LCP MEDIAL PROXIMAL TIBIAL PLATE 5.0MM 6H LEFT AS:SYNTHES 439.987 72000 PAG
84-A02-439988 LCP MEDIAL PROXIMAL TIBIAL PLATE 5.0MM 8H RIGHT AS:SYNTHES 439.988 72000 PA
84-A02-439989 LCP MEDIAL PROXIMAL TIBIAL PLATE 5.0MM 8H LEFT AS:SYNTHES 439.989 72000 A
84-A02-439990 LCP MEDIAL PROXIMAL TIBIAL PLATE 5.0MM 10H RIGHT AS:SYNTHES 439.990 72000 A
84-A02-439991 LCP MEDIAL PROXIMAL TIBIAL PLATE 5.0MM 10H LEFT AS:SYNTHES 439.991 72000 A
84-A02-440036 LCP PROXIMAL TIBIAL PLATE 5.0MM 4H RIGHT AS:SYNTHES 440.036 72000 PA
84-A02-440037 LCP PROXIMAL TIBIAL PLATE 5.0MM 4H LEFT AS:SYNTHES 440.037 72000 w
84-A02-440038 LCP PROXIMAL TIBIAL PLATE 5.0MM 6H RIGHT AS:SYNTHES 440.038 72000 PA
84-A02-440039 LCP PROXIMAL TIBIAL PLATE 5.0MM 6H LEFT AS:SYNTHES 440.039 72000 A
84-A02-440040 LCP PROXIMAL TIBIAL PLATE 5.0MM 8H RIGHT AS:SYNTHES 440.040 72000 PA
84-A02-440041 LCP PROXIMAL TIBIAL PLATE 5.0MM 8H LEFT AS:SYNTHES 440.041 72000 w
84-A02-440042 LCP PROXIMAL TIBIAL PLATE 5.0MM 10H RIGHT AS:SYNTHES 440.042 72000 PA
84-A02-440043 LCP PROXIMAL TIBIAL PLATE 5.0MM 10H LEFT AS:SYNTHES 440.043 72000 w
84-A02-440044 LCP PROXIMAL TIBIAL PLATE 5.0MM 12H RIGHT AS:SYNTHES 440.044 72000 PA
84-A02-440045 LCP PROXIMAL TIBIAL PLATE 5.0MM 12H LEFT AS:SYNTHES 440.045 72000 w
84-A02-440141 MATHYS LCP T-PLATE 4.5/5.0 4H AS:SYNTHES 440.141 41000 PA
84-A02-440151 MATHYS LCP T-PLATE 4.5/5.0 5H AS:SYNTHES 440.151 41000 w
84-A02-440161 MATHYS LCP T-PLATE 4.5/5.0 6H AS:SYNTHES 440.161 41000 PA
84-A02-440171 MATHYS LCP T-PLATE 4.5/5.0 7H AS:SYNTHES 440.171 41000 w
84-A02-440181 MATHYS LCP T-PLATE 4.5/5.0 8H AS:SYNTHES 440.181 41000 PA
84-A02-440241 MATHYS L-BUTTRESS PLATE 4.5/5.0 RIGHT LEG 4H AS:SYNTHES 440.241 41000 A
84-A02-440251 MATHYS L-BUTTRESS PLATE 4.5/5.0 RIGHT LEG54H AS:SYNTHES 440.251 41000 PA
84-A02-440261 MATHYS L-BUTTRESS PLATE 4.5/5.0 RIGHT LEG 6H AS:SYNTHES 440.261 41000 A
84-A02-440341 MATHYS L-BUTTRESS PLATE 4.5/5.0 4H AS:SYNTHES 440.341 41000 PA
84-A02-440351 MATHYS L-BUTTRESS PLATE 4.5/5.0 SH AS:SYNTHES 440.351 41000 w
84-A02-440361 MATHYS L-BUTTRESS PLATE 4.5/5.0 6H AS:SYNTHES 440.361 41000 PAG
84-A02-440441 MATHYS L-BUTTRESS PLATE 4.5/5.0 LEFT LEG 4H AS:SYNTHES 440.441 41000 A
84-A02-440451 MATHYS L-BUTTRESS PLATE 4.5/5.0 LEFT LEG 5H AS:SYNTHES 440451 41000 PAG
84-A02-440461 MATHYS L-BUTTRESS PLATE 4.5/5.0 LEFT LEG 6H AS:SYNTHES 440.461 41000 A
84-A02-441274 DISTAL HUMERAL PLATE 2.7/3.5MM RIGHT SH AS:SYNTHES 441.274 57000 PA
84-A02-441275 DISTAL HUMERAL PLATE 2.7/3.5MM LEFT SH AS:SYNTHES 441.275 57000 w
84-A02-441279 DISTAL HUMERAL PLATE 2.7/3.5MM LEFT 9H AS:SYNTHES 441.279 57000 PA
84-A02-441284 DISTAL HUMERAL PLATE 2.7/3.5MM MEDIAL RIGHT 5H AS:SYNTHES 441.284 34000 A
84-A02-441285 DISTAL HUMERAL PLATE 2.7/3.5MM MEDIAL LEFT 5SH AS:SYNTHES 441.285 34000 PAG
MATHYS CALCANEAL LOCKING PLATE 3.5MM LEFT 69MM AS:SYNTHES
84-A02-441623 441.623 66000 PA
84-A02-441680 LCP PROXIMAL RADIUS PLATE 2.4 RIGHT 5+2H AS :* SYNTHES 441.680 66000 A

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 25




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-A02-441681 LCP PROXIMAL RADIUS PLATE 2.4 LEFT 5+2H AS : SYNTHES 441.681 66000 A

84-A02-441690 LCP PROXIMAL RADIUS PLATE 2.4 2H AS : SYNTHES 441.690 66000 ¥
"MATHYS LOCKING PHILOS PROXIMAL HUMERUS 3.5, PLATE 3H AS:SYNTHES

84-A02-441901 441.901" 66000 ¥
"MATHYS LOCKING PHILOS PROXIMAL HUMERUS 3.5, PLATE 5H AS:SYNTHES

84-A02-441903 441.903" 66000 ¥
"MATHYS LOCKING PHILOS PROXIMAL HUMERUS 3.5, PLATE 6H AS:SYNTHES

84-A02-441919 441.919" 66000 e

84-A02-442490 LCP DISTAL RADIUS PLATE (STRAIGHT) 2.4/6H AS:SYNTHES 442.490 41000 A

84-A02-442491 LCP DISTAL RADIUS PLATE 2.4 5/3 (LEFT) AS:SYNTHES 442.491 47000 ¢

84-A02-442492 LCP DISTAL RADIUS PLATE 2.4 5/5 (LEFT) AS:SYNTHES 442.492 47000 A

84-A02-442493 LCP DISTAL RADIUS PLATE 2.4 5/3 (RIGHT) AS:SYNTHES 442.493 47000 ¢

84-A02-442494 LCP DISTAL RADIUS PLATE 2.4 5/5 (RIGHT) AS:SYNTHES 442.494 47000 A

84-A02-442497 LCP BUTTRESS PLATE 2.4 5/3 (LEFT) AS:SYNTHES 442.497 47000 ¢

84-A02-472105 PENA-TI NAIL XS 130" 10MMX170MM AS:SYNTHES 472.105S 77000 %

84-A02-472106 PENA-II NAIL XS 130" 11MMX170MM AS:SYNTHES 472.1065 77000 ¥

84-A02-472114 PENA-II NAIL SMALL 130" 9MMX200MM AS:SYNTHES 472.1148 77000 %
T RATNE] 7% PFNA-IL NAIL SMALL 130" [OMMX200MM AS:S YNTHES

84-A02-472115 472.1158 77000 A

84-A02-472116 PENA-II NAIL SMALL 130° 11MMX200MM AS:SYNTHES 472.1165 77000 ¥

84-A02-473018 PENA-II NAIL 130" I0MMX340MM LONG RIGHTAS:SYNTHES 473.018S 77000 A

84-A02-473020 PENA-II NAIL 130° 10MMX380MM LONG RIGHT AS:SYNTHES 473.0208 77000 ¥

84-A02-473022 PENA-II NAIL 130" I0MMX420MM LONG RIGHT AS:SYNTHES 473.0228 77000 A

84-A02-473026 PENA-II NAIL 130" I0MMX340MM LONG LEFT AS:SYNTHES 473.0268 77000 ¥

84-A02-473028 PENA-II NAIL 130" I0MMX380MM LONG LEFT AS:SYNTHES 473.028S 77000 A

84-A02-473030 PENA-II NAIL 130" I0MMX420MM LONG LEFT AS:SYNTHES 473.0308 77000 ¥

84-A02-473805 PENA-II NAIL 130° I0MMX240MM AS:SYNTHES 473.805S 77000 A

84-A02-473806 PENA-II NAIL 130° 1IMMX240MM AS:SYNTHES 473.806S 77000 ¥

84-A02-650350 GAMMA3 LOCKING SCREW 5X35MM AS : STRYKER 1896-5035 0
DISTAL CLAVICLE HOOK LOCKING PLATE LEFT 3HX72MM AS:APLUS 0000-

84-A03-000003 0000-03 38700 A
DISTAL CLAVICLE HOOK LOCKING PLATE 4HX83MM LEFT AS:APLUS 0000-

84-A03-000004 0000-04 38700 A
DISTAL CLAVICLE HOOK LOCKING PLATE SHX94MM LEFT AS:APLUS 0000-

84-A03-000005 0000-05 38700 A
DISTAL CLAVICLE HOOK LOCKING PLATE 3HX72MM RIGHT AS:APLUS 0000-

84-A03-000103 0001-03 38700 A
DISTAL CLAVICLE HOOK LOCKING PLATE 4HX83MM RIGHT AS:APLUS 0000-

84-A03-000104 0001-04 38700 A
DISTAL CLAVICLE HOOK LOCKING PLATE SHXO4MM RIGHT AS:APLUS 0000-

84-A03-000105 0001-05 38700 A
DISTAL HUMERAL MEDIAL LOCKING PLATE 10HX92MM AS:APLUS 0201-0000-

84-A03-210010 10 41000 A
DISTAL HUMERAL MEDIAL LOCKING PLATE 121X 112MM AS:APLUS 0201-0000-

84-A03-210012 12 41000 A
DISTAL HUMERAL MEDIAL LOCKING PLATE [41X132MM AS:APLUS 0201-0000-

84-A03-210014 14 41000 A
PROXIMAL HUMERAL LATERAL LOCKING PLATE LEFT 4TX106MM AS:APLUS

84-A03-221004 0202-0100-04 50400 A
PROXIMAL HUMERAL LATERAL LOCKING PLATE LEFT 6HX132MM AS:APLUS

84-A03-221006 0202-0100-06 50400 A
PROXIMAL HUMERAL LATERAL LOCKING PLATE LEFT SHX158MM AS:APLUS

84-A03-221008 0202-0100-08 50400 A
PROXIMAL HUMERAL LATERAL LOCKING PLATE LEFT 100X 184MM AS:APLUS

84-A03-221010 0202-0100-10 50400 A
PROXIMAL HUMERAL LATERAL LOCKING PLATE LEFT 120X210MM AS:APLUS

84-A03-221012 0202-0100-12 50400 A
PROXIMAL HUMERAL LATERAL LOCKING PLATE RIGHT 4HX106MM AS:APLUS

84-A03-221104 0202-0101-04 50400 A
PROXIMAL HUMERAL LATERAL LOCKING PLATE RIGHT 6HX132MM AS:APLUS

84-A03-221106 0202-0101-06 50400 A
PROXIMAL HUMERAL LATERAL LOCKING PLATE RIGHT SHX158MM AS:APLUS

84-A03-221108 0202-0101-08 50400 A
PROXIMAL HUMERAL LATERAL LOCKING PLATE RIGHT 100X 184MM

84-A03-221110 AS:APLUS 0202-0101-10 50400 A
PROXIMAL HUMERAL LATERAL LOCKING PLATE RIGHT 120X210MM

84-A03-221112 AS:APLUS 0202-0101-12 50400 A

84-A03-228001 CALCANEUS LOCKING PLATE SMALL 58MM LEFT AS:APLUS 1202-0800-01 50000 7c

84-A03-228002 CALCANEUS LOCKING PLATE MEDIUM 64.5MM LEFT AS:APLUS 1202-0800-02 50000 e

84-A03-228003 CALCANEUS LOCKING PLATE LARGE 71.5MM LEFT AS:APLUS 1202-0800-03 50000 A

84-A03-228101 CALCANEUS LOCKING PLATE SMALL 58MM RIGHT AS:APLUS 1202-0801-01 50000 7¢

84-A03-228102 CALCANEUS LOCKING PLATE MEDIUM 64.5MM RIGHT AS:APLUS 1202-0801-02 50000 e

84-A03-228103 CALCANEUS LOCKING PLATE LARGE 71.5MM RIGHT AS:APLUS 1202-0801-03 50000 7¢

84-A03-228604 LCP LOCKING COMPRESSION PLATE 4HX59MM AS:APLUS 0202-0806-04 37600 A

84-A03-228606 LCP LOCKING COMPRESSION PLATE 6HX85MM AS:APLUS 0202-0806-06 37600 7c

84-A03-228608 LCP LOCKING COMPRESSION PLATE 8HX111MM AS:APLUS 0202-0806-08 37600 A

84-A03-228610 LCP LOCKING COMPRESSION PLATE 10HX137MM AS:APLUS 0202-0806-10 37600 7¢

84-A03-228612 LCP LOCKING COMPRESSION PLATE 12HX163MM AS:APLUS 0202-0806-12 37600 A

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 26




VARER/RESAAERMUIAZRHBERERURRE-HH &R

DISTAL HUMERAL POSERIOR LOCKING PLATE LEFT 4HX103MM AS:APLUS

84-A03-250004 0215-0000-04 54900 P
DISTAL HUMERAL POSERIOR LOCKING PLATE LEFT SHXI1SMM AS:APLUS

84-A03-250005 0215-0000-05 54900 P
DISTAL HUMERAL POSERIOR LOCKING PLATE LEFT GHX144MM AS:APLUS

84-A03-250006 0215-0000-06 54900 P
DISTAL HUMERAL POSERIOR LOCKING PLATE RIGHT 4HX103MM AS:APLUS

84-A03-250104 0215-0001-04 54900 P
DISTAL HUMERAL POSERIOR LOCKING PLATE RIGHT SHXI1SMM AS:APLUS

84-A03-250105 0215-0001-05 54900 P
DISTAL HUMERAL POSERIOR LOCKING PLATE RIGHT GHX144MM AS:APLUS

84-A03-250106 0215-0001-06 54900 P

84-A03-410602 DISTAL RADIAL MEDIAL LOCKING PLATE 2HX52MM AS:APLUS 0401-0006-02 41000 Y

84-A03-410604 DISTAL RADIAL MEDIAL LOCKING PLATE 4HX74MM AS:APLUS 0401-0006-04 41000 ¢

84-A03-410606 DISTAL RADIAL MEDIAL LOCKING PLATE 6HX96MM AS:APLUS 0401-0006-06 41000 Y
FEMORAL DISTAL LATERAL LOCKING PLATE LEFT 6HX172MM AS:APLUS 0502-

84-A03-520006 0000-06 55200 Y
FEMORAL DISTAL LATERAL LOCKING PLATE LEFT SHX204MM AS:APLUS 0502-

84-A03-520008 0000-08 55200 Y
FEMORAL DISTAL LATERAL LOCKING PLATE LEFT 10HX236MM AS:APLUS

84-A03-520010 0502-0000-10 55200 Y
FEMORAL DISTAL LATERAL LOCKING PLATE LEFT 12HX268MM AS:APLUS

84-A03-520012 0502-0000-12 55200 Y
FEMORAL DISTAL LATERAL LOCKING PLATE LEFT 14HX300MM AS:APLUS

84-A03-520014 0502-0000-14 55200 Y
FEMORAL DISTAL LATERAL LOCKING PLATE LEFT 16HX332MM AS:APLUS

84-A03-520016 0502-0000-16 55200 Y
FEMORAL DISTAL LATERAL LOCKING PLATE RIGHT 6HX172MM AS:APLUS

84-A03-520106 0502-0001-06 55200 Y
FEMORAL DISTAL LATERAL LOCKING PLATE RIGHT SHX204MM AS:APLUS

84-A03-520108 0502-0001-08 55200 Y
FEMORAL DISTAL LATERAL LOCKING PLATE RIGHT 10HX236MM AS:APLUS

84-A03-520110 0502-0001-10 55200 Y
FEMORAL DISTAL LATERAL LOCKING PLATE RIGHT 12HX268MM AS:APLUS

84-A03-520112 0502-0001-12 55200 Y
FEMORAL DISTAL LATERAL LOCKING PLATE RIGHT 14HX300MM AS:APLUS

84-A03-520114 0502-0001-14 55200 Y
FEMORAL DISTAL LATERAL LOCKING PLATE RIGHT 16HX332MM AS:APLUS

84-A03-520116 0502-0001-16 55200 Y
DISTAL TIBIAL MEDIAL LOCKING PLATE LEFT 4X123MM AS:APLUS 0701-

84-A03-710004 0000-04 55200 Y
DISTAL TIBIAL MEDIAL LOCKING PLATE LEFT 6HX151MM AS:APLUS 0701-

84-A03-710006 0000-06 55200 Y
DISTAL TIBIAL MEDIAL LOCKING PLATE LEFT SHX179MM AS:APLUS 0701-

84-A03-710008 0000-08 55200 Y
DISTAL TIBIAL MEDIAL LOCKING PLATE LEFT 100X207MM AS:APLUS 0701-

84-A03-710010 0000-10 55200 Y
DISTAL TIBIAL MEDIAL LOCKING PLATE LEFT 120X235MM AS:APLUS 0701-

84-A03-710012 0000-12 55200 Y
DISTAL TIBIAL MEDIAL LOCKING PLATE RIGHT 4TX123MM AS:APLUS 0701-

84-A03-710104 0001-04 55200 Y
DISTAL TIBIAL MEDIAL LOCKING PLATE RIGHT 6HX151MM AS:APLUS 0701-

84-A03-710106 0001-06 55200 Y
DISTAL TIBIAL MEDIAL LOCKING PLATE RIGHT SHX179MM AS:APLUS 0701-

84-A03-710108 0001-08 55200 Y
DISTAL TIBIAL MEDIAL LOCKING PLATE RIGHT 10HX207MM AS:APLUS 0701-

84-A03-710110 0001-10 55200 Y
DISTAL TIBIAL MEDIAL LOCKING PLATE RIGHT 120X235MM AS:APLUS 0701-

84-A03-710112 0001-12 55200 Y
PROXIMAL TIBIAL MEDIAL LOCKING PLATE LEFT 40X 126MM AS-APLUS 0701-

84-A03-711004 0100-04 55200 Y
PROXIMAL TIBIAL MEDIAL LOCKING PLATE LEFT 6HX158MM AS-APLUS 0701-

84-A03-711006 0100-06 55200 Y
PROXIMAL TIBIAL MEDIAL LOCKING PLATE LEFT SHXI90MM AS-APLUS 0701-

84-A03-711008 0100-08 55200 Y
PROXIMAL TIBIAL MEDIAL LOCKING PLATE LEFT 10HX222MM AS:APLUS 0701-

84-A03-711010 0100-10 55200 Y
PROXIMAL TIBIAL MEDIAL LOCKING PLATE LEFT 12HX254MM AS:APLUS 0701-

84-A03-711012 0100-12 55200 Y
PROXIMAL TIBIAL MEDIAL LOCKING PLATE LEFT 14TX286MM AS:APLUS 0701-

84-A03-711014 0100-14 55200 Y
PROXIMAL TIBIAL MEDIAL LOCKING PLATE RIGHT 4HX126MM AS:APLUS

84-A03-711104 0701-0101-04 55200 Y
PROXIMAL TIBIAL MEDIAL LOCKING PLATE RIGHT 6HX158MM AS:APLUS

84-A03-711106 0701-0101-06 55200 Y
PROXIMAL TIBIAL MEDIAL LOCKING PLATE RIGHT SHXI90MM AS:APLUS

84-A03-711108 0701-0101-08 55200 Y
PROXIMAL TIBIAL MEDIAL LOCKING PLATE RIGHT 10HX222MM AS:APLUS

84-A03-711110 0701-0101-10 55200 Y
PROXIMAL TIBIAL MEDIAL LOCKING PLATE RIGHT 12HX254MM AS:APLUS

84-A03-711112 0701-0101-12 55200 Y
PROXIMAL TIBIAL MEDIAL LOCKING PLATE RIGHT 14TX286MM AS:APLUS

84-A03-711114 0701-0101-14 55200 Y

84-A03-720004 DISTAL TIBIAL LOCKING PLATE 4HX112MM LEFT AS:APLUS (702-0000-04 55200 ¢

84-A03-720006 DISTAL TIBIAL LOCKING PLATE 6HX144MM LEFT AS:APLUS 0702-0000-06 55200 Y

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 27




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-A03-720008 DISTAL TIBIAL LOCKING PLATE 8HX176MM LEFT AS:APLUS 0702-0000-08 55200 ¥
84-A03-720010 DISTAL TIBIAL LOCKING PLATE 10HX208MM LEFT AS:APLUS 0702-0000-10 55200 7
84-A03-720012 DISTAL TIBIAL LOCKING PLATE 12HX240MM LEFT AS:APLUS 0702-0000-12 55200 ¥
84-A03-720104 DISTAL TIBIAL LOCKING PLATE 4HX112MM RIGHT AS:APLUS 0702-0001-04 55200 7
84-A03-720106 DISTAL TIBIAL LOCKING PLATE 6HX144MM RIGHT AS:APLUS 0702-0001-06 55200 ¥
84-A03-720108 DISTAL TIBIAL LOCKING PLATE 8HX176MM RIGHT AS:APLUS 0702-0001-08 55200 7
84-A03-720110 DISTAL TIBIAL LOCKING PLATE 10HX208MM RIGHT AS:APLUS 0702-0001-10 55200 ¥
84-A03-720112 DISTAL TIBIAL LOCKING PLATE 12HX240MM RIGHT AS:APLUS 0702-0001-12 55200 7
PROXIMAL TIBIAL MEDIAL LOCKING PLATE LEFT 4HX130MM AS:APLUS 0702-
84-A03-721004 0100-04 55200 ¥
PROXIMAL TIBIAL MEDIAL LOCKING PLATE LEFT 6HX162MM AS:APLUS 0702-
84-A03-721006 0100-06 55200 ¥
PROXIMAL TIBIAL MEDIAL LOCKING PLATE LEFT SHX194MM AS:APLUS 0702-
84-A03-721008 0100-08 55200 ¥
PROXIMAL TIBIAL MEDIAL LOCKING PLATE LEFT I0HX226MM AS:APLUS 0702-
84-A03-721010 0100-10 55200 ¥
PROXIMAL TIBIAL MEDIAL LOCKING PLATE LEFT 12HX258MM AS:APLUS 0702-
84-A03-721012 0100-12 55200 ¥
PROXIMAL TIBIAL MEDIAL LOCKING PLATE LEFT 14HX290MM AS:APLUS 0702-
84-A03-721014 0100-14 55200 ¥
PROXIMAL TIBIAL MEDIAL LOCKING PLATE RIGHT 4HX130MM AS:APLUS
84-A03-721104 0702-0101-04 55200 ¥
PROXIMAL TIBIAL MEDIAL LOCKING PLATE RIGHT 6HX162MM AS:APLUS
84-A03-721106 0702-0101-06 55200 ¥
PROXIMAL TIBIAL MEDIAL LOCKING PLATE RIGHT SHX194MM AS:APLUS
84-A03-721108 0702-0101-08 55200 ¥
PROXIMAL TIBIAL MEDIAL LOCKING PLATE RIGHT I0HX226MM AS:APLUS
84-A03-721110 0702-0101-10 55200 ¥
PROXIMAL TIBIAL MEDIAL LOCKING PLATE RIGHT 12HX258MM AS:APLUS
84-A03-721112 0702-0101-12 55200 ¥
PROXIMAL TIBIAL MEDIAL LOCKING PLATE RIGHT 14HX200MM AS:APLUS
84-A03-721114 0702-0101-14 55200 ¥
84-A06-00399L FEMUR INTERLOCKING NAIL ®9MMX360MM LEFT AS:SYNTEC S880039-9L 9300
84-A06-00399R FEMUR INTERLOCKING NAIL ®9MMX360MM RIGHT AS:SYNTEC S880039-9R 9300
84-A06-00409L FEMUR INTERLOCKING NAIL ®9MMX380MM LEFT AS:SYNTEC S830040-9L 9300
84-A06-00409R FEMUR INTERLOCKING NAIL ®9MMX380MM RIGHT AS:SYNTEC S880040-9R 9300
84-A06-510107 TIBIAL DISTAL TIBAL BONE PLATE 122MM 7 HOLES RIGHT AS:SYNTEC 510107 11400
84-A06-510109 TIBIAL DISTAL TIBAL BONE PLATE 158MM 9 HOLES RIGHT AS:SYNTEC 510109 12520
84-A06-510111 "STAINLESS ANATOMICAL PLATE (TIBIAL.FEMUR,FIBULAR) 11H" 12520
84-A06-510127 "STAINLESS ANATOMICAL PLATE (TIBIAL FEMUR,FIBULAR) 7H" 12520
84-A06-510129 TIBIAL DISTAL TIBAL BONE PLATE 158MM 9 HOLES LEFT AS:SYNTEC 510129 11400
84-A06-510131 TIBIAL DISTAL TIBAL BONE PLATE 194MM 11 HOLES LEFT AS:SYNTEC 510131 11400
FIBULAR DISTAL TIBAL BONE PLATE 122MM 7 HOLES RIGHT AS:SYNTEC
84-A06-510147 510147 11400
FIBULAR DISTAL TIBAL BONE PLATE 158MM 9 HOLES RIGHT AS:SYNTEC
84-A06-510149 510149 11400
FIBULAR DISTAL TIBAL BONE PLATE 104MM 11 HOLES RIGHT AS:SYNTEC
84-A06-510151 510151 11400
84-A06-510167 FIBULAR DISTAL TIBAL BONE PLATE 122MM 7 HOLES LEFT AS:SYNTEC 510167 11400
84-A06-510169 FIBULAR DISTAL TIBAL BONE PLATE 158MM 9 HOLES LEFT AS:SYNTEC 510169 11400
FIBULAR DISTAL TIBAL BONE PLATE 194MM 11 HOLES LEFT AS:SYNTEC
84-A06-510171 510171 11400
LATERAL PROXIMAL TIBAL BONE PLATE 122MM 7 HOLES RIGHT AS:SYNTEC
84-A06-510207 510207 11400
LATERAL PROXIMAL TIBAL BONE PLATE 158MM 9 HOLES RIGHT AS:SYNTEC
84-A06-510209 510209 11400
LATERAL PROXIMAL TIBAL BONE PLATE 194MM 11 HOLES RIGHT AS:SYNTEC
84-A06-510211 510211 11400
LATERAL PROXIMAL TIBAL BONE PLATE 122MM 7 HOLES LEFT AS:SYNTEC
84-A06-510227 510027 11400
LATERAL PROXIMAL TIBAL BONE PLATE 158MM 9 HOLES LEFT AS:SYNTEC
84-A06-510229 510229 11400
LATERAL PROXIMAL TIBAL BONE PLATE 194MM 11 HOLES LEFT AS:SYNTEC
84-A06-510231 510231 11400
MEDIA PROXIMAL TIBAL BONE PLATE 122MM 7 HOLES RIGHT AS:SYNTEC
84-A06-510247 510047 11400
MEDIA PROXIMAL TIBAL BONE PLATE 158MM 9 HOLES RIGHT AS:SYNTEC
84-A06-510249 510249 11400
MEDIA PROXIMAL TIBAL BONE PLATE 194MM 11 HOLES RIGHT AS:SYNTEC
84-A06-510251 510251 11400
MEDIA PROXIMAL TIBAL BONE PLATE 122MM 7 HOLES LEFT AS:SYNTEC
84-A06-510267 510267 11400
MEDIA PROXIMAL TIBAL BONE PLATE 158MM 9 HOLES LEFT AS:SYNTEC
84-A06-510269 510269 11400
MEDIA PROXIMAL TIBAL BONE PLATE 194MM 11 HOLES LEFT AS:SYNTEC
84-A06-510271 510271 11400

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 28




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-A06-510307 DISTAL FEMUR BONE PLATE 122MM 7 HOLES RIGHT AS:SYNTEC 510307 11400
84-A06-510309 DISTAL FEMUR BONE PLATE 158MM 9 HOLES RIGHT AS:SYNTEC 510309 11400
84-A06-510311 DISTAL FEMUR BONE PLATE 194MM 11 HOLES RIGHT AS:SYNTEC 510311 11400
84-A06-510327 DISTAL FEMUR BONE PLATE 122MM 7 HOLES LEFT AS:SYNTEC 510327 11400
84-A06-510329 DISTAL FEMUR BONE PLATE 158MM 9 HOLES LEFT AS:SYNTEC 510329 11400
84-A06-510331 DISTAL FEMUR BONE PLATE 194MM 11 HOLES LEFT AS:SYNTEC 510331 11400
84-A06-80035L FEMUR INTERLOCKING NAIL ®9MMX280MM LEFT AS:SYNTEC S880035L 9300,
84-A06-80035R FEMUR INTERLOCKING NAIL ®9MMX280MM RIGHT AS:SYNTEC S880035R 9300
84-A06-80036L FEMUR INTERLOCKING NAIL ®9MMX300MM LEFT AS:SYNTEC S880036L 9300,
84-A06-80036R FEMUR INTERLOCKING NAIL ®9MMX300MM RIGHT AS:SYNTEC S880036R 9300
84-A06-80037L FEMUR INTERLOCKING NAIL ®9MMX320MM LEFT AS:SYNTEC S880037L 9300,
84-A06-80037R. FEMUR INTERLOCKING NAIL ®9MMX320MM RIGHT AS:SYNTEC S880037R 9300
84-A06-80038L FEMUR INTERLOCKING NAIL ®9MMX340MM LEFT AS:SYNTEC S880038L 9300,
84-A06-80038R. FEMUR INTERLOCKING NAIL ®IMMX340MM RIGHT AS:SYNTEC S880038R 9300
84-A06-80040L FEMUR INTERLOCKING NAIL @ 10MMX340MM LEFT AS:SYNTEC S880040L 9300,
84-A06-80040R FEMUR INTERLOCKING NAIL ®10MMX340MM RIGHT AS:SYNTEC S880040R 9300
84-A06-80041L FEMUR INTERLOCKING NAIL @ 10MMX360MM LEFT AS:SYNTEC S880041L 9300,
84-A06-80041R FEMUR INTERLOCKING NAIL ®10MMX360MM RIGHT AS:SYNTEC S880041R 9300
84-A06-80042L FEMUR INTERLOCKING NAIL @ 10MMX380MM LEFT AS:SYNTEC S880042L 9300,
84-A06-80042R FEMUR INTERLOCKING NAIL ®10MMX380MM RIGHT AS:SYNTEC S880042R 9300
84-A06-80043L FEMUR INTERLOCKING NAIL @ 10MMX400MM LEFT AS:SYNTEC S880043L 9300,
84-A06-80043R FEMUR INTERLOCKING NAIL ®10MMX400MM RIGHT AS:SYNTEC S880043R 9300
84-A06-80044L FEMUR INTERLOCKING NAIL @ 10MMX420MM LEFT AS:SYNTEC S880044L 9300,
84-A06-80044R FEMUR INTERLOCKING NAIL ®10MMX420MM RIGHT AS:SYNTEC S880044R 9300
84-A06-80046L FEMUR INTERLOCKING NAIL @ 11MMX340MM LEFT AS:SYNTEC S880046L 9300,
84-A06-80046R FEMUR INTERLOCKING NAIL ®11MMX340MM RIGHT AS:SYNTEC S880046R 9300
84-A06-80047L FEMUR INTERLOCKING NAIL @ 11MMX360MM LEFT AS:SYNTEC S880047L 9300,
84-A06-80047R FEMUR INTERLOCKING NAIL ®11MMX360MM RIGHT AS:SYNTEC S880047R 9300
84-A06-80048L FEMUR INTERLOCKING NAIL @ 11MMX380MM LEFT AS:SYNTEC S880048L 9300,
84-A06-80048R FEMUR INTERLOCKING NAIL ®11MMX380MM RIGHT AS:SYNTEC S880048R 9300
84-A06-80049L FEMUR INTERLOCKING NAIL @ 11MMX400MM LEFT AS:SYNTEC S880049L 9300,
84-A06-80049R FEMUR INTERLOCKING NAIL ®11MMX400MM RIGHT AS:SYNTEC S880049R 9300
84-A06-80050L FEMUR INTERLOCKING NAIL @ 11MMX420MM LEFT AS:SYNTEC S880050L 9300,
84-A06-80050R FEMUR INTERLOCKING NAIL ®11MMX420MM RIGHT AS:SYNTEC S880050R 9300
84-A06-80053L FEMUR INTERLOCKING NAIL @ 12MMX360MM LEFT AS:SYNTEC S880053L 9300,
84-A06-80053R. FEMUR INTERLOCKING NAIL @ 12MMX360MM RIGHT AS:SYNTEC S880053R 9300
84-A06-80054L FEMUR INTERLOCKING NAIL @ 12MMX380MM LEFT AS:SYNTEC S880054L 9300,
84-A06-80054R FEMUR INTERLOCKING NAIL ®12MMX380MM RIGHT AS:SYNTEC S880054R 9300
84-A06-80055L FEMUR INTERLOCKING NAIL @ 12MMX400MM LEFT AS:SYNTEC S880055L 9300,
84-A06-80055R FEMUR INTERLOCKING NAIL @ 12MMX400MM RIGHT AS:SYNTEC S880055R 9300
84-A06-80056L FEMUR INTERLOCKING NAIL @ 12MMX420MM LEFT AS:SYNTEC S880056L 9300,
84-A06-80056R FEMUR INTERLOCKING NAIL ®12MMX420MM RIGHT AS:SYNTEC S880056R 9300
84-A06-80057L FEMUR INTERLOCKING NAIL @ 12MMX440MM LEFT AS:SYNTEC S880057L 9300,
84-A06-80057R. FEMUR INTERLOCKING NAIL @ 12MMX440MM RIGHT AS:SYNTEC S880057R 9300
84-A06-880060 FEMUR END CAP @ 13MMX15MM AS:SYNTEC S880060 0
84-A06-880061 FEMUR LOCKING SCREW @ 5.0MMX30MM AS:SYNTEC S880061 944
84-A06-880062 FEMUR LOCKING SCREW @ 5.0MMX35MM AS:SYNTEC S880062 944
84-A06-880063 FEMUR LOCKING SCREW ®5.0MMX40MM AS:SYNTEC S880063 944
84-A06-880064 FEMUR LOCKING SCREW @ 5.0MMX45MM AS:SYNTEC S880064 944
84-A06-880065 FEMUR LOCKING SCREW ®5.0MMXSOMM AS:SYNTEC S880065 944
84-A06-880066 FEMUR LOCKING SCREW @ 5.0MMXS5MM AS:SYNTEC S880066 944
84-A06-880067 FEMUR LOCKING SCREW ®5.0MMX60MM AS:SYNTEC S880067 944
84-A06-880068 FEMUR LOCKING SCREW @ 5.0MMX65MM AS:SYNTEC S880068 944
84-A06-880069 FEMUR LOCKING SCREW ®5.0MMX70MM AS:SYNTEC S880069 944
84-A06-880070 FEMUR LOCKING SCREW @ 5.0MMX75MM AS:SYNTEC S880070 944
84-A06-880071 FEMUR LOCKING SCREW @ 5.0MMX80MM AS:SYNTEC S880071 944
84-A06-880072 FEMUR LOCKING SCREW @ 5.0MMX85MM AS:SYNTEC S880072 944
84-A06-880081 FEMUR LOCKING SCREW ® 6.3MMX70MM AS:SYNTEC S880081 944
84-A06-880082 FEMUR LOCKING SCREW @ 6.3MMX75MM AS:SYNTEC S880082 944
84-A06-880083 FEMUR LOCKING SCREW ® 6.3MMX80MM AS:SYNTEC S880083 944
84-A06-880084 FEMUR LOCKING SCREW @ 6.3MMX85MM AS:SYNTEC S880084 944
84-A06-880085 FEMUR LOCKING SCREW ® 6.3MMX90MM AS:SYNTEC S880085 944
84-A06-880086 FEMUR LOCKING SCREW @ 6.3MMX95MM AS:SYNTEC S880086 944
84-A06-880087 FEMUR LOCKING SCREW ® 6.3MMX100MM AS:SYNTEC S880087 944
84-A06-880088 FEMUR LOCKING SCREW @ 6.3MMX105SMM AS:SYNTEC S880088 944
84-A06-880089 FEMUR LOCKING SCREW ®6.3MMX110MM AS:SYNTEC S880089 944
84-A06-880100 TIBIA INTERLOCKING NAIL ®9MMX270MM AS:SYNTEC S880100 9300,
84-A06-880101 TIBIA INTERLOCKING NAIL ®9MMX285MM AS:SYNTEC S880101 9300
84-A06-880102 TIBIA INTERLOCKING NAIL ®9MMX300MM AS:SYNTEC S880102 9300,
84-A06-880103 TIBIA INTERLOCKING NAIL ®9MMX315MM AS:SYNTEC S880103 9300
84-A06-880104 TIBIA INTERLOCKING NAIL ®9MMX330MM AS:SYNTEC S880104 9300,
84-A06-880106 TIBIA INTERLOCKING NAIL ® 10MMX270MM AS:SYNTEC S880106 9300

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 29




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-A06-880107

TIBIA INTERLOCKING NAIL @ 10MMX285MM AS:SYNTEC S880107

9300,

84-A06-880108 TIBIA INTERLOCKING NAIL ® 10MMX300MM AS:SYNTEC S880108 9300
84-A06-880109 TIBIA INTERLOCKING NAIL @ 10MMX315MM AS:SYNTEC S880109 9300
84-A06-880110 TIBIA INTERLOCKING NAIL ® 10MMX330MM AS:SYNTEC S880110 9300
84-A06-880111 TIBIA INTERLOCKING NAIL @ 10MMX345MM AS:SYNTEC S880111 9300
84-A06-880112 TIBIA INTERLOCKING NAIL @ 1IMMX270MM AS:SYNTEC S880112 9300
84-A06-880113 TIBIA INTERLOCKING NAIL @ 1IMMX285MM AS:SYNTEC S880113 9300
84-A06-880114 TIBIA INTERLOCKING NAIL @ 11IMMX300MM AS:SYNTEC S880114 9300
84-A06-880115 TIBIA INTERLOCKING NAIL @ 1IMMX315MM AS:SYNTEC S880115 9300
84-A06-880116 TIBIA INTERLOCKING NAIL @ 1IMMX330MM AS:SYNTEC S880116 9300
84-A06-880117 TIBIA INTERLOCKING NAIL @ 1IMMX345MM AS:SYNTEC S880117 9300
84-A06-880120 TIBIA END CAP ®8.4MMX15MM AS:SYNTEC S880120 0
84-A07-011126 FEMORAL HEAD 26MM SIZE:STANDARD AS:UNITED 1201-1126 5866
84-A07-011128 FEMORAL HEAD 28MM SIZE:STANDARD AS:UNITED 1201-1128 5866
84-A07-011428 FEMORAL HEAD 28MM SIZE:+SMM LONG AS:UNITED 1201-1428 5866
84-A07-041023 BIPOLAR U2 STEM SIZE:2 LENGTH:13.3CM DIA:10.0MM AS:UNITED 1104-1023 27000
84-A07-041024 BIPOLAR U2 STEM SIZE:2 LENGTH:13.8CM DIA:11.0MM AS:UNITED 1104-1024 27000
84-A07-041034 BIPOLAR U2 STEM SIZE:3 LENGTH:13.8CM DIA:11.0MM AS:UNITED 1104-1034 27000
84-A09-000D10  |PIN HOLDER CLAMP WITH ONE DIA 8MM ROD AS:TRAUMA-FIX H-10 1050
84-A09-000D11 PIN HOLDER CLAMP WITH TWO DIA 8MM ROD AS:TRAUMA-FIX H-11 1050
84-A09-000D13  |ARTICULATION COUPLING D88 495
84-A09-000D18  |CONNECTING ROD D18 180
84-A09-001D18  |CONNECTING ROD 250MM AS:TRAUMAFIX D-18 180
84-A09-002D18  |CONNECTING ROD 300MM AS:TRAUMAFIX D-18 180
84-A09-SF3011 HALL PIN 03X110MM 825
84-A09-SF3033 HALF PIN 04 150X50MM SF3033 880
84-A09-SF3034 HOFEMAN ESF HALF PIN 4X180MM AS:TRAUMA-FIX TF-4018 880
84-A09-SF3061 FULL PIN 04-5 250MM SF3061 1800
84-A09-SF3062 FULL PIN 04-5 300MM SF3062 1800
84-A09-SF3091 HOFFMAN ESF HALF PIN 4-5X150MM AS:TRAUMA-FIX TF-4515 1613
84-A09-SF3092 HALEF PIN 04-5 180MM SF3092 1613
84-A12-420101 MILLER/GALANTE UNI-KNEE PRECOAT TIBIAL #1 LEFT AS:ZIMMER 5842-01-01 19950
MILLER/GALANTE UNLKNEE PRECOAT TIBIAL #3 RIGHT AS:ZIMMER 5842-03-
84-A12-420302 0 19950
MILLER/GALANTE UNI-KNEE PRECOAT FEMORAL #B LEFT AS:ZIMMER 5842-
84-A12-421201 12-01 31500
MILLER/GALANTE UNI-KNEE PRECOAT FEMORAL #D RIGHT AS:ZIMMER 5842-
84-A12-421402 14-02 31500
MILLER/GALANTE UNI-KNEE TIBIAL INSERT SURFACE 1-8MM_AS:ZIMMER
84-A12-422108 5842-21-08 9450
MILLER/GALANTE UNI-KNEE TIBIAL INSERT SURFACE 3-12MM _AS:ZIMMER
84-A12-422312 5842-23-12 9450
84-A14-17008E 1.7MM LOCKING SCREW 8MM AS:STRYKER 53-17008E 2275 %
84-A14-17009E 1.7MM LOCKING SCREW 9MM AS:STRYKER 53-17009E 2275 %
84-A14-17012E 1.7MM LOCKING SCREW 12MM AS:STRYKER 53-17012E 275 %
84-A14-17014E 1.7MM LOCKING SCREW 14MM AS:STRYKER 53-17014E 2275 %
T.JMM S VARIAX HAND LOCKING PLATE 10 HOLE NARROW T-PLATE
84-A14-710310 AS:STRYKER 57-10310 38350 ¥
TOTAL HIP TRANSCEND 36MM CERAMIC FEMORAL HEAD -3.5MM NECK
84-A17-000010 AS:MICROPORT 2600-0010 2764023070
TOTAL HIP TRANSCEND 36MM CERAMIC FEMORAL HEAD +OMM NECK
84-A17-000011 AS:MICROPORT 2600-0011 27640]23070
TOTAL HIP TRANSCEND 36MM CERAMIC FEMORAL HEAD +3.5MM NECK
84-A17-000012 AS:MICROPORT 2600-0012 2764023070
84-A17-000038 BIPOLAR HIP CUP 38MM AS:MICROPORT 1700-0038 7500
84-A17-000039 BIPOLAR HIP CUP 39MM AS:MICROPORT 1700-0039 7500
84-A17-000040 BIPOLAR HIP CUP 40MM AS:MICROPORT 1700-0040 7500
84-A17-000041 BIPOLAR HIP CUP 41MM AS:MICROPORT 1700-0041 7500
84-A17-000042 BIPOLAR HIP CUP 42MM AS:MICROPORT 1700-0042 7500
84-A17-000043 BIPOLAR HIP CUP 43MM AS:MICROPORT 1700-0043 7500
84-A17-000044 BIPOLAR HIP CUP 44MM AS:MICROPORT 1700-0044 7500
84-A17-000045 BIPOLAR HIP CUP 45MM AS:MICROPORT 1700-0045 7500
84-A17-000046 BIPOLAR HIP CUP 46MM AS:MICROPORT 1700-0046 7500
84-A17-000047 BIPOLAR HIP CUP 47MM AS:MICROPORT 1700-0047 7500
84-A17-000048 BIPOLAR HIP CUP 48MM AS:MICROPORT 1700-0048 7500
84-A17-000049 BIPOLAR HIP CUP 49MM AS:MICROPORT 1700-0049 7500
84-A17-000050 BIPOLAR HIP CUP S0MM AS:MICROPORT 1700-0050 7500
84-A17-000051 BIPOLAR HIP CUP 5IMM AS:MICROPORT 1700-0051 7500
84-A17-000052 BIPOLAR HIP CUP 52MM AS:MICROPORT 1700-0052 7500
84-A17-000053 BIPOLAR HIP CUP 53MM AS:MICROPORT 1700-0053 7500
84-A17-000054 BIPOLAR HIP CUP 54MM AS:MICROPORT 1700-0054 7500
84-A17-000055 BIPOLAR HIP CUP 55MM AS:MICROPORT 1700-0055 7500

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 30




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-A17-000056_ |BIPOLAR HIP CUP S6MM AS:MICROPORT 1700-0056 7500
84-A17-000058  |BIPOLAR HIP CUP S8MM AS:MICROPORT 1700-0058 7500
84-A17-000060  |BIPOLAR HIP CUP 60MM AS:MICROPORT 1700-0060 7500
84-A17-000061 __|BIPOLAR HIP CUP 61MM AS:MICROPORT 1700-0061 7500
B4-A17-000104 | A TR 4.8MM 50 6100
BONE GRAFT-CALTRIX (RESORBABLE BONE VOID FRLLER) 3ML AS:FORMOSA
84-A17-000106  |FBMCAL-03 4388
BONE GRAFT-CALTRIX P-I (RESORBABLE BONE VOID FILLER) SML
84-A17-000205  |AS:FORMOSA FBMAGR-05 5741
84-A17-001202  |REVISION TOTAL HIP NECK NEUTRAL SHORT AS:MICROPORT PHA-01202 0
84-A17-001232  |REVISION TOTAL HIP NECK 8DG A/R SHORT AS:MICROPORT PHA-01232 0
84-A17-002200  |BIPOLAR HIP CUP INSERT 38-40MM AS:MICROPORT 1700-2200 3900
84-A17-002802  |BIPOLAR HIP CUP INSERT 41-44MM AS:MICROPORT 1700-2802 3900
84-A17-002804  |BIPOLAR HIP CUP INSERT 45-47MM AS:MICROPORT 1700-2804 3900
84-A17-002806  |BIPOLAR HIP CUP INSERT 48-SOMM AS:MICROPORT 1700-2806 3900
84-A17-002808  |BIPOLAR HIP CUP INSERT 51-56MM AS:MICROPORT 1700-2808 3900
84-A17-002810  |BIPOLAR HIP CUP INSERT 57-S9MM AS:MICROPORT 1700-2810 3900
84-A17-002812  |BIPOLAR HIP CUP INSERT 60-62MM AS:MICROPORT 1700-2812 3900
84-A17-002846  |TOTAL HIP TRANSCEND CERAMIC LINER ID:28MM AS:MICROPORT 7100-2846 33200/28981
TOTAL HIP TRANSCEND CERAMIC LINER 28MM 52-56MM AS:MICROPORT 7200-
84-A17-002852  |2852 33200/28981
TOTAL HIP TRANSCEND CERAMIC LINER 28MM 58-62MM AS:MICROPORT 7300-
84-A17-002858  |2858 33200/28981
84-A17-003046 |HIP CUP 46MM AS:MICROPORT 3643-0046 10900
84-A17-003048  |HIP CUP 48MM AS:MICROPORT 3643-0048 10900
84-A17-003052_|HIP CUP 52MM AS:MICROPORT 3643-0052 10900
84-A17-003054 __|HIP CUP 54MM AS:MICROPORT 3643-0054 10900
84-A17-003056 _|HIP CUP S60MM AS:MICROPORT 3643-0056 10900
84-A17-003060 _ |HIP CUP 60MM AS:MICROPORT 3643-0060 10900
84-A17-003062_|HIP CUP 62MM AS:MICROPORT 3643-0062 10900
84-A17-003064  |HIP CUP 64MM AS:MICROPORT 3643-0064 10900
84-A17-003150  |TOTAL HIP LINEAGE CUP SOMM AS:MICROPORT 3643-0050 10900
84-A17-003158  |[TOTAL HIP LINEAGE CUP S8MM AS:MICROPORT 36430058 10900
84-A17-003166  |[TOTAL HIP LINEAGE CUP 66MM AS:MICROPORT 3643-0066 10900
84-A17-003252  |TOTAL HIP TRANSCEND CERAMIC LINER ID:32MM AS:MICROPORT 7200-3252 33200/28981
84-A17-003258  |TOTAL HIP TRANSCEND CERAMIC LINER ID:32MM AS:MICROPORT 7300-3258 33200/28981
84-A17-003264  |TOTAL HIP TRANSCEND CERAMIC LINER ID:32MM AS:MICROPORT 7400-3264 33200/28981
TOTAL HIP TRANSCEND CERAMIC LINER 36MM 64-68MM AS:MICROPORT 7400-
84-A17-003664  |3664 33200/28981
84-A17-010002__|HIP HEAD MEDIUMX22 AS:MICROPORT 2601-0002 4570
84-A17-010003 |HIP HEAD LONGX22 AS:MICROPORT 2601-0003 4570
84-A17-010007___|HIP HEAD SHORTX32 AS:MICROPORT 2601-0007 4570
84-A17-010008  |HIP HEAD MEDIUMX32 AS:MICROPORT 2601-0008 4570
84-A17-010009  |HIP HEAD LONGX32 AS:MICROPORT 2601-0009 4570
84-A17-010010 |HIP HEAD X-LONGX32 AS:MICROPORT 2601-0010 4570
84-A17-012801 |HIP HEAD SHORTX28 AS:MICROPORT 2601-2801 4570
84-A17-012802 |HIP HEAD MEDIUMX28 AS:MICROPORT 2601-2802 4570
84-A17-012803  |HIP HEAD LONGX28 AS:MICROPORT 2601-2803 4570
84-A17-012804  |HIP HEAD X- LONGX28 AS:MICROPORT 2601-2804 4570
RESURFACE TOTAL HIP SYSTEM CONSERVE SHELL S4MM AS:MICROPORT3802-
84-A17-024854  |4854 53000
84-A17-038326  |REVISION TOTAL HIP STEM 15.0 COLLARLESS AS:MICROPORT PPW-38326 14500
84-A17-038360  |REVISION TOTAL HIP BODY SMALL AS:MICROPORT PPW-38360 43380
84-A17-080300  |BONE SCREW 6.5X15MM AS:MICROPORT 1808-0300 0
84-A17-080302 |BONE SCREW 6.5X25MM AS:MICROPORT 1808-0302 0
84-A17-080303  |BONE SCREW 6.5X30MM AS:MICROPORT 1808-0303 0
TOTAL HIP TRANSCEND 28MM CERAMIC FEMORAL HEAD -3.5MM NECK
84-A17-260004  |AS:MICROPORT 2600-0004 27640|23070
TOTAL HIP TRANSCEND 28MM CERAMIC FEMORAL HEAD +OMM NECK
84-A17-260005  |AS:MICROPORT 2600-0005 27640|23070
TOTAL HIP TRANSCEND 28MM CERAMIC FEMORAL HEAD +3.5MM NECK
84-A17-260006 |AS:MICROPORT 2600-0006 27640|23070
TOTAL HIP TRANSCEND 32MM CERAMIC FEMORAL HEAD -4MM NECK
84-A17-260007___|AS:MICROPORT 2600-0007 27640|23070
TOTAL HIP TRANSCEND 32MM CERAMIC FEMORAL HEAD +OMM NECK
84-A17-260008  |AS:MICROPORT 2600-0008 27640|23070
TOTAL HIP TRANSCEND 32MM CERAMIC FEMORAL HEAD +4MM NECK
84-A17-260009  |AS:MICROPORT 2600-0009 27640|23070
SUPER FINISH COCR FEMORAL HEAD 36MM SHORT -3.5MM AS:MICROPORT
84-A17-260025  |2600-0025 4570
SUPER FINISH COCR FEMORAL HEAD 36MM LONG +3.5MM AS:MICROPORT
84-A17-260027 _ |2600-0027 4570
84-A17-302846 |HIP CUP INSERT 46-SOMMX28N AS:MICROPORT 3645-2801 5400
84-A17-302850 |HIP CUP INSERT 52-58MMX28N AS:MICROPORT 3645-2802 5400

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 31




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-A17-302858 HIP CUP INSERT 60-66MMX28N AS:MICROPORT 3645-2803 5400
84-A17-302866 HIP CUP INSERT 68-72MMX28N AS:MICROPORT 3645-2804 5400
84-A17-303202 TOTAL HIP CUP INSERT 32MM GROUP 2 AS:MICROPORT 3645-3202 5400
84-A17-303203 TOTAL HIP CUP INSERT 32MM GROUP 3 AS:MICROPORT 3645-3203 5400
84-A17-364528 LINEAGE CUP LINER 28MM 15° GROUP 1 AS:MICROPORT 364528X1 5400
84-A17-364532 LINEAGE CUP LINER 32MM 15" GROUP 2 AS:MICROPORT 364532X2 5400
84-A17-364536 LINEAGE CUP LINER 36MM 15" GROUP 3 AS:MICROPORT 364536X3 5400
BFH TOTAL HIP SYSTEM CONSERVE A-CLASS HEAD #40 +0MM AS:MICROPORT
84-A17-384000 38AM-4000 53000
BFH TOTAL HIP SYSTEM CONSERVE A-CLASS HEAD #42 +0MM AS:-MICROPORT
84-A17-384200 38AM-4200 53000
BFH TOTAL HIP SYSTEM CONSERVE A-CLASS HEAD #42 -3.5MM
84-A17-384204 AS:MICROPORT 38AM-4204 53000
BFH TOTAL HIP SYSTEM CONSERVE A-CLASS HEAD #44 -3.5MM
84-A17-384404 AS:MICROPORT 38AM-4404 53000
BFH TOTAL HIP SYSTEM CONSERVE A-CLASS HEAD #46 +0MM AS:MICROPORT
84-A17-384600 38AM-4600 53000
BFH TOTAL HIP SYSTEM CONSERVE A-CLASS HEAD #48 +0MM AS:MICROPORT
84-A17-384800 38AM-4800 53000
BFH TOTAL HIP SYSTEM CONSERVE A-CLASS HEAD #48 +3.5MM
84-A17-384835 AS:MICROPORT 38AM-4835 53000
BFH TOTAL HIP SYSTEM CONSERVE A-CLASS HEAD #56 -3.5MM
84-A17-385604 AS:MICROPORT 38AM-5604 53000
REVISION TOTAL HIP MULTIHOLE LINEAGE CUD 56MM AS:MICROPORT 3638-
84-A17-580056 0056 10900
REVISION TOTAL HIP MULTIHOLE LINEAGE CUD 58MM AS:MICROPORT 3638-
84-A17-580058 0058 10900
OPTECURE ALLOGRAFT DEMINERALIZED BONE MATRIX ICC AS:EXACTECH
84-A17-650001 650-00-01 26000 Y
OPTECURE ALLOGRAFT DEMINERALIZED BONE MATRIX 2CC AS:EXACTECH
84-A17-650002 650-00-02 50000 Y
84-A17-870004 PRODENSE INJECTABLE GRAFT 4CC AS:WRIGHT 87SR-INO4 56000 %
84-A17-870900 HIP STEM 9.0 COLLARLESS AS:MICROPORT 3787-0900 21730
84-A17-870970 HIP STEM 9.7 COLLARLESS AS:MICROPORT 3787-0970 21730
84-A17-871050 HIP STEM 10.5 COLLARLESS AS:MICROPORT 3787-1050 21730
84-A17-871120 HIP STEM 11.2 COLLARLESS AS:MICROPORT 3787-1120 21730
84-A17-871200 HIP STEM 12.0 COLLARLESS AS:MICROPORT 3787-1200 21730
84-A17-871270 HIP STEM 12.7 COLLARLESS AS:MICROPORT 3787-1270 21730
84-A17-871350 HIP STEM 13.5 COLLARLESS AS:MICROPORT 3787-1350 21730
84-A17-871420 HIP STEM 14.2 COLLARLESS AS:MICROPORT 3787-1420 21730
84-A17-871500 HIP STEM 15.0 COLLARLESS AS:MICROPORT 3787-1500 21730
84-A17-A00232  |PROFEMUR Z STEM SIZE 1 AS:MICROPORT PHA0-0232 36000
84-A17-A00234 __ |PROFEMUR Z STEM SIZE 2 AS:MICROPORT PHA0-0234 36000
84-A17-A00236__ |PROFEMUR Z STEM SIZE 3 AS:MICROPORT PHA0-0236 36000
84-A17-A00238 _ |PROFEMUR Z STEM SIZE 4 AS:MICROPORT PHA0-0238 36000
84-A17-A00240  |PROFEMUR Z STEM SIZE 5 AS:MICROPORT PHA0-0240 36000
84-A17-A00242  |PROFEMUR Z STEM SIZE 6 AS:MICROPORT PHA(-0242 36000
ICONIX SUTURE ANCHOR 2.3MM 2 STRAND #2 FORCE FIBER AS:STRYKER
84-A18-500522 3910-500-522 21400 Y
TAN ANTEGRADE NECK ANGLE 135 LEFT 10MMX34CM AS:SMITH & NEPHEW
84-A20-637234 7163-7234 85000 Y
TAN ANTEGRADE NECK ANGLE 135 LEFT 10MMX38CM AS:SMITH & NEPHEW
84-A20-637238 7163-7238 85000 Y
TAN ANTEGRADE NECK ANGLE 135 RIGHT 11.5MMX38CM AS:SMITH &
84-A20-638338 NEPHEW 7163-8338 85000 Y
84-A20-642240 INTERNAL CAPTURED SCREW 5.0X40MM AS : SMITH & NEPHEW 71642240 0
84-A20-642255 INTERNAL CAPTURED SCREW 5.0X55MM AS : SMITH & NEPHEW 71642255 0
84-A22-292110 KIRSCHNER WIRE WITH TROCAR TIP 1L.O*280MM AS:MATHYS 292.110 84
84-A22-292130 KIRSCHNER WIRE WITH TROCAR TIP 1.25*280MM AS:MATHYS 292.130 84
84-A22-292180 KIRSCHNER WIRE WITH TROCAR TIP 1.6*280MM AS:MATHYS 292.180 84
84-A22-292190 KIRSCHNER WIRE WITH TROCAR TIP 1.8%280MM AS:MATHYS 292.190 84
84-A22-292210 KIRSCHNER WIRE WITH TROCAR TIP 2.04280MM AS:MATHYS 292210 84
84-A22-292260 KIRSCHNER WIRE WITH TROCAR TIP 2.5%280MM AS:MATHYS 292.260 84
84-A22-292310 KIRSCHNER WIRE WITH TROCAR TIP 3.04280MM AS:MATHYS 292310 84
84-A25-000D14  |ARTICULATION COUPLING D-14 520
84-A25-000S10 UNL-BAR SYSTEM PIN HOLDER CLAMP AS:TRAUMA-FIX S-10 1050
84-A25-000S11 UNLBAR SYSTEM PIN HOLDER CLAMP AS:TRAUMA-FIX $-11 1050
84-A25-000520 UNLBAR SYSTEM COLLES FOREARM FRAME AS:TRAUMA-FIX S-20 5250
84-A25-000855 UNLBAR SYSTEM ARTICULATION COUPLING 5X5MM _AS:TRAUMA-FIX S-55 480
84-A25-042000 TITANIUM TRIFIX SPINAL SYSTEM 42540
84-A25-063000 TITANIUM TRIFIX SPINAL SYSTEM 60900
84-A25-116040 TRANSPEDICULAR SCREW 6.0X40MM AS:AST 111-6040 9639
84-A25-116240 TRANSPEDICULAR SCREW 6.25X40MM AS:AST 111-6240 9639
84-A25-116245 TRANSPEDICULAR SCREW 6.25X45MM AS:AST 111-6245 9639
84-A25-116550 TRANSPEDICULAR SCREW 6.5X50MM AS:AST 111-6550 9639
84-A25-125535 FIXATION SCREW 5.5X35MM AS:AST 111-5535 9639

84-A25-125540

FIXATION SCREW 5.5X40MM AS:AST 111-5540

9639

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 32




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-A25-126040

FIXATION SCREW 6.0X40MM AS:AST 112-6040

9639

84-A25-126045 FIXATION SCREW 6.0X45MM AS:AST 112-6045 9639
SMARTLOC SPINAL FIXATION SYSTEM TRANSVERSE LINK 55MM AS:A-SPINE
84-A25-126072 161-26072 3344
84-A25-126078 TRANSVERSE LINK 5.5X13.5MM AS:A-SPINE 161-26078 7700
84-A25-126240 FIXATION SCREW 6.25X40MM AS:AST 112-6240 9639
84-A25-126245 FIXATION SCREW 6.25X45MM AS:AST 112-6245 9639
84-A25-126540 FIXATION SCREW 6.5X40MM AS:AST 1126540 9639
84-A25-126545 FIXATION SCREW 6.5X45MM AS:AST 112-6545 9639
84-A25-126550 FIXATION SCREW 6.5X50MM AS:AST 112-6550 9639
84-A25-127035 FIXATION SCREW 7.0X35MM AS:AST 112-7035 9639
84-A25-127040 FIXATION SCREW 7.0X40MM AS:AST 1127040 9639
84-A25-127045 FIXATION SCREW 7.0X45MM AS:AST 112-7045 9639
84-A25-131035 U-SHAPED SCREW 10/4/35MM AS:AST 113-1035 9639
84-A25-131040 U-SHAPED SCREW 10Jf£/40MM AS:AST 113-1040 9639
84-A25-131045 U-SHAPED SCREW 10/4/45MM AS:AST 113-1045 9639
84-A25-131050 U-SHAPED SCREW 10Jf£/50MM AS:AST 113-1050 9639
84-A25-134530 U-SHAPED SCREW 4.5X30MM AS:AST 113-4530 9639
84-A25-135035 U-SHAPED SCREW 5.0X35MM AS:AST 113-5035 9639
84-A25-135540 U-SHAPED SCREW 5.5X40MM AS:AST 113-5540 9639
84-A25-136040 U-SHAPED SCREW 6.0X40MM AS:AST 113-6040 9639
84-A25-136245 U-SHAPED SCREW 6.25X45MM AS:AST 113-6245 9639
84-A25-136250 U-SHAPED SCREW 6.25X50MM AS:AST 113-6250 9639
84-A25-136550 U-SHAPED SCREW 6.5X50MM AS:AST 113-6550 9639
84-A25-137035 U-SHAPED SCREW 7.0X35MM AS:AST 113-7035 9639
84-A25-137040 U-SHAPED SCREW 7.0X40MM AS:AST 113-7040 9639
84-A25-137045 U-SHAPED SCREW 7.0X45MM AS:AST 113-7045 9639
84-A25-137050 U-SHAPED SCREW 7.0X50MM AS:AST 113-7050 9639
SMARTLOC SPINAL FIXATION SYSTEM MONOAXIAL SCREW 6.5MM/45MM
84-A25-165452 AS:A-SPINE 131-65452 3799
SMARTLOC SPINAL FIXATION SYSTEM MONOAXIAL SCREW 6.5MM/50MM
84-A25-165502 AS:A-SPINE 131-65502 3799
84-A25-200035 SELF-LOCKING SCREW 35MM AS:AST 120-0035 9639
84-A25-200040 SELF-LOCKING SCREW 40MM AS:AST 120-0040 9639
84-A25-200045 SELF-LOCKING SCREW 45MM AS:AST 120-0045 9639
84-A25-250808 SMOOTH ROD 80MM AS:A-SPINE 132-50808 1400
84-A25-250908 SMOOTH ROD 90MM AS:A-SPINE 132-50908 1400
84-A25-251008 SMOOTH ROD 100MM AS:A-SPINE 132-51008 1400
84-A25-251108 SMOOTH ROD 110MM AS:A-SPINE 132-51108 3700
84-A25-251308 SMOOTH ROD 130MM AS:A-SPINE 132-51308 3700
84-A25-251508 SMOOTH ROD 150MM AS:A-SPINE 132-51508 3700
84-A25-251708 SMOOTH ROD 170MM AS:A-SPINE 132-51708 3700
84-A25-252008 SMOOTH ROD 200MM AS:A-SPINE 13252008 3700
84-A25-252808 SMOOTH ROD 250MM AS:A-SPINE 132-52508 3700
84-A25-253008 SMOOTH ROD 300MM AS:A-SPINE 132-53008 3700
84-A25-254008 SMOOTH ROD 400MM AS:A-SPINE 132-54008 3700
84-A25-255008 SMOOTH ROD 500MM AS:A-SPINE 132-55008 3700
84-A25-256008 SMOOTH ROD 600MM AS:A-SPINE 132-56008 3700
84-A25-256408 SMOOTH ROD 40MM AS:A-SPINE 132-56408 1400
84-A25-256458 SMOOTH ROD 45MM AS:A-SPINE 132-56458 1400
84-A25-256508 SMOOTH ROD 50MM AS:A-SPINE 132-56508 1400
84-A25-256608 SMOOTH ROD 60MM AS:A-SPINE 132-56608 1400
84-A25-256708 SMOOTH ROD 70MM AS:A-SPINE 132-56708 1400
SMARTLOC SPINAL FIXATION SYSTEM SMOOTH ROD 5.5MM/A0MM AS:A-SPINE
84-A25-260402 132-60402 864
SMARTLOC SPINAL FIXATION SYSTEM SMOOTH ROD 5.5MM/50MM AS:A-SPINE
84-A25-260502 132-60502 864
SMARTLOC SPINAL FIXATION SYSTEM SMOOTH ROD 5.5MM/60MM AS:A-SPINE
84-A25-260602 132-60602 864
SMARTLOC SPINAL FIXATION SYSTEM SMOOTH ROD 5.5MM/70MM AS:A-SPINE
84-A25-260702 132-60702 864
SMARTLOC SPINAL FIXATION SYSTEM SMOOTH ROD 5.5MM/SOMM AS:A-SPINE
84-A25-260802 132-60802 864
SMARTLOC SPINAL FIXATION SYSTEM SMOOTH ROD 5.5MM/90MM AS:A-SPINE
84-A25-260902 132-60902 864
SMARTLOC SPINAL FIXATION SYSTEM SMOOTH ROD 5.5MM/I00MM AS:A-
84-A25-261002 SPINE 132-61002 864
SMARTLOC SPINAL FIXATION SYSTEM SMOOTH ROD 5.5MM/110MM AS:A-
84-A25-261102 SPINE 132-61102 2609
SMARTLOC SPINAL FIXATION SYSTEM SMOOTH ROD 5.5MM/120MM AS:A-
84-A25-261202 SPINE 132-61202 2609
SMARTLOC SPINAL FIXATION SYSTEM SMOOTH ROD 5.5MM/130MM AS:A-
84-A25-261302 SPINE 132-61302 277
SMARTLOC SPINAL FIXATION SYSTEM SMOOTH ROD 5.5MM/150MM AS:A-
84-A25-261502 SPINE 132-61502 2609
84-A25-325040 SMOOTH ROD SHORT D:5.5MM/L:40MM AS:AST 132-5040 2268
84-A25-325050 SMOOTH ROD SHORT D:5.5MM/L:50MM AS:AST 132-5050 2268

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 33




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-A25-325060 SMOOTH ROD SHORT D:5.5MM/L:60MM AS:AST 132-5060 2268
84-A25-325070 SMOOTH ROD SHORT D:5.5MM/L:70MM AS:AST 132-5070 2268
84-A25-325080 SMOOTH ROD SHORT D:5.5MM/L:80MM AS:AST 132-5080 2268
84-A25-325090 SMOOTH ROD SHORT D:5.5MM/L:90MM AS:AST 132-5090 2268
84-A25-325100 SMOOTH ROD LONG D:5.5MM/L: 100MM AS:AST 132-5100 52164
84-A25-325110 SMOOTH ROD LONG D:5.5MM/L:110MM AS:AST 132-5110 52164
84-A25-325130 SMOOTH ROD LONG D:5.5MM/L: 130MM AS:AST 132-5130 52164
84-A25-325150 SMOOTH ROD LONG D:5.5MM/L:150MM AS:AST 132-5150 52164
84-A25-325170 SMOOTH ROD LONG D:5.5MM/L: 170MM AS:AST 1325170 52164
84-A25-325200 SMOOTH ROD LONG D:5.5MM/L:200MM AS:AST 132-5200 52164
84-A25-325250 SMOOTH ROD LONG D:5.5MM/L:250MM AS:AST 132-5250 52164
84-A25-325300 SMOOTH ROD LONG D:5.5MM/L:300MM AS:AST 132-5300 52164
84-A25-325350 SMOOTH ROD LONG D:5.5MM/L:350MM AS:AST 132-5350 52164
84-A25-325400 SMOOTH ROD LONG D:5.5SMM/L:400MM AS:AST 132-5400 52164
84-A25-395535 POLYASIAL LONG ARM SCREW 5.5X35MM AS:A-SPINE 139-5535RN 6900
84-A25-395540 POLYASIAL LONG ARM SCREW 5.5X40MM AS:A-SPINE 139-5540RN 6900
84-A25-395545 POLYASIAL LONG ARM SCREW 5.5X45MM AS:A-SPINE 139-5545RN 6900
84-A25-396040 POLYASIAL LONG ARM SCREW 6.0X40MM AS:A-SPINE 139-6040RN 6900
84-A25-396045 POLYASIAL LONG ARM SCREW 6.0X45MM AS:A-SPINE 139-6045RN 6900
84-A25-396050 POLYASIAL LONG ARM SCREW 6.0XS0MM AS:A-SPINE 139-6050RN 6900
84-A25-396540 POLYASIAL LONG ARM SCREW 6.5X40MM AS:A-SPINE 139-6540RN 6900
84-A25-396545 POLYASIAL LONG ARM SCREW 6.5X45MM AS:A-SPINE 139-6545RN 6900
84-A25-396550 POLYASIAL LONG ARM SCREW 6.5X45MM AS:A-SPINE 139-6550RN 6900
84-A25-397035 POLYASIAL LONG ARM SCREW 7.0X35MM AS:A-SPINE 139-7035RN 6900
84-A25-397040 POLYASIAL LONG ARM SCREW 7.0X40MM AS:A-SPINE 139-7040RN 6900
84-A25-397045 POLYASIAL LONG ARM SCREW 7.0X45MM AS:A-SPINE 139-7045RN 6900
84-A25-397050 POLYASIAL LONG ARM SCREW 7.0X50MM AS:A-SPINE 139-7050RN 6900
84-A25-405126 VIGOR PEEK CERVICAL DISC SAPCER (W) SMM X 12MM AS:A-SPINE 584-05126 29000
84-A25-407136 VIGOR PEEK CERVICAL DISC SAPCER (W) 7MM X 13MM AS:A-SPINE 584-07136 29000
84-A25-408146 VIGOR PEEK CERVICAL DISC SAPCER (W) $MM X 14MM AS:A-SPINE 584-08146 29000
84-A25-410056 VIGOR PEEK DISC SPACER(D) 10X24MM AS:A-SPINE 594-10056 28000
84-A25-410126 VIGOR PEEK DISC SPACER(M) 12X24MM AS:A-SPINE 594-10126 28000
84-A25-4525RN__ |POLYAXIAL SCREW 4.5X25MM AS:A-SPINE 134-4525RN 6900
84-A25-4530RN __ |POLYAXIAL SCREW 4.5X30MM AS:A-SPINE 134-4530RN 6900
84-A25-4535RN__ |POLYAXIAL SCREW 4.5X35MM AS:A-SPINE 134-4535RN 6900
84-A25-4540RN __ |POLYAXIAL SCREW 4.5X40MM AS:A-SPINE 134-4540RN 6900
SMARTLOC SPINAL FIXATION SYSTEM POLYAXIAL SCREW 5.5MM/35MM AS:A-
84-A25-45535F SPINE 134-5535F 3799
SMARTLOC SPINAL FIXATION SYSTEM POLYAXIAL SCREW 5.5MM/45MM AS:A-
84-A25-45545F SPINE 134-5545F 3799
SMARTLOC SPINAL FIXATION SYSTEM POLYAXIAL CREW 6.0MM/40MM AS:A-
84-A25-46040F SPINE 134-6040F 3799
SMARTLOC SPINAL FIXATION SYSTEM POLYAXIAL SCREW 6.0MM/45MM AS:A-
84-A25-46045F SPINE 134-6045F 3799
SMARTLOC SPINAL FIXATION SYSTEM POLYAXIAL SCREW 6.0MM/50MM AS:A-
84-A25-46050F SPINE 134-6050F 3799
SMARTLOC SPINAL FIXATION SYSTEM POLYAXIAL SCREW 6.5MM/40MM AS-A-
84-A25-46540F SPINE 134-6540F 3799
SMARTLOC SPINAL FIXATION SYSTEM POLYAXIAL SCREW 6.5MM/45MM AS:A-
84-A25-46545F SPINE 134-6545F 3799
SMARTLOC SPINAL FIXATION SYSTEM POLYAXIAL SCREW 6.5MM/50MM AS:A-
84-A25-46550F SPINE 134-6550F 3799
SMARTLOC SPINAL FIXATION SYSTEM POLYAXIAL SCREW 7.0MM/45MM AS:A-
84-A25-47045F SPINE 134-7045F 3799
SMARTLOC SPINAL FIXATION SYSTEM POLYAXIAL SCREW 7.0MM/50MM AS:A-
84-A25-47050F SPINE 134-7050F 3799
84-A25-5030RN _ |POLYAXIAL SCREW 5.0X30MM AS:A-SPINE 134-5030RN 6900
84-A25-5035RN__ |POLYAXIAL SCREW 5.0X35MM AS:A-SPINE 134-5035RN 6900
84-A25-5040RN _ |POLYAXIAL SCREW 5.0X40MM AS:A-SPINE 134-5040RN 6900
84-A25-5045RN__ |POLYAXIAL SCREW 5.0X45MM AS:A-SPINE 134-5045RN 6900
84-A25-525126 VIGOR PEEK CERVICAL DISC SAPCER (0) SMM X 12MM AS:A-SPINE 165-25126 26035
84-A25-526126 VIGOR PEEK CERVICAL DISC SAPCER (0) 6MM X 12MM AS:A-SPINE 165-26126 26035
84-A25-5535RN__ |POLYAXIAL SCREW 5.5X35MM AS:A-SPINE 134-5535RN 6900
84-A25-5540RN __ |POLYAXIAL SCREW 5.5X40MM AS:A-SPINE 134-5540RN 6900
84-A25-5545RN__ |POLYAXIAL SCREW 5.5X45MM AS:A-SPINE 134-5545RN 6900
84-A25-560106 HOOK FOR IAMINA AS:AST 156-0106 62706
84-A25-560209 HOOK FOR IAMINA M. AS:AST 1560209 6270.6
84-A25-560312 HOOK FOR IAMINA L. AS:AST 156-0312 62706
84-A25-560415 HOOK FOR IAMINA X-L. AS:AST 156-0415 6270.6
84-A25-561109 PEDICLE HOOK M. AS:AST 156-1109 62706
84-A25-561212 SPINAL PLATE 45MM _AS:AST 174-2545 6270.6
84-A25-563101 HOOK 6.0X30MM _AS:AST 156-3101 62706

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 34




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-A25-563102 HOOK 6.0X60MM AS:AST 156-3102 6270.6
84-A25-563103 HOOK 6.0X90MM AS:AST 156-3103 6270.6
84-A25-563104 HOOK 9.0X30MM _AS:AST 156-3104 6270.6
84-A25-563105 HOOK 9.0X60MM AS:AST 156-3105 6270.6
84-A25-563106 HOOK 9.0X90MM _AS:AST 156-3106 6270.6
84-A25-563107 HOOK 12.0X30MM_AS:AST 156-3107 6270.6
84-A25-563108 HOOK 12.0X60MM_AS:AST 156-3108 6270.6
84-A25-563109 HOOK 12.0X90MM _AS:AST 156-3109 6270.6
84-A25-563110 HOOK 15.0X30MM AS:AST 156-3110 6270.6
84-A25-563111 HOOK 15.0X60MM_AS:AST 156-3111 6270.6
84-A25-563112 HOOK 15.0X90MM AS:AST 156-3112 6270.6
84-A25-563204 HOOK D:4.2/W:4.0MM _AS:AST 156-3204 6270.6
84-A25-563206 HOOK D:4.2/W:6.0MM AS:AST 156-3206 6270.6
84-A25-563209 HOOK D:4.2/W:9.0MM _AS:AST 156-3209 6270.6
84-A25-563212 HOOK D:4.2/W:12.0MM_AS:AST 156-3212 6270.6
84-A25-563215 HOOK D:4.2/W:15.0MM_AS:AST 156-3215 6270.6
84-A25-565126 VIGOR PEEK CERVICAL DISC SAPCER (0) SMM X 12MM AS:A-SPINE 165-65126 26035
84-A25-6040RN POLYAXIAL SCREW 6.0X40MM AS:A-SPINE 134-6040RN 7000,
84-A25-6045RN POLYAXIAL SCREW 6.0X45MM AS:A-SPINE 134-6045RN 6900
84-A25-6050RN POLYAXIAL SCREW 6.0X50MM AS:A-SPINE 134-6050RN 6900
84-A25-612602 TRANVERSE LINK (FOR 132-ROD) S. AS:AST 161-2602 10886.4
84-A25-612603 TRANVERSE LINK (FOR 163-ROD) S. AS:AST 161-2603 10886.4
84-A25-630030 DISTRACTION & COMPRESSION ROD 30MM AS:AST 163-0030 2268
84-A25-630035 DISTRACTION & COMPRESSION ROD 35MM AS:AST 163-0035 2268
84-A25-630040 DISTRACTION & COMPRESSION ROD 40MM AS:AST 163-0040 2268
84-A25-630050 DISTRACTION & COMPRESSION ROD 50MM AS:AST 163-0050 2268
84-A25-65030E MONOAXIAL CANNULATED SCREW 5.0X30MM AS:A-SPINE 146-5030E 6900
84-A25-65035E MONOAXIAL CANNULATED SCREW 5.0X35MM AS:A-SPINE 146-5035E 6900
84-A25-65040E MONOAXIAL CANNULATED SCREW 5.0X40MM AS:A-SPINE 146-5040E 6900
84-A25-6540RN POLYAXIAL SCREW 6.5X40MM AS:A-SPINE 134-6540RN 6900
84-A25-6545RN POLYAXIAL SCREW 6.5X45MM AS:A-SPINE 134-6545RN 6900
84-A25-6550RN POLYAXIAL SCREW 6.5X50MM AS:A-SPINE 134-6550RN 6900
84-A25-65535E MONOAXIAL CANNULATED SCREW 5.5X35MM AS:A-SPINE 146-5535E 6900
84-A25-65540E MONOAXIAL CANNULATED SCREW 5.5X40MM AS:A-SPINE 146-5540E 6900
84-A25-65545E MONOAXIAL CANNULATED SCREW 5.5X45MM AS:A-SPINE 146-5545E 6900
84-A25-66040E MONOAXIAL CANNULATED SCREW 6.0X40MM AS:A-SPINE 146-6040E 6900
84-A25-66045E MONOAXIAL CANNULATED SCREW 6.0X45MM AS:A-SPINE 146-6045E 6900
84-A25-66050E MONOAXIAL CANNULATED SCREW 6.0X50MM AS:A-SPINE 146-6050E 6900
SMARTLOC SPINAL FIXATION SYSTEM MONOAXIAL LONG-ARM SCREW
84-A25-665402 6.5MM/40MM AS:A-SPINE 1 3799
84-A25-66540E MONOAXIAL CANNULATED SCREW 6.5X40MM AS:A-SPINE 146-6540E 6900
SMARTLOC SPINAL FIXATION SYSTEM MONOAXIAL LONG-ARM SCREW
84-A25-665452 6.5MM/45MM AS:A-SPINE 1 3799
84-A25-66545E MONOAXIAL CANNULATED SCREW 6.5X45MM AS:A-SPINE 146-6545E 6900
SMARTLOC SPINAL FIXATION SYSTEM MONOAXIAL LONG-ARM SCREW
84-A25-665502 6.5MM/50MM AS:A-SPINE 1 3799
84-A25-66550E MONOAXIAL CANNULATED SCREW 6.5X50MM AS:A-SPINE 146-6550E 6900
84-A25-67035E MONOAXIAL CANNULATED SCREW 7.0X35MM AS:A-SPINE 146-7035E 6900
84-A25-67040E MONOAXIAL CANNULATED SCREW 7.0X40MM AS:A-SPINE 146-7040E 6900
84-A25-67045E MONOAXITAL CANNULATED SCREW 7.0X45MM AS:A-SPINE 146-7045E 6900
SMARTLOC SPINAL FIXATION SYSTEM MONOAXIAL LONG-ARM SCREW
84-A25-670502 7.0MM/50MM AS:A-SPINE 1 3799
84-A25-67050E MONOAXIAL CANNULATED SCREW 7.0X50MM AS:A-SPINE 146-7050E 6900
84-A25-7035RN POLYAXIAL SCREW 7.0X35MM AS:A-SPINE 134-7035RN 6900
84-A25-7040RN POLYAXIAL SCREW 7.0X40MM AS:A-SPINE 134-7040RN 6900
84-A25-7045RN POLYAXIAL SCREW 7.0X45MM AS:A-SPINE 134-7045RN 6900
84-A25-7050RN POLYAXIAL SCREW 7.0X50MM AS:A-SPINE 134-7050RN 6900
84-A25-710266 RAINBOO POLYMER LUMBAR CAGE 10X26MMX0" AS:A-SPINE 597-10266 51500
84-A25-710326 RAINBOO POLYMER LUMBAR CAGE 10X32MMX0" AS:A-SPINE 597-10326 51500
84-A25-711326 RAINBOO POLYMER LUMBAR CAGE 11X32MMX0" AS:A-SPINE 597-11326 51500
84-A25-712326 RAINBOO POLYMER LUMBAR CAGE 12X32MMX0" AS:A-SPINE 597-12326 51500
84-A25-713326 RAINBOO POLYMER LUMBAR CAGE 13X32MMX0" AS:A-SPINE 597-13326 51500
84-A25-714326 RAINBOO POLYMER LUMBAR CAGE 14X32MMX0" AS:A-SPINE 597-14326 51500
84-A25-715326 RAINBOO POLYMER LUMBAR CAGE 15X32MMX0" AS:A-SPINE 597-15326 51500
84-A25-719326 RAINBOO POLYMER LUMBAR CAGE 9X32MMX0" AS:A-SPINE 597-09326 51500
84-A25-741235 SPINAL PLATE CURVED AS:AST 174-1235 2268
84-A25-741245 SPINAL PLATE CURVED 45MM AS:AST 174-1245 2268
84-A25-741255 SPINAL PLATE CURVED 55MM AS:AST 174-1255 2268
84-A25-741270 SPINAL PLATE CURVED 70MM AS:AST 174-1270 2268
84-A25-741280 SPINAL PLATE CURVED 80MM AS:AST 174-1280 2268
84-A25-741540 REDUCTION PLATE 40MM AS:AST 174-1540 2268
84-A25-741545 REDUCTION PLATE 45MM AS:AST 174-1545 2268
84-A25-741555 REDUCTION PLATE 55MM AS:AST 174-1555 2268

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 35




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-A25-742535 SPINAL PLATE 35MM_AS:AST 174-2535 2268 *
84-A25-742545 SPINAL PLATE 45MM_AS:AST 174-2545 2268 *
84-A25-742555 SPINAL PLATE 55MM_AS:AST 174-2555 2268 *
84-A25-742570 SPINAL PLATE 70MM_AS:AST 174-2570 2268 *
84-A25-742580 SPINAL PLATE 80MM_AS:AST 174-2580 2268 *
84-A25-807266 RAINBOO POLYMER LUMBAR CAGE 7X26MMXS5" AS:A-SPINE 598-07266 51500 *
84-A25-808266 RAINBOO POLYMER LUMBAR CAGE 8X26MMXS5™ AS:A-SPINE 598-08266 51500 *
84-A25-808326 RAINBOO POLYMER LUMBAR CAGE 8X32MMXS5" AS:A-SPINE 598-08326 51500 *
84-A25-809266 RAINBOO POLYMER LUMBAR CAGE 9X26MMXS5" AS:A-SPINE 598-09266 51500 *
84-A25-809326 RAINBOO POLYMER LUMBAR CAGE 9X32MMXS5" AS:A-SPINE 598-09326 51500 *
84-A25-810266 RAINBOO POLYMER LUMBAR CAGE 10X26MMXS5" AS:A-SPINE 598-10266 51500 *
84-A25-810326 RAINBOO POLYMER LUMBAR CAGE 10X32MMXS5" AS:A-SPINE 598-10326 51500 *
84-A25-811266 RAINBOO POLYMER LUMBAR CAGE 11X26MMXS5" AS:A-SPINE 598-11266 51500 *
84-A25-811326 RAINBOO POLYMER LUMBAR CAGE 11X32MMXS5" AS:A-SPINE 598-11326 51500 *
84-A25-812266 RAINBOO POLYMER LUMBAR CAGE 12X26MMXS5" AS:A-SPINE 598-12266 51500 *
84-A25-812326 RAINBOO POLYMER LUMBAR CAGE 12X32MMXS5" AS:A-SPINE 598-12326 51500 *
84-A25-813266 RAINBOO POLYMER LUMBAR CAGE 13X26MMXS5" AS:A-SPINE 598-13266 51500 *
84-A25-813326 RAINBOO POLYMER LUMBAR CAGE 13X32MMXS5" AS:A-SPINE 598-13326 51500 *
84-A25-814266 RAINBOO POLYMER LUMBAR CAGE 14X26MMXS5" AS:A-SPINE 598-14266 51500 *
84-A25-814326 RAINBOO POLYMER LUMBAR CAGE 14X32MMXS5" AS:A-SPINE 598-14326 51500 *
84-A25-815326 RAINBOO POLYMER LUMBAR CAGE 15X32MMXS5" AS:A-SPINE 598-15326 51500 *
84-A25-85030E POLYAXIAL CANNULATED SCREW 5.0X30MM AS:A-SPINE 148-5030E 6900 *
84-A25-85035E POLYAXIAL CANNULATED SCREW 5.0X35MM AS:A-SPINE 148-5035E 6900 *
84-A25-85040E POLYAXIAL CANNULATED SCREW 5.0X40MM AS:A-SPINE 148-5040E 6900 *
84-A25-85535E POLYAXIAL CANNULATED SCREW 5.5X35MM AS:A-SPINE 148-5535E 6900 *
84-A25-85540E POLYAXIAL CANNULATED SCREW 5.5X40MM AS:A-SPINE 148-5540E 6900 *
84-A25-85545E POLYAXIAL CANNULATED SCREW 5.5X45MM AS:A-SPINE 148-5545E 6900 *
84-A25-85550E POLYAXIAL CANNULATED SCREW 5.5X50MM AS:A-SPINE 148-5550E 6900 *
84-A25-86040F POLYAXIAL CANNULATED SCREW 6.0X40MM AS:A-SPINE 148-6040E 6900 *
84-A25-86045E POLYAXIAL CANNULATED SCREW 6.0X45MM AS:A-SPINE 148-6045E 6900 *
84-A25-86050E POLYAXIAL CANNULATED SCREW 6.0X50MM AS:A-SPINE 148-6050E 6900 *
84-A25-86540E POLYAXIAL CANNULATED SCREW 6.5X40MM AS:A-SPINE 148-6540E 6900 *
84-A25-86545E POLYAXIAL CANNULATED SCREW 6.5X45MM AS:A-SPINE 148-6545E 6900 *
84-A25-86550E POLYAXIAL CANNULATED SCREW 6.5X50MM AS:A-SPINE 148-6550E 6900 *
84-A25-87035E POLYAXIAL CANNULATED SCREW 7.0X35MM AS:A-SPINE 148-7035E 6900 *
84-A25-87040E POLYAXIAL CANNULATED SCREW 7.0X40MM AS:A-SPINE 148-7040E 6900 *
84-A25-87045E POLYAXIAL CANNULATED SCREW 7.0X45MM AS:A-SPINE 148-7045E 6900 *
84-A25-87050E POLYAXIAL CANNULATED SCREW 7.0X50MM AS:A-SPINE 148-7050E 6900 *
84-A25-87535E POLYAXIAL CANNULATED SCREW 7.5X35MMMM AS:A-SPINE 148-7535E 6900 *
84-A25-87540E POLYAXIAL CANNULATED SCREW 7.5X40MMMM AS:A-SPINE 148-7540E 6900 *
84-A25-87545E POLYAXIAL CANNULATED SCREW 7.5X45MMMM AS:A-SPINE 148-7545E 6900 *
84-A25-87550E POLYAXIAL CANNULATED SCREW 7.5X50MMMM AS:A-SPINE 148-7550E 6900 *
84-A25-ANS001 SMARTLOC SPINAL FIXATION SYSTEM 2 LEVEL AS:A-SPINE ANS001 17464
84-A25-ANS002 SMARTLOC SPINAL FIXATION SYSTEM 3 LEVEL AS:A-SPINE ANS(002 25062
84-A25-S18100 UNI-BAR SYSTEM CONNECTING ROD 100MM AS:TRAUMA-FIX S-18100 180,
84-A25-S18150 UNI-BAR SYSTEM CONNECTING ROD 150MM AS:TRAUMA-FIX S-18150 180
84-A25-518200 UNI-BAR SYSTEM CONNECTING ROD 200MM AS:TRAUMA-FIX S-18200 180,
84-A25-SMAQ002 SMARTLOC EVOLUTION SPINAL SYSTEM 2 LEVELAS:A-SPINE 29088 *
84-A25-SMAQO3 SMARTLOC EVOLUTION SPINAL SYSTEM 3 LEVELAS:A-SPINE 41964 *
84-A25-TF2307 UNI-BAR SYSTEM HALF PIN 2-3X70MM AS:TRAUMA-FIX TE-2307 1500
84-A25-TF2309 UNI-BAR SYSTEM HALF PIN 2-3X90MM AS:TRAUMA-FIX TF-2309 1500
84-A26-002091 TM ARDIS INTERBODY SYSTEM 26X9X9MM AS:ZIMMER 06-701-02091 110000 A
84-A26-002101 TM ARDIS INTERBODY SYSTEM 26X9X10MM AS:ZIMMER 06-701-02101 110000 PAG
TRABECULAR METAL VETEBRAL BODY REPLACEMENT SYSTEM TM-100 11#11
84-A26-101051 SMM AS:ZIMMER 06- 50000 PA
TRABECULAR METAL VETEBRAL BODY REPLACEMENT SYSTEM TM-100 11#11
84-A26-101061 6MM AS:ZIMMER 06- 50000 PA
TRABECULAR METAL VETEBRAL BODY REPLACEMENT SYSTEM TM-100 11#11
84-A26-101071 TMM AS:ZIMMER 06- 50000 PA
TRABECULAR METAL VETEBRAL BODY REPLACEMENT SYSTEM TM-100 11#11
84-A26-101081 8MM AS:ZIMMER 06- 50000 PA
TRABECULAR METAL VETEBRAL BODY REPLACEMENT SYSTEM TM-100 11%14
84-A26-102051 SMM AS:ZIMMER 06- 50000 PA
TRABECULAR METAL VETEBRAL BODY REPLACEMENT SYSTEM TM-100 11%14
84-A26-102061 6MM AS:ZIMMER 06- 50000 PA
TRABECULAR METAL VETEBRAL BODY REPLACEMENT SYSTEM TM-100 11%14
84-A26-102071 TMM AS:ZIMMER 06- 50000 PA
TRABECULAR METAL VETEBRAL BODY REPLACEMENT SYSTEM TM-100 11%14
84-A26-102081 8MM AS:ZIMMER 06- 50000 PA
TRABECULAR METAL VETEBRAL BODY REPLACEMENT SYSTEM TM-100 11%14
84-A26-102091 9MM AS:ZIMMER 06- 50000 PA
TRABECULAR METAL VETEBRAL BODY REPLACEMENT SYSTEM TM-100 11%14
84-A26-102101 10MM AS:ZIMMER 06 50000 PA
TRABECULAR METAL VETEBRAL BODY REPLACEMENT SYSTEM TM-500 10X23
84-A26-501081 PARALLELSMM AS:ZI 50000 PA

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 36




VAREREGLAERMBUIAZRHEBERERUKRRE-HH &R

TRABECULAR METAL VETEBRAL BODY REPLACEMENT SYSTEM TM-500 10X23

84-A26-501101 PARALLEL10MM AS:Z 50000 ¥
TRABECULAR METAL VETEBRAL BODY REPLACEMENT SYSTEM TM-500 10X23
84-A26-501121 PARALLEL12MM AS:Z 50000 ¥
TRABECULAR METAL VETEBRAL BODY REPLACEMENT SYSTEM TM-500 10X23
84-A26-501141 PARALLEL14MM AS:Z 50000 ¥
TRABECULAR METAL VETEBRAL BODY REPLACEMENT SYSTEM TM-500 10X23
84-A26-502081 PARALLEL14MM AS:Z 50000 ¥
TRABECULAR METAL VETEBRAL BODY REPLACEMENT SYSTEM TM-500 10X23
84-A26-502101 ANGLED SLOTTED 10 50000 ¥
TRABECULAR METAL VETEBRAL BODY REPLACEMENT SYSTEM TM-500 10X23
84-A26-502121 ANGLED SLOTTED 12 50000 ¥
TRABECULAR METAL VETEBRAL BODY REPLACEMENT SYSTEM TM-500 10X23
84-A26-502141 ANGLED SLOTTED 14 50000 ¥
DYNESYS SPINAL SYSTEM MOD SPACER UNIVERSAL STERILE AS:ZIMMER
84-A26-706045 01.03706.045 15000 ¥
84-A26-731100 DYNESYS SPINAL SYSTEM CORD 100 LIS BAND AS:ZIMMER 01.03731.100 39000 %
84-A26-731200 DYNESYS SPINAL SYSTEM CORD 200 LIS BAND AS:ZIMMER 01.03731.200 39000 ¥
84-A26-906045 DTL CANNULATED SCREW 6.0X45MM AS : ZIMMER 01.03906.045 22000 ¥t
84-A26-906050 DTL CANNULATED SCREW 6.0X50MM AS : ZIMMER 01.03906.050 22000 pig
84-A26-906440 DTL CANNULATED SCREW 6.4X40MM AS : ZIMMER 01.03906.440 22000 ¥t
84-A26-906445 DTL CANNULATED SCREW 6.4X45MM AS : ZIMMER 01.03906.445 22000 pig
84-A26-906450 DTL CANNULATED SCREW 6.4X50MM AS : ZIMMER 01.03906.450 22000 ¥t
84-A28-700045 VOLAR DISTAL ULNA PLATE STANDARD LEFT 7H AS : ACUMED 70-0045 49000 ¥
84-A28-700046 VOLAR DISTAL ULNA PLATE STANDARD RIGHT 7H AS : ACUMED 70-0046 49000 A
84-A28-700048 VOLAR DISTAL ULNA PLATE LONG RIGHT 9H AS : ACUMED 70-0048 49000 ¥
84-A28-700055 ACU-LOC DORSAL PLATE STANDARD LEFT 10H AS : ACUMED 70-0055 49000 %
84-A28-700056 ACU-LOC DORSAL PLATE STANDARD RIGHT 10H AS : ACUMED 70-0056 49000 ¥
84-A28-700057 ACU-LOC DORSAL PLATE NARROW LEFT 8H AS : ACUMED 70-0057 49000 ¥
84-A28-700058 ACU-LOC DORSAL PLATE NARROW RIGHT 8H AS : ACUMED 70-0058 49000 ¥t
84-A28-700066 VOLAR MIDSHAFT RADIUS PLATE 6H AS : ACUMED 70-0066 49800 %
84-A28-700067 VOLAR MIDSHAFT RADIUS PLATE 8H AS : ACUMED 70-0067 49300 ¥
84-A28-700070 MIDSHAFT ULNA PLATE 6H AS : ACUMED 70-0070 49800 ¥t
84-A28-700071 MIDSHAFT ULNA PLATE 8H AS : ACUMED 70-0071 49800 ¥
84-A28-700072 MIDSHAFT ULNA PLATE 10H AS : ACUMED 70-0072 49800 %
84-A28-700118 LATERAL ANTERIOR CLAVICLE PLATE 8H AS : ACUMED 70-0118 49000 pig
84-A28-700123 DISTAL CLAVICLE PLATE 2.3MM 16H RIGHT AS : ACUMED 70-0123 49000 %
84-A28-700124 DISTAL CLAVICLE PLATE 2.3MM 16H LEFT AS : ACUMED 70-0124 49000 pig
84-A28-700125 DISTAL CLAVICLE PLATE 2.3MM 13H RIGHT AS : ACUMED 70-0125 49000 %
84-A28-700126 DISTAL CLAVICLE PLATE 2.3MM 13H LEFT AS : ACUMED 70-0126 49000 pig
84-A28-700286 LOW PROFILE CLAVICLE PLATE §H STR LEFT AS : ACUMED 70-0286 49000 %
84-A28-700287 LOW PROFILE CLAVICLE PLATE 8H STR RIGHT AS : ACUMED 70-0287 49000 ¥
84-A28-700288 LOW PROFILE CLAVICLE PLATE §H LARGE LEFT AS : ACUMED 70-0288 49000 %
84-A28-700289 LOW PROFILE CLAVICLE PLATE 8H LARGE RIGHT AS : ACUMED 70-0289 49000 ¥
84-A28-700290 LOW PROFILE CLAVICLE PLATE 8H MEDIUM LEFT AS : ACUMED 70-0290 49000 %
84-A28-700291 LOW PROFILE CLAVICLE PLATE 8H MEDIUM RIGHT AS : ACUMED 70-0291 49000 pig
84-A28-700292 LOW PROFILE CLAVICLE PLATE 8H SMALL LEFTAS : ACUMED 70-0292 49000 %
84-A28-700293 LOW PROFILE CLAVICLE PLATE 8H SMALL RIGHT AS : ACUMED 70-0293 49000 pig
84-A28-700294 LOW PROFILE CLAVICLE PLATE 10H LEFT AS : ACUMED 70-0294 49000 %
84-A28-700295 LOW PROFILE CLAVICLE PLATE 10H RIGHT AS : ACUMED 70-0295 49000 ¥z
84-A28-700400 COMBO CALCANEAL PLATE MEDIUM 8H LEFT AS : ACUMED 70-0400 60000 %
84-A28-700401 COMBO CALCANEAL PLATE MEDIUM 8H LEFT AS : ACUMED 70-0401 60000 ¥
84-A28 LCLSLL __|LOCKING CLAVICLE PLATE 8H LARGE LEFT AS : ACUMED PL-CLSLL 49000 %
84-A28- LCL8ML _ |LOCKING CLAVICLE PLATE 8H MEDIUM LEFT AS : ACUMED PL-CLSML 49000 ¥
84-A28- LCL8MR __|LOCKING CLAVICLE PLATE 8H MEDIUM RIGHT AS:ACUMED PL-CLSMR 49000 pi
84-A28- LDR30L  |LOCKING NARROW LEFT DISTAL RADIUS PLATE 10H AS:ACUMED PL-DR30L 49000 pig
84-A28-LDR30R  |LOCKING NARROW RIGHT DISTAL RADIUS PLATE 10H AS:ACUMED PL-DR30R 49000 ¥
84-A28-LDRSOL  |LOCKING STANDARD LEFT DISTAL RADIUS PLATE 11H AS:ACUMED PL-DRS0L 49000 ¥
LOCKING STANDARD RIGHT DISTAL RADIUS PLATE 11H AS : ACUMED PL-
84-A28- LDRSOR  |DRSOR 49000 ¥
COCKING EXTENDED LEFT DISTAL RADIUS PLATE 13H AS © ACUMED PL-
84-A28-LDRGOL  |DR6OL 49000 ¥
COCKING EXTENDED RIGHT DISTAL RADIUS PLATE 13H AS © ACUMED PL-
84-A28- LDR60R  |DR60R 49000 ¥
84-A28 LDR6SL _|EXTRA LONG LEFT DISTAL RADIUS PLATE 16H AS : ACUMED PL-DR65L 49000 %
84-A28- LDR65R  |EXTRA LONG RIGHT DISTAL RADIUS PLATE 16H AS : ACUMED PL-DR65R 49000 ¥
84-A28- LDR70L __|VDR LEFT DISTAL RADIUS PLATE WIDE 13H AS : ACUMED PL-DR70L 49000 %
84-A28-LDR70R __|VDR RIGHT DISTAL RADIUS PLATE WIDE 13H AS : ACUMED PL-DR70R 49000 ¥
84-A28-PO035S COMPRESSION ACUTRAK 2 PLUSE SCREW 35MM AS:ACUMED AP-0035-S 19000 %
84-A28-PO040S COMPRESSION ACUTRAK 2 PLUSE SCREW 40MM AS:ACUMED AP-0040-S 19000 ¥
84-A28-P0045S COMPRESSION ACUTRAK 2 PLUSE SCREW 45MM AS:ACUMED AP-0045-S 19000 %
84-A28-P00S0S COMPRESSION ACUTRAK 2 PLUSE SCREW SOMM AS:ACUMED AP-0050-S 19000 ¥
84-A28-P00S5S COMPRESSION ACUTRAK 2 PLUSE SCREW 55MM AS:ACUMED AP-0055-S 19000 %
84-A28-P00G0S COMPRESSION ACUTRAK 2 PLUSE SCREW 60MM AS:ACUMED AP-0060-S 19000 ¥

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 37




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-A28-PO06SS COMPRESSION ACUTRAK 2 PLUSE SCREW 65MM AS:ACUMED AP-0065-S 19000 Y
84-A28-PO0T0S COMPRESSION ACUTRAK 2 PLUSE SCREW 70MM AS:ACUMED AP-0070-S 19000 %
84-A28-PO075S COMPRESSION ACUTRAK 2 PLUSE SCREW 75MM AS:ACUMED AP-0075-S 19000 Y
84-A28-PO0S0S COMPRESSION ACUTRAK 2 PLUSE SCREW 80MM AS:ACUMED AP-0080-S 19000 %
84-A28PLEL0Y |9 HOLES LOCKING OLECRANON PLATE AS:ACUMED PL-ELOY 60000 Y
84-A29-003000 VERSYS REVISION TOTAL KNEE SYSTEM 92000
84-A29-011914 WAGNER SL REVISION STEM 14X190MM AS:ZIMMER 01.00101.914 51000
84-A29-106022 REVISION TOTAL POLYETHED YENE LINER 60MM AS:ZIMMER 6310-60-32 5300
84-A29-182202 VERSYS TOTAL HIP SYSTEM FEMORAL HEAD 22+0 AS:ZIMMER 8018-22-02 9500
REVISION TOTAL HIP VERSYS FEMORAL HEAD 26MM #1 AS:ZIMMER 8018-26-
84-A29-182601 01 9500
REVISION TOTAL HIP VERSYS FEMORAL HEAD 26MM #1 AS:ZIMMER 8018-26-
84-A29-182602 01 9500
REVISION TOTAL HIP VERSYS FEMORAL HEAD 26MM #3 AS:ZIMMER 8018-26-
84-A29-182603 03 9500
REVISION TOTAL HIP VERSYS FEMORAL HEAD 26MM #1 AS:ZIMMER 8018-26-
84-A29-182604 M 9500
REVISION TOTAL HIP VERSYS FEMORAL HEAD 26MM #5 AS:ZIMMER 8018-26-
84-A29-182605 05 9500
84-A29-182801 REVISION TOTAL HIP FEMORAL HEAD 28/-3.5MM _AS:ZIMMER 8018-28-01 9500
84-A29-182802 REVISION TOTAL HIP FEMORAL HEAD 28/+0MM _AS:ZIMMER 8018-28-02 9500
84-A29-182803 REVISION TOTAL HIP FEMORAL HEAD 28/+3.5MM AS:ZIMMER 8018-28-03 9500
84-A29-182804 REVISION TOTAL HIP FEMORAL HEAD 28/+7MM _AS:ZIMMER 8018-28-04 9500
84-A29-182805 REVISION TOTAL HIP FEMORAL HEAD 28/+10.5MM AS:ZIMMER 8018-28-05 9500
REVISION TOTAL HIP VERSYS FEMORAL HEAD 32MM #1 AS:ZIMMER 801832
84-A29-183201 01 9500
REVISION TOTAL HIP VERSYS FEMORAL HEAD 32MM #2 AS:ZIMMER 801832
84-A29-183202 0® 9500
REVISION TOTAL HIP VERSYS FEMORAL HEAD 32MM #3 AS:ZIMMER 801832
84-A29-183203 03 9500
REVISION TOTAL HIP VERSYS FEMORAL HEAD 32MM #4 AS:ZIMMER 801832
84-A29-183204 M 9500
REVISION TOTAL HIP VERSYS FEMORAL HEAD 32MM #5 AS:ZIMMER 801832
84-A29-183205 05 9500
84-A29-201092 HUMERAL STEM UNCEMENTED 9X110MM AS:ZIMMER 01.04201.092 32000
TOTAL KNEE PROLONG HIGHLY CROSSLINKED POLYETHYLENE AS:ZIMMER
84-A29-202210 00-5962-022-10 41000 Y
TOTAL KNEE PROLONG HIGHLY CROSSLINKED POLYETHYLENE AS:ZIMMER
84-A29-202212 00-5962-022-12 41000 Y
TOTAL KNEE PROLONG HIGHLY CROSSLINKED POLYETHYLENE AS:ZIMMER
84-A29-203010 00-5962-030-10 41000 Y
TOTAL KNEE PROLONG HIGHLY CROSSLINKED POLYETHYLENE AS:ZIMMER
84-A29-203012 00-5962-030-12 41000 Y
84-A29-203014 TOTAL KNEE PROLONG HIGHLY CROSSLINKED AS:ZIMMER 5962-30-14 41000 ¢
TOTAL KNEE PROLONG HIGHLY CROSSLINKED POLYETHYLENE AS:ZIMMER
84-A29-203210 00-5962-032-10 41000 ¥
TOTAL KNEE PROLONG HIGHLY CROSSLINKED POLYETHYLENE AS:ZIMMER
84-A29-203212 00-5962-032-12 41000 ¥
84-A29-203214 TOTAL KNEE PROLONG HIGHLY CROSSLINKED AS:ZIMMER 5962-32-14 41000 Y
TOTAL KNEE PROLONG HIGHLY CROSSLINKED POLYETHYLENE AS:ZIMMER
84-A29-204010 00-5962-040-10 41000 Y
TOTAL KNEE PROLONG HIGHLY CROSSLINKED POLYETHYLENE AS:ZIMMER
84-A29-204012 00-5962-040-12 41000 Y
84-A29-204017 TOTAL KNEE PROLONG HIGHLY CROSSLINKED AS:ZIMMER 5962-40-17 41000 ¢
84-A29-212400 HUMERAL HEAD D40 H14 AS:ZIMMER 01.04212.400 14000
84-A29-304401 TRILOGY IT CLUSTER 44MM EE AS:ZIMMER 00-8753-044-01 12600
84-A29-304601 TRILOGY IT CLUSTER 46MM FF AS:ZIMMER 00-8753-046-01 12600
84-A29-304602 TRILOGY IT CLUSTER 46MM FF AS:ZIMMER (0-8753-046-02 12600
84-A29-304801 TRILOGY IT CLUSTER 48MM GG AS:ZIMMER 00-8753-048-01 12600
84-A29-304802 TRILOGY IT CLUSTER 48MM GG AS:ZIMMER 00-8753-048-02 12600
84-A29-305001 TRILOGY IT CLUSTER S0MM HH AS:ZIMMER 00-8753-050-01 12600
84-A29-305002 TRILOGY IT CLUSTER SOMM HH AS:ZIMMER 00-8753-050-02 12600
84-A29-305201 TRILOGY IT CLUSTER 52MM I AS:ZIMMER 00-8753-052-01 12600
84-A29-305202 TRILOGY IT CLUSTER 52MM I AS:ZIMMER (0-8753-052-02 12600
84-A29-305401 TRILOGY IT CLUSTER 54MM JJ AS:ZIMMER 00-8753-054-01 12600
84-A29-305402 TRILOGY IT CLUSTER 54MM JJ AS:ZIMMER 00-8753-054-02 12600
84-A29-305601 TRILOGY IT CLUSTER 56MM KK AS:ZIMMER 00-8753-056-01 12600
84-A29-305602 TRILOGY IT CLUSTER 56MM KK AS:ZIMMER 00-8753-056-02 12600
84-A29-305801 TRILOGY IT CLUSTER S8MM LL AS:ZIMMER 00-8753-058-01 12600
84-A29-305802 TRILOGY IT CLUSTER 58MM LL AS:ZIMMER 00-8753-058-02 12600
84-A29-306001 TRILOGY IT CLUSTER 60MM MM AS:ZIMMER 00-8753-060-01 12600
84-A29-306002 TRILOGY IT CLUSTER 60MM MM AS:ZIMMER 00-8753-060-02 12600
84-A29-306201 TRILOGY IT CLUSTER 62MM NN AS:ZIMMER 00-8753-062-01 12600
84-A29-306202 TRILOGY IT CLUSTER 62MM NN AS:ZIMMER 00-8753-062-02 12600
84-A29-306401 TRILOGY IT CLUSTER 64MM OO AS:ZIMMER 00-8753-064-01 12600
84-A29-306402 TRILOGY IT CLUSTER 64MM OO AS:ZIMMER 00-8753-064-02 12600
84-A29-306602 TRILOGY IT MULTI 66MM PP AS:ZIMMER 00-8753-066-02 12600
84-A29-306802 TRILOGY IT MULTI 68MM QU AS:ZIMMER 00-8753-068-02 12600

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 38




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-A29-307002 TRILOGY IT MULTI 70MM RR AS:ZIMMER 00-8753-070-02 12600
84-A29-500140 VERSYS MULTIPOLAR BIPOLAR CUP #40 AS:ZIMMER 5001-40 11710
84-A29-500141 VERSYS MULTIPOLAR BIPOLAR CUP #41 AS:ZIMMER 5001-41 11710
84-A29-500142 VERSYS MULTIPOLAR BIPOLAR CUP #42 AS:ZIMMER 5001-42 11710
84-A29-500143 VERSYS MULTIPOLAR BIPOLAR CUP #43 AS:ZIMMER 5001-43 11710
84-A29-500144 VERSYS MULTIPOLAR BIPOLAR CUP #44 AS:ZIMMER 5001-44 11710
84-A29-500145 VERSYS MULTIPOLAR BIPOLAR CUP #45 AS:ZIMMER 5001-45 11710
84-A29-500146 VERSYS MULTIPOLAR BIPOLAR CUP #46 AS:ZIMMER 5001-46 11710
84-A29-500147 VERSYS MULTIPOLAR BIPOLAR CUP #47 AS:ZIMMER 5001-47 11710
84-A29-500148 VERSYS MULTIPOLAR BIPOLAR CUP #48 AS:ZIMMER 5001-48 11710
84-A29-500149 VERSYS MULTIPOLAR BIPOLAR CUP #49 AS:ZIMMER 5001-49 11710
84-A29-500150 VERSYS MULTIPOLAR BIPOLAR CUP #50 AS:ZIMMER 5001-50 11710
84-A29-500151 VERSYS MULTIPOLAR BIPOLAR CUP #51 AS:ZIMMER 5001-51 11710
84-A29-500152 VERSYS MULTIPOLAR BIPOLAR CUP #52 AS:ZIMMER 5001-52 11710
84-A29-500153 VERSYS MULTIPOLAR BIPOLAR CUP #53 AS:ZIMMER 5001-53 11710
84-A29-500154 VERSYS MULTIPOLAR BIPOLAR CUP #54 AS:ZIMMER 5001-54 11710
84-A29-500832 BIOLOX DELTA TAPER LINER GG 32 AS:ZIMMER 00-8775-008-32 41667]37448
84-A29-500932 BIOLOX DELTA TAPER LINER GG 32 AS:ZIMMER 00-8775-009-32 41667]37448
84-A29-501036 BIOLOX DELTA TAPER LINER 1II 36 AS:ZIMMER 00-8775-010-36 41667]37448
84-A29-501136 BIOLOX DELTA TAPER LINER JJ 36 AS:ZIMMER 00-8775-011-36 41667]37448
84-A29-501240 BIOLOX DELTA TAPER LINER KK 40 AS:ZIMMER 00-8775-012-40 41667]37448
84-A29-501340 BIOLOX DELTA TAPER LINER LL 40 AS:ZIMMER 00-8775-013-40 41667]37448
84-A29-501440 BIOLOX DELTA TAPER LINER MM 40 AS:ZIMMER 00-8775-014-40 41667]37448
84-A29-501540 BIOLOX DELTA TAPER LINER NN 40 AS:ZIMMER 00-8775-015-40 41667]37448
84-A29-501640 BIOLOX DELTA TAPER LINER OO 40 AS:ZIMMER 00-8775-016-40 41667]37448
84-A29-501740 BIOLOX DELTA TAPER LINER PP 40 AS:ZIMMER 00-8775-017-40 41667]37448
84-A29-501840 BIOLOX DELTA TAPER LINER QU 40 AS:ZIMMER 00-8775-018-40 41667]37448
84-A29-501940 BIOLOX DELTA TAPER LINER RR 40 AS:ZIMMER 00-8775-019-40 41667]37448
84-A29-503201 BIOLOX DELTA HEAD 32MMX-3.5 AS:ZIMMER 00-8775-032-01 60640[56070
84-A29-503202 BIOLOX DELTA HEAD 32MMX0 AS:ZIMMER 00-8775-032-02 60640[56070
84-A29-503203 BIOLOX DELTA HEAD 32MMX+3.5 AS:ZIMMER 00-8775-032-03 60640[56070
84-A29-503204 BIOLOX DELTA HEAD 32MMX+7 AS:ZIMMER (0-8775-032-04 60640[56070
84-A29-503601 BIOLOX DELTA HEAD 36MMX-3.5 AS:ZIMMER 00-8775-036-01 60640[56070
84-A29-503602 BIOLOX DELTA HEAD 36MMX0 AS:ZIMMER (0-8775-036-02 60640[56070
84-A29-503603 BIOLOX DELTA HEAD 36MMX+3.5 AS:ZIMMER 00-8775-036-03 60640[56070
84-A29-503604 BIOLOX DELTA HEAD 36MMX+7 AS:ZIMMER (0-8775-036-04 60640[56070
84-A29-504001 BIOLOX DELTA HEAD 40MMX-3.5 AS:ZIMMER 00-8775-040-01 60640[56070
84-A29-504002 BIOLOX DELTA HEAD 40MMX0 AS:ZIMMER 00-8775-040-02 60640[56070
84-A29-504003 BIOLOX DELTA HEAD 40MMX+3.5 AS:ZIMMER 00-8775-040-03 60640[56070
84-A29-504004 BIOLOX DELTA HEAD 40MMX+7 AS:ZIMMER (0-8775-040-04 60640[56070
84-A29-506525 VERSYS TOTAL HIP SYSTEM BONE SCREW 25MM AS:ZIMMER 6250-65-25 0
84-A29-506530 VERSYS TOTAL HIP SYSTEM BONE SCREW 30MM _AS:ZIMMER 6250-65-30 0
NEXGEN TOTAL KNEE (HIGH-FLEX) SYSTEM SURFACE CD 1-2 10MM
84-A29-602210 AS:ZIMMER 5960-22-10 14651
NEXGEN TOTAL KNEE (HIGH-FLEX) SYSTEM SURFACE CD 1-2 12MM
84-A29-602212 AS:ZIMMER 5960-22-12 14651
NEXGEN TOTAL KNEE (HIGH-FLEX) SYSTEM SURFACE CD 1-2 14MM
84-A29-602214 AS:ZIMMER 5960-22-14 14651
NEXGEN TOTAL KNEE (HIGH-FLEX) SYSTEM SURFACE CD 3-4 10MM
84-A29-603010 AS:ZIMMER 5960-30-10 14651
NEXGEN TOTAL KNEE (HIGH-FLEX) SYSTEM SURFACE CD 3-4 12MM
84-A29-603012 AS:ZIMMER 5960-30-12 14651
NEXGEN TOTAL KNEE (HIGH-FLEX) SYSTEM SURFACE CD 3-4 14MM
84-A29-603014 AS:ZIMMER 5960-30-14 14651
NEXGEN TOTAL KNEE (HIGH-FLEX) SYSTEM SURFACE EF 3-4 10MM
84-A29-603210 AS:ZIMMER 5960-32-10 14651
NEXGEN TOTAL KNEE (HIGH-FLEX) SYSTEM SURFACE EF 3-4 12MM
84-A29-603212 AS:ZIMMER 5960-32-12 14651
NEXGEN TOTAL KNEE (HIGH-FLEX) SYSTEM SURFACE EF 3-4 14AMM
84-A29-603214 AS:ZIMMER 5960-32-14 14651
NEXGEN TOTAL KNEE (HIGH-FLEX) SYSTEM SURFACE EF 5-6 10MM
84-A29-604010 AS:ZIMMER 5960-40-10 14651
NEXGEN TOTAL KNEE (HIGH-FLEX) SYSTEM SURFACE EF 5-6 12MM
84-A29-604012 AS:ZIMMER 5960-40-12 14651
NEXGEN TOTAL KNEE (HIGH-FLEX) SYSTEM SURFACE EF 5-6 14AMM
84-A29-604014 AS:ZIMMER 5960-40-14 14651
NEXGEN TOTAL KNEE (HIGH-FLEX) SYSTEM SURFACE CD 5-6 10MM
84-A29-604110 AS:ZIMMER 5960-41-10 14651
84-A29-620060 REVISION TOTAL TRILOG ACETABULAR CUP 60MM AS:ZIMMER 6200-60-20 11710
NEXGEN TOTAL KNEE (HIGH-FLEX) SYSTEM FEMORAL LC AS:ZIMMER 5964-
84-A29-641301 13-01 36460
NEXGEN TOTAL KNEE (HIGH-FLEX) SYSTEM FEMORAL RC AS:ZIMMER 5964-
84-A29-641302 13-02 28398
NEXGEN TOTAL KNEE (HIGH-FLEX) SYSTEM FEMORAL LD AS:ZIMMER 5964-
84-A29-641401 14-01 36460
NEXGEN TOTAL KNEE (HIGH-FLEX) SYSTEM FEMORAL RD  AS:ZIMMER 5964-
84-A29-641402 14-02 36460

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 39




VARER/RSGAAERMUIAZRHBERBERURARE-HH &R

NEXGEN TOTAL KNEE (HIGH-FLEX) SYSTEM FEMORAL LE AS:ZIMMER 5964-

84-A29-641501 15-01 36460
NEXGEN TOTAL KNEE (HIGH-FLEX) SYSTEM FEMORAL RE AS:ZIMMER 5964-

84-A29-641502 15-02 36460
NEXGEN TOTAL KNEE (HIGH-FLEX) SYSTEM FEMORAL LF AS:ZIMMER 5964-

84-A29-641601 16-01 28398
NEXGEN TOTAL KNEE (HIGH-FLEX) SYSTEM FEMORAL RF AS:ZIMMER 5964-

84-A29-641602 16-02 29398

84-A29-642010 "ARTICULAR SURFACE SIZE AB 10MM WITH 1,2 AS:ZIMMER 00-5964-020-10" 14651

84-A29-642012 "ARTICULAR SURFACE SIZE AB 12MM WITH 1,2 AS:ZIMMER 00-5964-020-12" 14651

84-A29-642014 "ARTICULAR SURFACE SIZE AB 14MM WITH 1,2 AS:ZIMMER 00-5964-020-14" 14651

84-A29-642017 "ARTICULAR SURFACE SIZE AB 17MM WITH 1,2 AS:ZIMMER 00-5964-020-17" 14651

84-A29-642210 "ARTICULAR SURFACE SIZE CD 10MM WITH 1,2 AS:ZIMMER 00-5964-022-10" 14651

84-A29-642212 "ARTICULAR SURFACE SIZE CD 12MM WITH 1,2 AS:ZIMMER 00-5964-022-12" 14651

84-A29-642214 "ARTICULAR SURFACE SIZE CD 14MM WITH 1,2 AS:ZIMMER 00-5964-022-14" 14651

84-A29-642217 "ARTICULAR SURFACE SIZE CD 17MM WITH 1,2 AS:ZIMMER 00-5964-022-17" 14651

84-A29-643010 "ARTICULAR SURFACE SIZE CD 10MM WITH 3.4 AS:ZIMMER 00-5964-030-10" 14651

84-A29-643012 "ARTICULAR SURFACE SIZE CD 12MM WITH 3.4 AS:ZIMMER 00-5964-030-12" 14651

84-A29-643014 "ARTICULAR SURFACE SIZE CD 14MM WITH 3.4 AS:ZIMMER 00-5964-030-14" 14651

84-A29-643017 "ARTICULAR SURFACE SIZE CD 17MM WITH 3.4 AS:ZIMMER 00-5964-030-17" 14651

84-A29-643210 "ARTICULAR SURFACE SIZE EF 10MM WITH 3.4 AS:ZIMMER 00-5964-032-10" 14651

84-A29-643212 "ARTICULAR SURFACE SIZE EF 12MM WITH 3.4 AS:ZIMMER 00-5964-032-12" 14651

84-A29-643214 "ARTICULAR SURFACE SIZE EF 14MM WITH 3.4 AS:ZIMMER 00-5964-032-14" 14651

84-A29-644010 "ARTICULAR SURFACE SIZE EF 10MM WITH 5.6 AS:ZIMMER 00-5964-040-10" 14651

84-A29-644012 "ARTICULAR SURFACE SIZE EF 12MM WITH 5,6 AS:ZIMMER 00-5964-040-12" 14651

84-A29-644014 "ARTICULAR SURFACE SIZE EF 14MM WITH 5.6 AS:ZIMMER 00-5964-040-14" 14651

84-A29-644017 "ARTICULAR SURFACE SIZE EF 17MM WITH 5,6 AS:ZIMMER 00-5964-040-17" 14651

84-A29-644110 "ARTICULAR SURFACE SIZE CD 10MM WITH 5.6 AS:ZIMMER 00-5964-041-10" 14651

84-A29-644112 "ARTICULAR SURFACE SIZE CD 12MM WITH 5.6 AS:ZIMMER 00-5964-041-12" 14651

84-A29-644114 "ARTICULAR SURFACE SIZE CD 14MM WITH 5.6 AS:ZIMMER 00-5964-041-14" 14651

84-A29-644117 "ARTICULAR SURFACE SIZE CD 17MM WITH 5.6 AS:ZIMMER 00-5964-041-17" 14651

84-A29-645010 "ARTICULAR SURFACE SIZE GH 10MM WITH 7,8,9,10 AS:ZIMMER 00-5964-050-10" 14651

84-A29-645012 "ARTICULAR SURFACE SIZE GH 12MM WITH 7,8,9,10 AS:ZIMMER 00-5964-050-12" 14651

84-A29-645014 "ARTICULAR SURFACE SIZE GH 14MM WITH 7,8,9,10 AS:ZIMMER 00-5964-050-14" 14651

84-A29-645017 "ARTICULAR SURFACE SIZE GH 17MM WITH 7,8,9,10 AS:ZIMMER 00-5964-050-17" 14651

84-A29-645110 "ARTICULAR SURFACE SIZE EF 10MM WITH 7,8,9,10 AS:ZIMMER 00-5964-051-10" 14651

84-A29-645112 "ARTICULAR SURFACE SIZE EF 12MM WITH 7,8,9,10 AS:ZIMMER 00-5964-051-12" 14651

84-A29-645114 "ARTICULAR SURFACE SIZE EF 14MM WITH 7,8,9,10 AS:ZIMMER 00-5964-051-14" 14651

84-A29-645117 "ARTICULAR SURFACE SIZE EF 17MM WITH 7,8,9,10 AS:ZIMMER 00-5964-051-17" 14651
3.5MM PROXIMAL LATERAL TIBIAL LOCKING PLATE 6H RIGHT AS:ZIMMER 00-

84-A29-700306 2357-003-06 67000 pAY

84-A29-700308 3.5MM PROXIMAL LATERAL TIBIAL LOCKING PLATE 8H RIGHT AS:ZIMMER 67000 A
3.5MM PROXIMAL LATERAL TIBIAL LOCKING PLATE 10H RIGHT AS:ZIMMER

84-A29-700310 00-2357-003-10 67000 w
3.5MM PROXIMAL LATERAL TIBIAL LOCKING PLATE 12H RIGHT AS:ZIMMER

84-A29-700312 00-2357-003-12 67000 w
3.5MM PROXIMAL LATERAL TIBIAL LOCKING PLATE 14H RIGHT AS:ZIMMER

84-A29-700314 00-2357-003-14 67000 w
3.5MM PROXIMAL LATERAL TIBIAL LOCKING PLATE 16H RIGHT AS:ZIMMER

84-A29-700316 00-2357-003-16 67000 w
3.5MM PROXIMAL LATERAL TIBIAL LOCKING PLATE 6H LEFT AS:ZIMMER 00-

84-A29-700406 2357-004-06 67000 w
3.5MM PROXIMAL LATERAL TIBIAL LOCKING PLATE 8H LEFT AS:ZIMMER 00-

84-A29-700408 2357-004-08 67000 w
3.5MM PROXIMAL LATERAL TIBIAL LOCKING PLATE 10H LEFT AS:ZIMMER 00-

84-A29-700410 2357-004-10 67000 w
3.5MM PROXIMAL LATERAL TIBIAL LOCKING PLATE 12H LEFT AS:ZIMMER 00-

84-A29-700412 2357-004-12 67000 w
3.5MM PROXIMAL LATERAL TIBIAL LOCKING PLATE 14H LEFT AS:ZIMMER 00-

84-A29-700414 2357-004-14 67000 w

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 40




VARE/REGATERMBUIAZRHEBERBRURAE-HH &R

3.5MM PROXIMAL LATERAL TIBIAL LOCKING PLATE 16H LEFT AS:ZIMMER 00-

84-A29-700416 2357-004-16 67000 ¥

84-A29-700706 DISTAL MEDIAL TIBIAL LOCKING PLATE 6H RIGHT AS:ZIMMER 00-2357-007-06 67000 e

84-A29-700708 DISTAL MEDIAL TIBIAL LOCKING PLATE 8H RIGHT AS:ZIMMER 00-2357-007-08 67000 e

84-A29-700710 DISTAL MEDIAL TIBIAL LOCKING PLATE 10H RIGHT AS:ZIMMER 00-2357-007-10 67000 7

84-A29-700714 DISTAL MEDIAL TIBIAL LOCKING PLATE 14H RIGHT AS:ZIMMER 00-2357-007-14 67000 7

84-A29-700718 DISTAL MEDIAL TIBIAL LOCKING PLATE 18H RIGHT AS:ZIMMER 00-2357-007-18 67000 7

84-A29-700806 DISTAL MEDIAL TIBIAL LOCKING PLATE 6H LEFT AS:ZIMMER 00-2357-008-06 67000 7

84-A29-700808 DISTAL MEDIAL TIBIAL LOCKING PLATE 8H LEFT AS:ZIMMER 00-2357-008-08 67000 e

84-A29-700810 DISTAL MEDIAL TIBIAL LOCKING PLATE 10H LEFT AS:ZIMMER 00-2357-008-10 67000 7

84-A29-700814 DISTAL MEDIAL TIBIAL LOCKING PLATE 14H LEFT AS:ZIMMER 00-2357-008-14 67000 7

84-A29-700818 DISTAL MEDIAL TIBIAL LOCKING PLATE 18H LEFT AS:ZIMMER 00-2357-008-18 67000 e
DISTAL LATERAL TIBIAL LOCKING PLATE 6H RIGHT AS:ZIMMER 00-2357-009-

84-A29-700906 06 67000 ¥
DISTAL LATERAL TIBIAL LOCKING PLATE 8H RIGHT AS:ZIMMER 00-2357-009-

84-A29-700908 08 67000 ¥
DISTAL LATERAL TIBIAL LOCKING PLATE 10H RIGHT AS:ZIMMER 00-2357-009-

84-A29-700910 10 67000 ¥
DISTAL LATERAL TIBIAL LOCKING PLATE 14H RIGHT AS:ZIMMER 00-2357-009-

84-A29-700914 14 67000 ¥
DISTAL LATERAL TIBIAL LOCKING PLATE 18H RIGHT AS:ZIMMER 00-2357-009-

84-A29-700918 18 67000 ¥

84-A29-701006 DISTAL LATERAL TIBIAL LOCKING PLATE 6H LEFT AS:ZIMMER 00-2357-010-06 67000 e

84-A29-701008 DISTAL LATERAL TIBIAL LOCKING PLATE 8H LEFT AS:ZIMMER 00-2357-010-08 67000 e

84-A29-701010 DISTAL LATERAL TIBIAL LOCKING PLATE 10H LEFT AS:ZIMMER 00-2357-010-10 67000 7

84-A29-701014 DISTAL LATERAL TIBIAL LOCKING PLATE 14H LEFT AS:ZIMMER 00-2357-010-14 67000 7

84-A29-701018 DISTAL LATERAL TIBIAL LOCKING PLATE 18H LEFT AS:ZIMMER 00-2357-010-18 67000 7

84-A29-726526 REVISION NEXGEN PATELLA COMPONENT 26MM_AS:ZIMMER 2972-65-26 5292

84-A29-726529 NEXGEN TOTAL KNEE SYSTEM PATELLA #29 AS:ZIMMER 5972-65-29 6662

84-A29-726535 NEXGEN TOTAL KNEE SYSTEM PATELLA #35 AS:ZIMMER 5972-65-35 5292

84-A29-770410 VERSYS HIP SYSTEM M/L TAPER STEM 4 AS:ZIMMER 00-7711-004-10 26000

84-A29-770510 VERSYS HIP SYSTEM M/L TAPER STEM 5 AS:ZIMMER 00-7711-005-10 26000

84-A29-770610 VERSYS HIP SYSTEM M/L TAPER STEM 6 AS:ZIMMER 00-7711-006-10 26000

84-A29-770710 VERSYS HIP SYSTEM M/L TAPER STEM 7.5 AS:ZIMMER 00-7711-007-10 26000

84-A29-770910 VERSYS HIP SYSTEM M/L TAPER STEM 9 AS:ZIMMER 00-7711-009-10 26000

84-A29-771010 VERSYS HIP SYSTEM M/L TAPER STEM 10 AS:ZIMMER 00-7711-010-10 26000

84-A29-771110 VERSYS HIP SYSTEM M/L TAPER STEM 11 AS:ZIMMER 00-7711-011-10 26000

84-A29-771210 VERSYS HIP SYSTEM M/L TAPER STEM 12.5 AS:ZIMMER 00-7711-012-10 26000

84-A29-784315 REVISION TOTAL HIP LONG STEM 15MM _AS:ZIMMER 7843-15-08 49000
PROXIMAL LATERAL HUMERAL LOCKING PLATE 4H 90MM RIGHT AS:ZIMMER

84-A29-800104 00-2358-001-04 64000 ¥
PROXIMAL LATERAL HUMERAL LOCKING PLATE 6H 114MM RIGHT

84-A29-800106 AS:ZIMMER 00-2358-001-06 64000 ¥
PROXIMAL LATERAL HUMERAL LOCKING PLATE 8H 138MM RIGHT

84-A29-800108 AS:ZIMMER 00-2358-001-08 64000 ¥
PROXIMAL LATERAL HUMERAL LOCKING PLATE 12H 186MM RIGHT

84-A29-800112 AS:ZIMMER 00-2358-001-12 64000 ¥
PROXIMAL LATERAL HUMERAL LOCKING PLATE 16H 234MM RIGHT

84-A29-800116 AS:ZIMMER 00-2358-001-16 64000 ¥
PROXIMAL LATERAL HUMERAL LOCKING PLATE 4H 90MM LEFT AS:ZIMMER

84-A29-800204 00-2358-002-04 64000 ¥
PROXIMAL LATERAL HUMERAL LOCKING PLATE 6H 114MM LEFT AS:ZIMMER

84-A29-800206 00-2358-002-06 64000 ¥
PROXIMAL LATERAL HUMERAL LOCKING PLATE 8H 138MM LEFT AS:ZIMMER

84-A29-800208 00-2358-002-08 64000 ¥
ROXIMAL LATERAL HUMERAL LOCKING PLATE 12H I86MM LEFT AS:ZIMMER

84-A29-800212 00-2358-002-12 64000 ¥
PROXIMAL LATERAL HUMERAL LOCKING PLATE 16H 234MM LEFT AS:ZIMMER

84-A29-800216 00-2358-002-16 64000 ¥
DISTAL VOLAR RADIAL LOCKING PLATE COLUMN 3HOLE RIGHT AS:ZIMMER

84-A29-801303 2358-013-03 41000 ¥
DISTAL VOLAR RADIAL LOCKING PLATE COLUMN 4HOLE RIGHT AS:ZIMMER

84-A29-801304 2358-013-04 41000 ¥
DISTAL VOLAR RADIAL LOCKING PLATE COLUMN 3HOLE RIGHT AS:ZIMMER

84-A29-801306 2358-013-03 41000 ¥
DISTAL VOLAR RADIAL LOCKING PLATE COLUMN SHOLE RIGHT AS:ZIMMER

84-A29-801308 2358-013-08 41000 ¥
DISTAL VOLAR RADIAL LOCKING PLATE I0HOLE RIGHT AS:ZIMMER 2358-013-

84-A29-801310 10 41000 ¥

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 41




VARE/REGLAERMBIAZRHBERBERURAE-HH &R

DISTAL VOLAR RADIAL LOCKING PLATE 12HOLE RIGHT AS:ZIMMER 2358-013-

84-A29-801312 12 41000 ¥
DISTAL VOLAR RADIAL LOCKING PLATE COLUMN 3 HOLE LEFT AS:ZIMMER

84-A29-801403 2358-014-03 41000 ¥
DISTAL VOLAR RADIAL LOCKING PLATE COLUMN 4 HOLE LEFT AS:ZIMMER

84-A29-801404 2358-014-04 41000 ¥
DISTAL VOLAR RADIAL LOCKING PLATE COLUMN 6 HOLE LEFT AS:ZIMMER

84-A29-801406 2358-014-06 41000 ¥
DISTAL VOLAR RADIAL LOCKING PLATE COLUMN 8 HOLE LEFT AS:ZIMMER

84-A29-801408 2358-014-08 41000 ¥
DISTAL VOLAR RADIAL LOCKING PLATE COLUMN 10HOLE LEFT AS:ZIMMER

84-A29-801410 2358-014-10 41000 ¥
DISTAL VOLAR RADIAL LOCKING PLATE COLUMN 12HOLE LEFT AS:ZIMMER

84-A29-801412 2358-014-12 41000 ¥
DISTAL VOLAR RADIAL LOCKING PLATE COLUMN 3HOLE RIGHT AS:ZIMMER

84-A29-801703 2358-017-03 41000 ¥
DISTAL VOLAR RADIAL LOCKING PLATE COLUMN 4HOLE RIGHT AS:ZIMMER

84-A29-801704 2358-017-04 41000 ¥
DISTAL VOLAR RADIAL LOCKING PLATE COLUMN 3HOLE LEFT AS:ZIMMER

84-A29-801803 2358-018-03 41000 ¥
DISTAL VOLAR RADIAL LOCKING PLATE COLUMN 4HOLE LEFT AS:ZIMMER

84-A29-801804 2358-018-04 41000 ¥
DISTAL VOLAR RADIAL LOCKING PLATE COLUMN GHOLE LEFT AS:ZIMMER

84-A29-801806 2358-018-06 41000 ¥

84-A29-802701 NEXGEN TOTAL KNEE SYSTEM TIBIAL PLATE #1 AS:ZIMMER 5980-27-01 23000

84-A29-802702 NEXGEN TOTAL KNEE SYSTEM TIBIAL PLATE #2 AS:ZIMMER 5980-27-02 22500

84-A29-802703 RADIAL STYLOID LOCKING PLATE 3 HOLE RIGHT AS:ZIMMER 2358-027-03 41000 ¥

84-A29-802705 RADIAL STYLOID LOCKING PLATE 5 HOLE RIGHT AS:ZIMMER 2358-027-05 41000 ¥

84-A29-802803 RADIAL STYLOID LOCKING PLATE 3 HOLE LEFT AS:ZIMMER 2358-028-03 41000 ¥

84-A29-802805 RADIAL STYLOID LOCKING PLATE 5 HOLE LEFT AS:ZIMMER 2358-028-05 41000 ¥

84-A29-803701 NEXGEN TOTAL KNEE SYSTEM TIBIAL PLATE #3 AS:ZIMMER 5980-37-01 23000

84-A29-803702 NEXGEN TOTAL KNEE SYSTEM TIBIAL PLATE #4 AS:ZIMMER 5980-37-02 20500

84-A29-804701 NEXGEN TOTAL KNEE SYSTEM TIBIAL PLATE #5 AS:ZIMMER 5980-47-01 23000

84-A29-804702 NEXGEN TOTAL KNEE SYSTEM TIBIAL PLATE #6 AS:ZIMMER 5980-47-02 23000

84-A29-880320 HALF WEDGE SIZE 3-6 5988-03-20 4700

84-A29-880523 REVISION TOTAL KNEE FULL WEDGE #5 AS:ZIMMER 5988-05-23 4400

84-A29-881010 STEM EXTENSION 5988-10:21-10:24 8700

84-A29-881012 STEM EXTENSION 12X100MM AS:ZIMMER 5988-10-12 8100

84-A29-881014 STEM EXTENSION 14X100MM AS:ZIMMER 5988-10-14 8100

84-A29-881112 STEM EXTENSION 12X155MM AS:ZIMMER 5988-11-12 8100

84-A29-881212 STEM EXTENSION 5988-10:21-10:24 8700

84-A29-881512 STEM EXTENSION 5988-10:21-10:24 8700
REVISION TOTAL KNEE AUGMENTATION SMM DISTAL-C AS:ZIMMER 5990-33-

84-A29-903310 10 4400
REVISION TOTAL KNEE AUGMENTATION SMM DISTALD AS:ZIMMER 5990-34-

84-A29-903410 10 4400
REVISION TOTAL KNEE AUGMENTATION I0MM DISTAL D AS:ZIMMER 5990-

84-A29-903420 34-20 4400
REVISION TOTAL KNEE AUGMENTATION SMM DISTAL-E AS:ZIMMER 5990-35-

84-A29-903510 10 4400
REVISION TOTAL KNEE NEXGEN LOCK FEMORAL LEFT-C AS:ZIMMER 5994-13-

84-A29-941301 01 38750
REVISION TOTAL KNEE NEXGEN LOCK FEMORAL LEFI-D AS:ZIMMER 5994-14-

84-A29-941401 91 46500
REVISION TOTAL KNEE NEXGEN LOCK FEMORAL RIGHT-D AS:ZIMMER 5994-

84-A29-941402 14-92 38750
REVISION TOTAL KNEE NEXGEN LOCK FEMORAL LEFI-E AS:ZIMMER 5994-15-

84-A29-941501 01 46500
REVISION NEXGEN TIBIAL ARTICULAR SURFACE S-PURPLE 17 AS:ZIMMER

84-A29-942217 5094-22-17 26837
REVISION NEXGEN TIBIAL ARTICULAR SURFACE YELLOW-10 AS:ZIMMER

84-A29-943010 5994-30-10 10200
REVISION NEXGEN TIBIAL ARTICULAR SURFACE YELLOW-17 AS:ZIMMER

84-A29-943017 5994-30-17 26837
REVISION NEXGEN TIBIAL ARTICULAR SURFACE GREEN-10 AS:ZIMMER 5994-

84-A29-944010 40-10 26837
REVISION NEXGEN TIBIAL ARTICULAR SURFACE GREEN-17 AS:ZIMMER 5994-

84-A29-944017 40-17 10200

84-A29-HPA300 _ |VERSYS BIPOLAR SYSTEM AS:ZIMMER (F-B-HBA-3000T-Z1) 48560

84-A29-HPA400  |VERSYS TOTAL HIP SYSTEM AS:ZIMMER (F-B-HPA-4000T-Z1) 54060

84-A29-KPAS00  |NEXGEN TOTAL KNEE (CR) SYSTEM AS:ZIMMER (F-B-KPA-5000T-Z1) 61260

84-A29-KPAS00  |NEXGEN TOTAL KNEE (HIGH-FLEX) SYSTEM AS:ZIMMER (F-B-KPA-8000T-Z1) 67236

84-A37-200777 TWINFIX AB 5.0MM SUTURE ANCHOR AS:SMITH & NEPHEW 72200777 20000 %

84-A37-201769 BIOSURE-HA SCREW 6MM X 25MM AS:SMITH & NEPHEW 72201769 4500

84-A37-201772 BIOSURE-HA SCREW 7MM X 25MM AS:SMITH & NEPHEW 72201772 4500

84-A37-201774 BIOSURE-HA SCREW 7MM X 30MM AS:SMITH & NEPHEW 72201774 4500

84-A37-201776 BIOSURE-HA SCREW 8MM X 25MM AS:SMITH & NEPHEW 72201776 4500

84-A37-201778 BIOSURE-HA SCREW SMM X 30MM AS:SMITH & NEPHEW 72201778 4500

84-A37-201781 BIOSURE-HA SCREW 9MM X 25MM AS:SMITH & NEPHEW 72201781 4500

84-A37-201782 BIOSURE-HA SCREW 9MM X 30MM AS:SMITH & NEPHEW 72201782 4500

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 42




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-A37-201786 BIOSURE-HA SCREW 10MM X 30MM AS:SMITH & NEPHEW 72201786 4500
FAST-FIX 360 CURVED MENISCAL REPAIR SYSTEM AS:SMITH & NEPHEW
84-A37-202468 72202468 220001 e
84-A37-202901 FOOTPRINT ULTRA SUTURE ANCHOR 4.5MM AS:SMITH & NEPHEW 72202901 19000 A
84-A37-207554 BIORCI SCREW 7*25MM AS:SMITH & NEPHEW 7207554 5900
84-A37-207555 BIORCI SCREW 7#30MM AS:SMITH & NEPHEW 7207555 5900
84-A37-207560 BIORCI SCREW 8*25MM AS:SMITH & NEPHEW 7207560 5900
84-A37-207561 BIORCI SCREW 8*30MM AS:SMITH & NEPHEW 7207561 5900
84-A37-207563 BIORCI SCREW 9*25MM AS:SMITH & NEPHEW 7207563 5900
84-A37-207564 BIORCI SCREW 9#30MM AS:SMITH & NEPHEW 7207564 5900
84-A37-207565 BIORCI SCREW 9*35MM AS:SMITH & NEPHEW 7207565 5900
84-A37-207567 BIORCI SCREW 10*30MM AS:SMITH & NEPHEW 7207567 5900
TWINFIX TL. 5.0MM SUTURE ANCHOR (1PC- UHMW-PE SUTURE)
84-A37-210595 AS:SMITH+NEPHEW 72200755 4700
TWINFIX TL. 5.0MM SUTURE ANCHOR (1PC- UHMW-PE SUTURE)
84-A37-210598 AS:SMITH+NEPHEW 72200755 4700
84-A37-212315 ROTATOR CUFF ANCHOR AS:MITEK 212315(FE 5 Bl fifify)ae T i 1) 3570
5.5MM PEEK ZIP ANCHOR WITH 2 STRANDS # 2 FORCE FIBER AS:STRYKER
84-A39-200035 3910-200-035 22500 e
6.5MM PEEK ZIP ANCHOR WITH 2 STRANDS # 2 FORCE FIBER AS:STRYKER
84-A39-200075 3910-200-075 22500 e
84-A39-600060 REELX STT SUTURE KNOTLESS ANCHOR 5.5MM AS:STRYKER 3910-600-060 25000 PAY
84-A39-600062 REELX STT SUTURE KNOTLESS ANCHOR 4.5MM AS:STRYKER 3910-600-062 25000! e
84-A40-0C6101 REVOSCREW REVO CANCELLOUS SCREW 5.0MM AS:LINVATEC C6141 3570
84-A40-0C6109 MINI REVOSCREW REVO CANCELLOUS SCREW 2.7MM 3570
84-A40-0C8010 BIOSCREW 7 X 20MM LINVATEC C8010 6125
84-A40-0C8011 BIOSCREW 7 X 25MM LINVATEC C8011 4446
84-A40-0C8012 BIOSCREW 7 X 30MM LINVATEC C8012 6125
84-A40-0C8013 BIOSCREW 9 X 20MM LINVATEC C8013 6125
84-A40-0C8014 BIOSCREW 9 X 25MM LINVATEC C8014 6125
84-A40-0C8015 BIOSCREW 9 X 30MM LINVATEC C8015 6125
84-A40-0C8016 BIOSCREW GUKEDWIRE 14 X0.45 DIA.(SPER BOX)SST LINVATEC C8016 6125
84-A40-0C8017 BIOSCREW 8 X 20MM LINVATEC C8017 6125
84-A40-0C8018 BIOSCREW 8 X 25MM LINVATEC C8018 4446
84-A40-0C8019 BIOSCREW 8 X 30MM LINVATEC C8019 6125
84-A40-0C8028 BIOSCREW XTRALOK 10X35MM LINVATEC C8028 7000
84-A40-0C8029 BIOSCREW XTRALOK 11X35MM LINVATEC C8029 7000
84-A40-0C8040 BIOSCREW XTRALOK 9X40MM LINVATEC C8040 7000
84-A40-0C8041 BIOSCREW XTRALOK 10X40MM LINVATEC C8041 7000
84-A40-0C8042 BIOSCREW XTRALOK 11X40MM LINVATEC C8041 7000
84-A43-400234 MF CORTEX SCREW 1.3X4MM AS:SYNTHES 400.234 1785
84-A43-400235 MF CORTEX SCREW 1.3X5MM AS:SYNTHES 400.235 1785
84-A43-400236 MF CORTEX SCREW 1.3X6MM AS:SYNTHES 400.236 1785
84-A43-400238 MF CORTEX SCREW 1.3X8MM AS:SYNTHES 400.238 1785
84-A43-400884 EMERGENCY SCREW SLEF-TAPPING 1.7X4MM AS:SYNTHES 400.884 1785
84-A43-400885 EMERGENCY SCREW SLEF-TAPPING 1.7X5MM AS:SYNTHES 400.885 1785
84-A43-400886 EMERGENCY SCREW SLEF-TAPPING 1.7X6MM AS:SYNTHES 400.886 1785
84-A43-400888 EMERGENCY SCREW SLEF-TAPPING 1.7X8MM AS:SYNTHES 400.888 1785
EMERGENCY SCREW SELE-TAPPING TITANIUM 2.4X6MM (BLUE) AS:SYNTHES
84-A43-401306 401.306 44()
EMERGENCY SCREW SELE-TAPPING TITANIUM 2.4X8MM (BLUE) AS:SYNTHES
84-A43-401308 401.308 44()
EMERGENCY SCREW SELE-TAPPING TITANIUM 2.4X10MM (BLUE) AS:SYNTHES
84-A43-401310 401.310 44()
EMERGENCY SCREW SELE-TAPPING TITANIUM 2.4X12MM (BLUE) AS:SYNTHES
84-A43-401312 401.312 44()
84-A43-411904 MANDIBLE CORTEX SCREW SELF-TAPPING 2.0X4MM AS:SYNTHES 411.904 440
84-A43-411906 MANDIBLE CORTEX SCREW SELE-TAPPING 2.0X6MM AS:SYNTHES 411.906 440)
84-A43-411908 MANDIBLE CORTEX SCREW SELF-TAPPING 2.0X8MM AS:SYNTHES 411.908 440
84-A43-411910 MANDIBLE CORTEX SCREW SELF-TAPPING 2.0X10MM AS:SYNTHES 411.910 440)
84-A43-411912 MANDIBLE CORTEX SCREW SELF-TAPPING 2.0X12MM AS:SYNTHES 411.912 440
84-A43-411914 MANDIBLE CORTEX SCREW SELF-TAPPING 2.0X14MM AS:SYNTHES 411.914 440)
84-A43-411916 MANDIBLE CORTEX SCREW SELF-TAPPING 2.0X16MM AS:SYNTHES 411.916 440
84-A43-421010 ADAPTION PLATE 24 HOLES 1.3X95MM AS:SYNTHES 421.010 5886
84-A43-421021 ORBITAL PLATE CURVED 9 HOLES 1.3X36MM AS:SYNTHES 421.021 4786
84-A43-421022 STRAIGHT PLATE 2 HOLES 1.3X13MM AS:SYNTHES 421.022 3201
84-A43-421024 STRAIGHT PLATE 4 HOLES 1.3X21MM AS:SYNTHES 421.024 3201
84-A43-421050 L-PLATE LEFT 6 HOLES DIA 1.3MM AS:SYNTHES 421.050 5219
84-A43-421051 L-PLATE RIGHT 6 HOLES DIA 1.3MM AS:SYNTHES 421.051 5219
84-A43-421052 L-PLATE LEFT 7 HOLES DIA 1.3MM AS:SYNTHES 421.052 5219
84-A43-421053 L-PLATE RIGHT 7 HOLES DIA 1.3MM AS:SYNTHES 421.053 5219
84-A43-421302 ORBITAL FLOOR MESH-PLATE 1.3 3/ (D:0.2MM) AS:SYNTHES 421.302 14868
84-A43-447003 MINI PLATE 2.0MM WITH CENTRA SPACE 28MM 4-HOLES AS:SYNTHES 447.003 1268
84-A43-447004 MMINI PLATE 2.0MM PURE 23MM 4-HOLES AS:SYNTHES 447.004 1268

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 43




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-A43-447015 MINI PLATE 2.0MM WITH CENTRA SPACE 40MM 6-HOLES AS:SYNTHES 447.015 1486

84-A43-447016 MINI PLATE 2.0MM PURE 35MM 6-HOLES AS:SYNTHES 447.016 1486

84-A43-447020 MANDIBLE MINI PLATE 2.0MM PURE 119MM 20-HOLES AS:SYNTHES 447.020 1870

84-A43-447500 L-PLATE LEFT 5 HOLES 2.0X24MM AS:SYNTHES 447.500 2034

84-A43-447510 L- PLATE 1.5;2.0 5:10 HOLES e FL0tiE EA 446.5XX:447.04X:5XX 2034

84-A43-447520 L-PLATE LEFT 7 HOLES 2.0X29MM AS:SYNTHES 447.520 2034

84-A43-447530 L-PLATE LEFT 7 HOLES 2.0X29MM AS:SYNTHES 447.530 2034

84-A43-460001 FLAPFIX DIA 1.3MM SINGLE PACK AS:SYNTHES 460.001 4800

84-A43-460002 FLAPFIX DIA 1.8MM SINGLE PACK AS:SYNTHES 460.002 4800

84-A46-404010 ANTERIOR & POSTERIOR CERVICAL SYSTEM BI-CORTICAL SCREW 3.5X10MM 340

84-A46-404012 ANTERIOR & POSTERIOR CERVICAL SYSTEM BI-CORTICAL SCREW 3.5X12MM 340

84-A46-404014 ANTERIOR & POSTERIOR CERVICAL SYSTEM BI-CORTICAL SCREW 3.5X14MM 340

84-A46-404016 ANTERIOR & POSTERIOR CERVICAL SYSTEM BI-CORTICAL SCREW 3.5X16MM 340

84-A46-404018 ANTERIOR & POSTERIOR CERVICAL SYSTEM BI-CORTICAL SCREW 3.5X18MM 340
ANTERIOR & POSTERIOR CERVICAL SYSTEM BI-CORTICAL SCREW 3.5X19MM

84-A46-404019 AS:SYNTEC 404019 340

84-A46-404020 ANTERIOR & POSTERIOR CERVICAL SYSTEM BI-CORTICAL SCREW 3.5X20MM 340

84-A46-404021 ANTERIOR & POSTERIOR CERVICAL SYSTEM BI-CORTICAL SCREW 3.5X21MM 340

84-A46-404022 ANTERIOR & POSTERIOR CERVICAL SYSTEM BI-CORTICAL SCREW 3.5X22MM 340

84-A46-404023 ANTERIOR & POSTERIOR CERVICAL SYSTEM BI-CORTICAL SCREW 3.5X23MM 340

84-A46-404024 ANTERIOR & POSTERIOR CERVICAL SYSTEM BI-CORTICAL SCREW 3.5X24MM 340

84-A46-404026 ANTERIOR & POSTERIOR CERVICAL SYSTEM BI-CORTICAL SCREW 3.5X26MM 340

84-A46-404028 ANTERIOR & POSTERIOR CERVICAL SYSTEM BI-CORTICAL SCREW 3.5X28MM 340

84-A46-404036 ANTERIOR & POSTERIOR CERVICAL SYSTEM BI-CORTICAL SCREW 3.5X36MM 340

84-A46-404038 ANTERIOR & POSTERIOR CERVICAL SYSTEM BI-CORTICAL SCREW 3.5X38MM 340

84-A46-404040 ANTERIOR & POSTERIOR CERVICAL SYSTEM BI-CORTICAL SCREW 3.5X40MM 340

84-A46-404042 ANTERIOR & POSTERIOR CERVICAL SYSTEM BI-CORTICAL SCREW 3.5X42MM 340
ANTERIOR & POSTERIOR CERVICAL SYSTEM ANTERIOR PLATE 26MM

84-A46-613026 AS:SYNTEC 613026 4900
ANTERIOR & POSTERIOR CERVICAL SYSTEM ANTERIOR PLATE 28MM

84-A46-613028 AS:SYNTEC 613026 4900
ANTERIOR & POSTERIOR CERVICAL SYSTEM ANTERIOR PLATE 30MM

84-A46-613030 AS:SYNTEC 613026 4900
ANTERIOR & POSTERIOR CERVICAL SYSTEM ANTERIOR PLATE 32MM

84-A46-613032 AS:SYNTEC 613026 4900
ANTERIOR & POSTERIOR CERVICAL SYSTEM ANTERIOR PLATE 36MM

84-A46-613036 AS:SYNTEC 613026 4900
ANTERIOR & POSTERIOR CERVICAL SYSTEM ANTERIOR PLATE 42MM

84-A46-613042 AS:SYNTEC 613026 4900
ANTERIOR & POSTERIOR CERVICAL SYSTEM ANTERIOR PLATE 44MM

84-A46-613044 AS:SYNTEC 613026 4900
ANTERIOR & POSTERIOR CERVICAL SYSTEM ANTERIOR PLATE 46MM

84-A46-613046 AS:SYNTEC 613026 4900
ANTERIOR & POSTERIOR CERVICAL SYSTEM ANTERIOR PLATE 48MM

84-A46-613048 AS:SYNTEC 613026 4900
ANTERIOR & POSTERIOR CERVICAL SYSTEM ANTERIOR PLATE S0MM

84-A46-613050 AS:SYNTEC 613026 4900
ANTERIOR & POSTERIOR CERVICAL SYSTEM ANTERIOR PLATE 54MM

84-A46-613054 AS:SYNTEC 613026 4900
ANTERIOR & POSTERIOR CERVICAL SYSTEM ANTERIOR PLATE 60MM

84-A46-613060 AS:SYNTEC 613026 4900
ANTERIOR & POSTERIOR CERVICAL SYSTEM ANTERIOR PLATE 66MM

84-A46-613066 AS:SYNTEC 613026 4900
ANTERIOR & POSTERIOR CERVICAL SYSTEM ANTERIOR PLATE 72MM

84-A46-613072 AS:SYNTEC 613026 4900

84-A46-613110 ANTERIOR & POSTERIOR CERVICAL SYSTEM CERVICAL SCREW 3.5X10MM 320

84-A46-613112 ANTERIOR & POSTERIOR CERVICAL SYSTEM CERVICAL SCREW 3.5X12MM 320

84-A46-613114 ANTERIOR & POSTERIOR CERVICAL SYSTEM CERVICAL SCREW 3.5X14MM 320

84-A46-613116 ANTERIOR & POSTERIOR CERVICAL SYSTEM CERVICAL SCREW 3.5X16MM 320

84-A46-613118 ANTERIOR & POSTERIOR CERVICAL SYSTEM CERVICAL SCREW 3.5X18MM 320

84-A46-613119 ANTERIOR & POSTERIOR CERVICAL SYSTEM CERVICAL SCREW 3.5X19MM 320

84-A46-613120 ANTERIOR & POSTERIOR CERVICAL SYSTEM CERVICAL SCREW 3.5X20MM 320

84-A46-613121 ANTERIOR & POSTERIOR CERVICAL SYSTEM CERVICAL SCREW 3.5X21MM 320

84-A46-613122 ANTERIOR & POSTERIOR CERVICAL SYSTEM CERVICAL SCREW 3.5X22MM 320

84-A46-613123 ANTERIOR & POSTERIOR CERVICAL SYSTEM CERVICAL SCREW 3.5X23MM 320

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 44




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

84-A46-613124 ANTERIOR & POSTERIOR CERVICAL SYSTEM CERVICAL SCREW 3.5X24MM 320

84-A46-613126 ANTERIOR & POSTERIOR CERVICAL SYSTEM CERVICAL SCREW 3.5X26MM 320

84-A46-613128 ANTERIOR & POSTERIOR CERVICAL SYSTEM CERVICAL SCREW 3.5X28MM 320

84-A46-613136 ANTERIOR & POSTERIOR CERVICAL SYSTEM CERVICAL SCREW 3.5X36MM 320

84-A46-613138 ANTERIOR & POSTERIOR CERVICAL SYSTEM CERVICAL SCREW 3.5X38MM 320

84-A46-613140 ANTERIOR & POSTERIOR CERVICAL SYSTEM CERVICAL SCREW 3.5X40MM 320

84-A46-613142 ANTERIOR & POSTERIOR CERVICAL SYSTEM CERVICAL SCREW 3.5X42MM 320
"ACTIV C INTERVERTEBRAL DISK PROSTHESIS ACTIV C FLAT IMPLANT SIZE

84-A47-SW289K  |XS, H SMM AS:AE" 230000 e
"ACTIV C INTERVERTEBRAL DISK PROSTHESIS ACTIV C FLAT IMPLANT SIZE

84-A47-SW290K _ |XS, H 6MM AS:AE" 230000 e
"ACTIV C INTERVERTEBRAL DISK PROSTHESIS ACTIV C FLAT IMPLANT SIZE

84-A47-SW291K |S, H SMM AS:AES" 230000 A
"ACTIV C INTERVERTEBRAL DISK PROSTHESIS ACTIV C FLAT IMPLANT SIZE

84-A47-SW292K_|S. H 6MM" 230000 A
"ACTIV C INTERVERTEBRAL DISK PROSTHESIS ACTIV C FLAT IMPLANT SIZE

84-A47-SW293K_ |M, H SMM" 230000 A
"ACTIV C INTERVERTEBRAL DISK PROSTHESIS ACTIV C FLAT IMPLANT SIZE

84-A47-SW294K  |M, H MM AS:AES" 230000 A
"ACTIV C INTERVERTEBRAL DISK PROSTHESIS ACTIV C FLAT IMPLANT SIZE

84-A47-SW295K  |L. H SMM AS:AES" 230000 A

84-A58-000001 GEZEN SPINAL FIXATION SYSTEM 2LEVEL SX4+RX2 AS:BIOLIFE 14507

84-AS8-00LT70  |GEZEN SPINAL FIXATION SYSTEM TRANSVERSE LINK 70MM AS:BIOLIFE LT70 2795

84-AS8-00LTS0  |GEZEN SPINAL FIXATION SYSTEM TRANSVERSE LINK 80MM AS:BIOLIFE LT80 2795

84-AS8-0LR0S0 __|GEZEN SPINAL FIXATION SYSTEM ROD SHORT S0MM AS:BIOLIFE LR050 713

84-ASS-0LR060  |GEZEN SPINAL FIXATION SYSTEM ROD SHORT 60MM AS:BIOLIFE LROG0 713

84-AS8-0LR100  |GEZEN SPINAL FIXATION SYSTEM ROD SHORT 100MM AS:BIOLIFE LR100 713

84-ASS-OLR110  |GEZEN SPINAL FIXATION SYSTEM ROD LONG 110MM AS:BIOLIFE LR110 1490

84-AS8-0LR125  |GEZEN SPINAL FIXATION SYSTEM ROD LONG 125MM AS:BIOLIFE LR125 1490

84-ASS-0LR140  |GEZEN SPINAL FIXATION SYSTEM ROD LONG 140MM AS:BIOLIFE LR140 1490

84-AS8-OLR150  |GEZEN SPINAL FIXATION SYSTEM ROD LONG 150MM AS:BIOLIFE LR150 1490
GEZEN SPINAL FIXATION SYSTEM POLY AXIAL CANCELLOUS BONE SCREW

84-AS8-CU6540  |6.5X40MM 14800 *
GEZEN SPINAL FIXATION SYSTEM POLY AXIAL CANCELLOUS BONE SCREW

84-AS8-CU6545  |6.5X45MM 14800 *
GEZEN SPINAL FIXATION SYSTEM POLY AXIAL SCREW 6.0X45MM ASBIOLIFE

84-AS8-LC6045  |LC6M4S 3270
GEZEN SPINAL FIXATION SYSTEM POLY AXIAL SCREW 6.5X35MM ASBIOLIFE

84-AS8-LC6535  |LC6535 3270
GEZEN SPINAL FIXATION SYSTEM POLY AXIAL SCREW 6.5X40MM ASBIOLIFE

84-AS8-LC6540  |LC6540 3270
GEZEN SPINAL FIXATION SYSTEM POLY AXIAL SCREW 6.5X45MM ASBIOLIFE

84-AS8-LC6545  |LC6545 3270
GEZEN SPINAL FIXATION SYSTEM POLY AXIAL SCREW 7.0X40MM ASBIOLIFE

84-AS8-LC7040  |LC7040 3270
GEZEN SPINAL FIXATION SYSTEM POLY AXIAL SCREW 7.0X45MM ASBIOLIFE

84-AS8-LCT045  |LCT045 3270

84-AES-FE760K  |AESUIAP FE760K ANEURYSM CLIP 3500

84-AES-FE762K _|AESUIAP FE762K ANEURYSM CLIP 3500

84-B05-004337 EXPERT TIBIAL NAIL W9.0MM 285MM AS:SYNTHES 04.004.337 72000 ¥

84-B05-004340 EXPERT TIBIAL NAIL W9.0MM 300MM AS:SYNTHES 04.004.340 72000 A

84-B05-004343 EXPERT TIBIAL NAIL W9.0MM 315MM AS:SYNTHES 04.004.343 72000 ¥

84-B05-004437 EXPERT TIBIAL NAIL W 10.0MM 285MM AS:SYNTHES (4.004.437 72000 A

84-B05-004440 EXPERT TIBIAL NAIL W 10.0MM 300MM AS:SYNTHES (4.004.440 72000 ¥

84-B05-004443 EXPERT TIBIAL NAIL W 10.0MM 315MM AS:SYNTHES (4.004.443 72000 A

84-B05-004446 EXPERT TIBIAL NAIL W 10.0MM 330MM AS:SYNTHES (4.004.446 72000 ¥

84-B05-004537 EXPERT TIBIAL NAIL W 11.0MM 285MM AS:SYNTHES (4.004.537 72000 A

84-B05-004540 EXPERT TIBIAL NAIL W 11.0MM 300MM AS:SYNTHES (4.004.540 72000 ¥

84-B05-004546 EXPERT TIBIAL NAIL W 11.0MM 330MM AS:SYNTHES (4.004.546 72000 A

84-B05-004640 EXPERT TIBIAL NAIL W 12.0MM 300MM AS:SYNTHES (4.004.640 72000 ¥

84-B05-004646 EXPERT TIBIAL NAIL W 12.0MM 330MM AS:SYNTHES (4.004.646 72000 A

84-B05-004649 EXPERT TIBIAL NAIL W 12.0MM 345MM AS:SYNTHES (4.004.649 72000 ¥

84-B05-093528 EXPERT A2FN NAIL RIGHT D:10MM L:360MM AS:SYNTHES 04.009.3528 74286 A

84-B05-093538 EXPERT A2EN NAIL LEFT D:10MM L:360MM AS:SYNTHES 04.009.353S 74286 ¥t

84-B05-095608 EXPERT A2FN NAIL RIGHT D:12MM L:400MM AS:SYNTHES 04.009.560S 74286 A

84-B05-09561S EXPERT A2EN NAIL LEFT D:12MM L:400MM AS:SYNTHES 04.009.561S 74286 7c
TCP SUPERIOR ANTERIOR CLAVICLE PLATE WITH LATERAL 2.7/3.5MM 6H

84-B05-112008 RIGHT 60000 7
LCP SUPERIOR ANTERIOR CLAVICLE PLATE WITH LATERAL 2.7/3.5MM 6H

84-B05-112009 LEFT AS:SYNTHES 0 60000 7
TCP SUPERIOR ANTERIOR CLAVICLE PLATE WITH LATERAL 2.7/3.5MM 4H

84-B05-112010 RIGHT 60000 7¢
LCP SUPERIOR ANTERIOR CLAVICLE PLATE WITH LATERAL 2.7/3.5MM 41

84-B05-112011 LEFT AS:SYNTHES 0 60000 7¢
TCP SUPERIOR ANTERIOR CLAVICLE PLATE WITH LATERAL 2.7/3.5MM 5H

84-B05-112012 RIGHT AS:SYNTHES 60000 7¢
LCP SUPERIOR ANTERIOR CLAVICLE PLATE WITH LATERAL 2.7/3.5MM 5H

84-B05-112013 LEFT 60000 7¢

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 45




VARER/REG A ATERMEIAZRAUBERBERKRAE-HH &R

LCP SUPERIOR ANTERIOR CLAVICLE PLATE WITH LATERAL 2.7/3.5MM 8H

84-B05-112020 RIGHT 60000 AT
L.CP SUPERIOR ANTERIOR CLAVICLE PLATE WITH LATERAL 2.7/3.5MM 8H
84-B05-112021 LEFT 60000 AT
84-B05-112026 LCP SUPERIOR ANTERIOR CLAVICLE PLATE 3.5MM 6H RIGHT AS:SYNTHES 60000! ¥t
LCP SUPERIOR ANTERIOR CLAVICLE PLATE 3.5MM 6H LEFT AS:SYNTHES
84-B05-112027 04.112.027 60000! e
LCP SUPERIOR ANTERIOR CLAVICLE PLATE 3.5MM 7H LEFT AS:SYNTHES
84-B05-112029 04.112.029 60000! e
84-B05-112080 LCP SUPERIOR CLAVICLE PLATE 3.5MM RIGHT 6H AS:SYNTHES 04.112.080 73000 AT
84-B05-112081 LCP SUPERIOR CLAVICLE PLATE 3.5MM LEFT 6H AS:SYNTHES 04.112.081 73000! ¥t
84-B05-112082 LCP SUPERIOR CLAVICLE PLATE 3.5MM RIGHT 7H AS:SYNTHES 04.112.082 73000 AT
84-B05-112083 LCP SUPERIOR CLAVICLE PLATE 3.5MM LEFT 7H AS:SYNTHES 04.112.083 73000! ¥t
84-B05-112084 LCP SUPERIOR CLAVICLE PLATE 3.5MM RIGHT 8H AS:SYNTHES 04.112.084 73000 AT
84-B05-112085 LCP SUPERIOR CLAVICLE PLATE 3.5MM LEFT 8H AS:SYNTHES 04.112.085 73000! ¥t
LCP LATERAL DISTAL FIBULA PLATE 2.7/3.5MM RIGHT 4H AS:SYNTHES
84-B05-112138 04.112.138 72500 e
LCP LATERAL DISTAL FIBULA PLATE 2.7/3.5MM LEFT 4H AS:SYNTHES
84-B05-112139 04.112.139 72500 e
LCP LATERAL DISTAL FIBULA PLATE 2.7/3.5MM LEFT 6H AS:SYNTHES
84-B05-112143 04.112.143 72500 e
LCP LOW BEND MEDIAL DISTAL TIBIA PLATE 3.5MM 8H RIGHT AS:SYNTHES
84-B05-112518 04.112.518 77700 e
LCP LOW BEND MEDIAL DISTAL TIBIA PLATE 3.5MM 8H LEFT AS:SYNTHES
84-B05-112519 04.112.519 77700 e
LCP LOW BEND MEDIAL DISTAL TIBIA PLATE 3.5MM 10H LEFT AS:SYNTHES
84-B05-112523 04.112.523 77700 e
LCP LOW BEND MEDIAL DISTAL TIBIA PLATE 3.5MM 12H RIGHT AS:SYNTHES
84-B05-112526 04.112.526 77700 e
LCP LOW BEND MEDIAL DISTAL TIBIA PLATE 3.5MM 12H LEFT AS:SYNTHES
84-B05-112527 04.112.527 77700 e
LCP POSTERIOR MEDIAL PROXIMAL TIBIAL PLATE 3.5MM 4H AS:SYNTHES
84-B05-120704 04.120.704 77700 e
84-B05-441074 3.SLCPERT SIS MR EET BAi44L %E15MM 411:SYNTHES 441.074 60000 Y
84-B05-441075 3.SLCPE I S MR EE 1T A/c4+L E1SMM A:SYNTHES 441.075 60000! ¥t
84-B05-441076 SYNTHES LCP CLAVICLE HOOK PLATE/CLAVICLE HOOK PLATES 3.5 60000 AT
84-B05-441077 3.SLCPE I S MR EE 1T A/c4+L E18MM AI:SYNTHES 441.077 60000! ¥e
84-B05-441094 LCP CLAVICLE HOOK PLATE 3.5X15MM 6H RIGHT AS:SYNTHES 441.094 60000 AT
84-B05-441095 LCP CLAVICLE HOOK PLATE 3.5X15MM 6H LEFT AS:SYNTHES 441.095 60000! ¥e
84-B05-441096 LCP CLAVICLE HOOK PLATE 3.5X18MM 6H RIGHT AS:SYNTHES 441.096 60000 AT
84-B05-441097 LCP CLAVICLE HOOK PLATE 3.5X18MM 6H LEFT AS:SYNTHES 441.097 60000! ¥e
84-BAR-0017GV_ |ENCOR PROBE UPRIGHT-7 GAUGE AS:SENORX ECPO17GV 17000 AT
84-BAR-0110GV__ |ENCOR PROBE UPRIGHT-10 GAUGE AS:SENORX ECP0110GV 17000 ¥e
84-BAR-0112GV  |ENCOR PROBE UPRIGHT-12 GAUGE AS:SENORX ECP0112GV 17000 AT
84-COK-000075S  |Ifsis 745 (1) TFRXSCM 2394
84-COK-000077S  [MEiE Y5 (i) 7FRXTCM 2135
84-COK-000079S  |Ifsis 8745 (1) TFRX9CM 2135
84-COK-000712S  [MEiE R e (i) TFRX12CM 2394
84-COK-000715S  |Ifsis 745 (1) TFRX15CM 2394
84-COK-078074S  [MEiE R e (%) TFRX4CM 2135
84-COK-0ZS075S  |IEE R (55) TFRXSCM 2044
84-COK-07S077S __ [M&iE e (%) TFRXTCM 2135
84-COK-101501 ULTRAXX NEPHROSTOMY BALLOON SET AS:COOK UNB-10-15-CS 7500
84-COK-GEPD34  |PANCREATIC STENT SET 3FR 4CM AS:COOK GEPD-3-4 6100
84-COK-ZS0710S | #7145 (54) TFRX10CM 2394
ENDURANT STENT GRAFT SYSTEM 23X13X124MM AS:MEDTRONIC
84-MED-241214 ENBF2313C120EE 465000
ENDURANT STENT GRAFT SYSTEM 23X13X145MM AS:MEDTRONIC
84-MED-241215 ENBF2313C145EE 465000
ENDURANT STENT GRAFT SYSTEM 23X13X166MM AS:MEDTRONIC
84-MED-241217 ENBF2313C170EE 465000
ENDURANT STENT GRAFT SYSTEM 23X16X124MM AS:MEDTRONIC
84-MED-241414 ENBF2316C120EE 465000
ENDURANT STENT GRAFT SYSTEM 23X16X145MM AS:MEDTRONIC
84-MED-241415 ENBF2316C145EE 465000
ENDURANT STENT GRAFT SYSTEM 23X16X166MM AS:MEDTRONIC
84-MED-241417 ENBF2316C170EE 465000
ENDURANT STENT GRAFT SYSTEM 25X13X124MM AS:MEDTRONIC
84-MED-261214 ENBF2513C120EE 465000
ENDURANT STENT GRAFT SYSTEM 25X13X145MM AS:MEDTRONIC
84-MED-261215 ENBF2513C145EE 465000
ENDURANT STENT GRAFT SYSTEM 25X13X166MM AS:MEDTRONIC
84-MED-261217 ENBF2513C170EE 465000
ENDURANT STENT GRAFT SYSTEM 25X16X124MM AS:MEDTRONIC
84-MED-261414 ENBF2516C120EE 465000
ENDURANT STENT GRAFT SYSTEM 25X16X145MM AS:MEDTRONIC
84-MED-261415 ENBF2516C145EE 465000
ENDURANT STENT GRAFT SYSTEM 25X16X166MM AS:MEDTRONIC
84-MED-261417 ENBF2516C170EE 465000
ENDURANT STENT GRAFT SYSTEM 28X13X124MM AS:MEDTRONIC
84-MED-281414 ENBF2813C120EE 465000

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 46




VARE/ES X TERMEIAZRHBERBERUKRAE-HH &R

ENDURANT STENT GRAFT SYSTEM 28X13X145MM AS:MEDTRONIC

84-MED-281415  |ENBE2813C145EE 465000
ENDURANT STENT GRAFT SYSTEM 28X 13X 166MM AS:MEDTRONIC
84-MED-281417  |ENBE2813C170EE 465000
ENDURANT STENT GRAFT SYSTEM 28X 16X 124MM AS:MEDTRONIC
84-MED-281614  |ENBE2816C120EE 465000
ENDURANT STENT GRAFT SYSTEM 28X16X145MM AS:MEDTRONIC
84-MED-281615  |ENBE2816C145EE 465000
ENDURANT STENT GRAFT SYSTEM 28X 16X 166MM AS:MEDTRONIC
84-MED-281617  |ENBE2816C170EE 465000
ENDURANT STENT GRAFT SYSTEM 28X20X 124MM AS:MEDTRONIC
84-MED-282014  |ENBE2820C120EE 465000
ENDURANT STENT GRAFT SYSTEM 28X20X 145MM AS:MEDTRONIC
84-MED-282015  |ENBE2820C145EE 465000
ENDURANT STENT GRAFT SYSTEM 28X20X 166MM AS:MEDTRONIC
84-MED-282017  |ENBE2820C170EE 465000
ENDURANT STENT GRAFT SYSTEM 32X 16X 124MM AS:MEDTRONIC
84-MED-321415  |ENBE3216C120EE 465000
ENDURANT STENT GRAFT SYSTEM 32X 16X 145MM AS:MEDTRONIC
84-MED-321615  |ENBE3216C145EE 465000
ENDURANT STENT GRAFT SYSTEM 32X 16X 166MM AS:MEDTRONIC
84-MED-321617  |ENBE3216C170EE 465000
ENDURANT STENT GRAFT SYSTEM 32X20X 124MM AS:MEDTRONIC
84-MED-321815  |ENBE3220C120EE 465000
ENDURANT STENT GRAFT SYSTEM 32X20X 145MM AS:MEDTRONIC
84-MED-322015  |ENBE3220C145EE 465000
ENDURANT STENT GRAFT SYSTEM 32X20X 166MM AS:MEDTRONIC
84-MED-322017  |ENBE3220C170EE 465000
ENDURANT STENT GRAFT SYSTEM 36X 16X 145MM AS:MEDTRONIC
84-MED-361815  |ENBE3616C145EE 465000
ENDURANT STENT GRAFT SYSTEM 36X 16X 166MM AS:MEDTRONIC
84-MED-361817  |ENBE3616C170EE 465000
ENDURANT STENT GRAFT SYSTEM 36X20X 145MM AS:MEDTRONIC
84-MED-362015  |ENBE3620C145EE 465000
ENDURANT STENT GRAFT SYSTEM 36X20X 166MM AS:MEDTRONIC
84-MED-362017  |ENBE3620C170EE 465000
84-OHI-200902 SUCTION IRRIGATION PROBE 840 A
84-OHI-200903 IRRIGATION/SUCTION SET AS:PAHSCO 1S002 180 A
84-OLY-0FB230  |DISPOSABLE BIOPSY FORCEPS AS:0LYMPUS FB-230 940
84-OLY-221U25  |DISPOSABLE ELECTROSURGICAL SNARE AS:OLYMPUS SD-221U-25 2100
MECHANICAL LITHOTRIPTOR BASKET OPENING WIDTH:30MM CHANNEL
84-OLY-ML202Q  [3.2MM 16000
84-PER-063106 CLOSER DEVICE (PERCLOSE 063106) 13390 PA
84-STO-27050G CUTTING LOOP NO.24 STOZ 27050G 980,
84-STO-27050L COAGULATING ELECTRODE KNIFE TIP STORZ 27050L 980
84-STO-27050N STORE 27050N COAGULATING ELECTRODE BALL 980,
84-T03-000145 " ABBOTT SPINE FIDJI CERVICAL CAGE 12#15%4.5, #SN3005-0-00377." 24000 *
84-T03-010106 5.5MM DISTAL LATERAL FEMORAL LOCKING PLATE 10H RIGHT #2357-101-10 65000
84-T03-010110 5.SMM DISTAL LATERAL FEMORAL LOCKING PLATE 10H RIGHT #2357-101-10 65000 Yo
84-T03-010210 DISTAL FEMORAL LOCKING PLATE LATERAL 14H 65000 A
84-T03-214026 " SYNTEC 4.5 CORTEX SCREW 26MM, #214026 ." 360
84-T03-214028 " SYNTEC 4.5 CORTEX SCREW 28MM, #214028 ." 360
84-T03-214030 " SYNTEC 4.5 CORTEX SCREW 30MM, #214030 ." 360
84-T03-214032 " SYNTEC 4.5 CORTEX SCREW 32MM, #214032 ." 360
84-T03-214034 " SYNTEC 4.5 CORTEX SCREW 34MM, #214034 ." 360
84-T03-214036 " SYNTEC 4.5 CORTEX SCREW 36MM, #214036 ." 360
84-T03-214038 " SYNTEC 4.5 CORTEX SCREW 38MM, #214038 ." 360
84-T03-214040 " SYNTEC 4.5 CORTEX SCREW 40MM, #214040 ." 360
84-T03-214042 " SYNTEC 4.5 CORTEX SCREW 42MM, #214042 ." 360
84-T03-218040 " SYNTCE 6.5 CANCELLOUS SCREW 40MM #218040." 600
84-T03-218045 " SYNTCE 6.5 CANCELLOUS SCREW 45MM #218045." 600
84-T03-500153 " ABBOTT SPINE FIDJI CERVICAL CAGE 12#15%5.3, #SN3005-0-00153." 24000 *
84-T03-500161 " ABBOTT SPINE FIDJI CERVICAL CAGE 12#15%6.1, #SN3005-0-00161" 24000 *
84-T03-500169 ZIMMER SPINAL FIDJI CERVICAL CAGES(PEEK) it SEMEMERNTR@I 24000 5
84-T03-500369 FIDJI CERVICAL CAGES PEEK SSiHEHE Ll & #3#SN3005-0-00369. 26250 #
84-T03-500377 " ABBOTT SPINE FIDII CERVICAL CAGE 14*17+7.7, #SN3005-0-00377." 24000 *
" ZIMMER™ DISTAL LATERAL FIBULAR PLATE , LEFT 4HOLE .80MM LENGTH
84-T03-571804 #2357-018-04." 60000 A
84-T03-580905 PROXIMAL ULNA LOCKING PLATE RIGHT SH #2358-009-05. 48000 ¥t
SYNTEC KING BO HUMERAL INTERLOCKING NAILS SYSTEM-FEMORAL
84-T03-80037R #S880037R 9300
84-TYC-179078 VERSAPORT RPF 10-15MM TROCAR AS:USSC TYCO 179078P 2000
84-USS-111985 AUTO SUTURE PREMIUM PLUS CEEA 25MM AS:COVIDIEN 111985 7700
84-USS-111987 AUTO SUTURE PREMIUM PLUS CEEA 28MM AS:COVIDIEN 111987 7700
84-USS-111989 AUTO SUTURE PREMIUM PLUS CEEA 31MM AS:COVIDIEN 111989 7700
LIGASURE ATLAS SINGLE USE LAPAOSCOPIC DEVICE SMM 37CM
84-VAL-001100 AS:VALLEYLAB LF1637 14000 A

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 47




VARER/RES A ABERMEIAZRHBERERKRRE-HH &R

LIGASURE VESSEL SEALING HANDSWITCH INSTRUMENTS AS:VALLEYLAB

84-VAL-004200 LF4200 7524 A
91-211-900005 TRIANGLE TOWEL 36 X36 X52 70 e
91-SPH-000004 TOTAL HIP SYSTEM 59900
91-SPH-000006 BICONTACT BIPOLAR HIP SYSTEM 53790
91-SPH-000007 FEMORAL NAIL SYSTEM 9945.6
91-SPH-000011 BICONTACT TOTAL HIP SYSTEM 59900
91-SPH-000013 NEXGEN LPS-FLEX COMPLETE KNEE SYSTEM 67236
91-SPH-000014 "CANNULATED SCREW D8,6.54MM" 2100
91-SPH-000015 "WASHERS 7,10.13MM DIAM." 89.25
91-SPH-000016 CANNULATED SCREW 70MM 2100
91-SPH-000017 CANNULATED SCREW 36MM 2100
91-SPH-000018 CANNULATED SCREW 60MM 2100
91-SPH-000019 WASHER 13MM 89.25
91-SPH-000024 BRI 0 pA
91-SPH-000039 QUARTER TUBULAR PLATE 3:8HOLE(7114-8005) 481.95
91-SPH-000040 "CORTEX SCREW 1.5,2.0,2.7,3.5MM(7122-0012)" 199.5
91-SPH-000041 "CORTEX SCREW 1.5,2.0,2.7,3.5MM(7122-0016)" 199.5
91-SPH-000042 "CORTEX SCREW 1.5,2.0,2.7,3.5MM(7122-0020)" 199.5
91-SPH-000043 QUARTER TUBULAR PLATE 3:8HOLE 2.7MM(7114-8006) 481.95
91-SPH-000052 "CORTEX SCREW 1.5,2.0,2.7,3.5MM(7116-2008)" 199.5
91-SPH-000053 "CORTEX SCREW 1.5,2.0,2.7,3.5MM(7116-2010)" 199.5
91-SPH-000054 "CORTEX SCREW 1.5,2.0,2.7.3.5MM(7116-2012)" 199.5
91-SPH-000055 "CORTEX SCREW 1.5,2.0,2.7.3.5MM(7116-2014)" 199.5
91-SPH-000056 "CORTEX SCREW 1.5,2.0,2.7,3.5MM(7122-0014)" 199.5
91-SPH-000302 TFE SHEATH 16CM 28FR 1468
91-SPH-000306 BRI LD 120 ¥
91-SPH-000308 INTERFERENCE SCREW F110725:F111025 5065
91-SPH-000309 [/ 50 8 S 51000
DOUBLE PIGTAIL URETERAL STENT SET(STENT WITH HY DROMER+GUIDE
91-SPH-000335 WIRE+PUSHER) 2440
91-SPH-000371 i RS 59940 w
91-SPH-1322SAW  [FASTAK SUTURE ANCHOR 2.4MM:2.8MM 3570
91-SPH-1370TAW  [INTERFERENCE SCREW (AR1370T:1402T) 4725
91-SPH-16260N FEMORAL HEAD 28MM 6615
91-SPH-1HO001 CAPD2 1.5% 1.5L 178
91-SPH-1H0002 CAPD42.3% 1.5L 178
91-SPH-1H0003 CAPD2 1.5% 2.0L 205
91-SPH-1H0004 CAPD4 2.3% 2.0L 205
91-SPH-1HO005 CAPD3 4.25% 2.0L 205
91-SPH-1H0006 CAPD2 1.5% 2.5L 226
91-SPH-1HO007 CAPD4 2.3% 2.5L 226
91-SPH-1H0008 CAPD17 LOW CA 1.5% 2.0L 205
91-SPH-1HO009 CAPD19 LOW CA 2.3% 2.0L 205
91-SPH-1H0010 CAPDI18 LOW CA 4.25% 2.0L 205
91-SPH-1HO011 CAPD17 LOW CA 1.5% 2.5L 226
91-SPH-1H0012 CAPD19 LOW CA 2.3% 2.5L 226
91-SPH-1H0013 CAPD2 1.5% 5L 327
91-SPH-1H0014 CAPD4 2.3% 5L 327
91-SPH-1H0015 CAPD3 4.25% 5L 327
91-SPH-1H0016 CAPD17 1.5% 5L 327
91-SPH-1H0017 CAPD19 2.3% 5L 327
91-SPH-1H0018 CAPDI184.25% 5L 327
91-SPH-1H0019 BLANCE 1.5% 2L 220
91-SPH-1H0020 BALANCE 2.3% 2L 220
91-SPH-1H0021 BALANCE 4.25% 2L 220
91-SPH-1H0022 BALANCE LOW CA 1.5% 2L 220
91-SPH-1H0023 BALANCE LOW CA 2.3% 2L 220
91-SPH-1H0024 BALANCE LOW CA 4.25% 2L 220
"BALANCE 1.5% GLUCOSE, 1.75 MMOL/L CALCIUM, PERITONEAL DIALYSIS
91-SPH-1H0025 SOLUTION" 250
"BALANCE 2.3% GLUCOSE, 1.75 MMOL/L CALCIUM, PERITONEAL DIALYSIS
91-SPH-1H0026 SOLUTION" 250
"BALANCE 1.5% GLUCOSE, 1.75 MMOL/L CALCIUM, PERITONEAL DIALYSIS
91-SPH-1H0027 SOLUTION" 444
"BALANCE 2.3% GLUCOSE, 1.75 MMOL/L CALCIUM,PERITONEAL DIALYSIS
91-SPH-1H0028 SOLUTION" 444
"BALANCE 1.5% GLUCOSE, 1.25 MMOL/L CALCIUM, SOLUTION FOR
91-SPH-1H0029 PERITONEAL DIALYSIS" 444
"BALANCE 2.3% GLUCOSE, 1.25 MMOL/L CALCIUM, SOLUTION FOR
91-SPH-1H0030 PERITONEAL DIALYSIS" 444
91-SPH-3C0002 AR U IRTIIR S AR #E(2.25~5.0MM S+ 8:32MM) 23928
91-SPH-3C0003 "FEWHIYEIGEER(2.0~4.0MM EFE  6,10,15MM)" 26000 DA
91-SPH-3C0006 55 [N #(4~11 FR. 10CM) 984
91-SPH-3C0007 " | #(4~11 FR.S,7,10CM)" 1140

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 48




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

91-SPH-3C0008 5 [ (4~ 11FR. 1620
91-SPH-3C0009 G A~ 1ER. 1464
91-SPH-3C0010 "84 FLOPPY TYPE(.018 ~0.038 150,180CM" 924
91-SPH-3C0011 "G SOEAUSTIFE TYPE) 0.025 ~0.038 150CM, 180CM" 984
91-SPH-3C0012 "R ZE BRSO ERR(FLOPPY TYPE)0.018 ~0.038 260CM,300CM” 1668
91-SPH-3C0013 "I 4SS S TIFE TYPE) 0.025 .0.035 260CM,300CM" 1668
91-SPH-3C0014 YRIPE 1278
91-SPH-3C0015 SRR A 364
91-SPH-3C0020 WS gy [EAE 2458
91-SPH-3C0021 S | 3444
91-SPH-3C0022 " ARENIRSAER IR EAS RYUTINT (.25~4.0MM EF¥ : 10,15,20,30MM)" 10008
91-SPH-3C0023 IR BRI EAY RYUJIN OTW (1.25~4.0MM £ © 10,15,20,30MM)" 10008
91-SPH-3C0024 "R EIRSGAER SRS HIRYU (2.25~4.0MM EJ¥ © 10,15,20MM)" 10008
91-SPH-3C0026 iR R AR EEA (LP)3 . OMMIMIAY (6FR.140CM) 18000
91-SPH-3C0027 TR RS 18000
91-SPH-3C0028 e VAR TS 2545 3.0-5.OMMINAS (6FR. 140CM) 19500
91-SPH-3C0031 AR 1Y 24000
91-SPH-3C0033 L) HERFE A SRR R Ay 10008
91-SPH-3C0037 ZRHUE IR BIIRIMAS 48 (2.0~5S OMMEESE @ 7:28MM) 51000[33893
91-SPH-3C0038 YA 19500
91-SPH-3C0040 I}) WRIRISES 128 [ (5~8FR. 4CM) 1680
91-SPH-3C0041 "tk NIEES [#5 (4~6ER. 7,11,23CM)" 2100
91-SPH-3C0042 M 22018 HPUNCTURE NEEDLE) 18~21G 180
91-SPH-3C0043 HIEZEINELATION DEVICE 1170
91-SPH-3C0044 CONNETING TUBE (& HAHAE () 575
91-SPH-3C0045 T BHRAS TPV C) 575
91-SPH-3C0047 ik EEIHMANIFOLD) 316
91-SPH-3C0048 7SR RAR 17956
91-SPH-3C0049 FRIE DRSS B EFOX CROSS(EL{3~12MM f[£2:8CM) 6936
91-SPH-3C0050 T/ INAS S SRR (EA€2~6MM EJ$2:12CM) 6986
91-SPH-3C0055 PRAT I 3000
91-SPH-3C0056 “FEOEE v SR A U R R A A A 9541
91-SPH-3C0057 “FEEEE v REA SO A OE R 9132
91-SPH-3C0064 FEFU T HPEEEER A TR FHEER SSI 74712
91-SPH-3C0065 FEHO P AR HR N TR S SSIR 88884
91-SPH-3C0066 FZ 07 A RN T u 123000
91-SPH-3C0067 S J P R TL R 123000
91-SPH-3C0068 KO PR N TR %% DDDR 130333]35000
91-SPH-3C0069 FEF P ] B L A% 48 DDDR(MVP) 133333[38000
91-SPH-3C0071 JRE MBS A LRI g g i 9110
91-SPH-3C0072 YR b NS S e 5 9132
91-SPH-3C0073 J5 2 ERpEE A LRI AR g i 9541
91-SPH-3C0074 a5 RS L = RN TR g 22200
91-SPH-3C0075 TR 5l 1200
91-SPH-3C0076 P oM EW | TR e 229012
91-SPH-3C0077 FFU IO A DGR 26232,
91-SPH-3C0078 KO R IEE 33000
91-SPH-3C0079 LH IR PSR 27544
91-SPH-3C0080 REEE 1278
91-SPH-3C0081 A%Umiﬂﬁrmii GO AR 2048
91-SPH-3C0082 8000
91-SPH-3C0084 R e 840
91-SPH-3C0085 AR S Bk i 6986
91-SPH-3C0088 “SEFUY HE R RIS A SR R 10008
91-SPH-3C0089 TEpR SAEREE 31562
91-SPH-3C0090 LIRS SRk 31562
91-SPH-3C0091 nHaft KR8 R (AT AT D) 6-10FR. 35CM 1764
91-SPH-3C0092 il m #8225 [ HEAH (T #5420 5-10FR. 45CM 3336
91-SPH-3C0093 nHaft KRS A (TR0 5-10FR. 65CM 3600
91-SPH-3C0094 Hiiati IE IR ﬂTll"‘.;(ll[”uwl PEEVE) 4:8FR 50:110CM 2100
91-SPH-3C0095 et S LRI B HEAS 2100
91-SPH-3C0097 SRS [ZAH 6FR IICM 1128
91-SPH-3C0098 it ZARRRIETR IS 3240
91-SPH-3C0099 SN [FRA 8.5FR 1128
91-SPH-3C0101 BT/ N S R TR RS (€ 1.2~5.0MM K6:30MM) 10008
91-SPH-3C0102 iﬁ;ﬂ;’ﬁ TR BT EIRTIRIIE AT (191€2.0~5.0MM JEf£6:25MM) 10008
91-SPH-3C0103 T e AR T BRER — AUEER0.014 K FE190MM) 3444
91-SPH-3C0104 WA ITINASEA(0.014 TIP 40-120KG/INJE£190MM) 3444
91-SPH-3C0107 [EHZESESAN, 30
91-SPH-3C0108  |IE Mg 3
91-SPH-3C0109 iR () 51
91-SPH-3C0110 EECIRIIES 195

A AR > BEATEMEE

A 3

SO ARATEE Page 49




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

91-SPH-3C0111 IR I 75 £3PRESSURE MONITORING KIT(BTR-48123) 576
91-SPH-3C0112 150ML SYRINGE WITH HANDI-FIL (900103) 283
91-SPH-3C0113 SFR.EHIE S P45 (LAUNCHER GUIDE CATHETERS) 2458
91-SPH-3C0114 6FR.IE IS 3545 (LAUNCHER GUIDE CATHETERS) 2458
91-SPH-3C0115 TFR.EHIE S P54 (LAUNCHER GUIDE CATHETERS) 2458
91-SPH-3C0116 SFR.JEL S PEA%(LAUNCHER GUIDE CATHETERS) 2458
91-SPH-3C0117 Ky T IS 4R 34020
91-SPH-3C0118 A%UJ JEF A S 480 34020
91-SPH-3C0119 i vd IRWRGE MBS RS E 6986
91-SPH-3C0122 Ll PR (OMIPAQUE) 200ML 702
91-SPH-3C0123 JEdE TP (OMIPAQUE) 100ML 702
91-SPH-3C0124 SR 2RISR [#RS-6FR. LOCK SHEATH 780
91-SPH-3C0125 O IR PR RGOS SFR. 2749
91-SPH-3C0126 LLf TR TR MO S A 6ER 2749
91-SPH-3C0127 T PSR [T S 09
91-SPH-3C0128 ECMOTREAS IR AL 53634
91-SPH-3C0129 K P EER IR 21889
91-SPH-3C0130 KZ ) T EEHRILERIR) 21889
91-SPH-3C0131 IR W U TMC-38 1097
91-SPH-3C0132 ECMOTEEAZ 1A (N PUMP HEAD) 50382
91-SPH-3C0133 MAQUETHE L ERif 11434
91-SPH-3C0135 JitiiEs (1000T) 5520
91-SPH-3C0136 HAMIGEGEEE 106
91-SPH-3C0137 DISTAL PERFUSION CATHETER 8.5FR 1313
91-SPH-3C0138 A SRR T A O AR0.014 FE190MM) 3444
91-SPH-3C0139 F.'ﬁia‘ 55\ ROEIR TR 2 4R ME(2.0~4.0MM 8:28MM) 23928
91-SPH-3C0140 mﬂﬂbl RIS LR 23928
91-SPH-3C0141 A?kjjﬁ EI A5 MODEL:4074 9132
91-SPH-3C0142 K yE '&'%ﬁ% MODEL:4574 9132
91-SPH-3C0143 SHES RS R AU U AT ES(A3DRO1) 17733382000
91-SPH-3C0146 EXPO ANGIOGRAPHIC CATHETER 100:125CM SF:7F 840
MACH 1 GUIDE CATHETER 5:8FR 100CM (FT5FH74935845-010:6970) 3% [192.7.1¢K3%
91-SPH-3C0147 BT 2093
BOSTON SCIENTIFIC MUSTANG PTA BALLOON DILATATION CATHETERS D
91-SPH-3C0148 3:10:12MM: L 20:10 6986
ASAHI PTCA GUIDE WIRE EXTRA SUPPORT PTFE 0.014 180CM WL ekl
91-SPH-3C0149 545 3840
91-SPH-3C0150 ASAHI PTCA GUIDE WIRE PTEE 0.014 150CM;180CM ] H jebRTIIRLE [t 3444
91-SPH-3C0151 PERIPHERIAL GUIDE WIRE 0.018 300CM 3600
91-SPH-3C0152 PERIPHERIAL GUIDE WIRE 0.018 180CM 3444
91-SPH-3C0153 SEEAREIIRAES |45 (FIELDER XT) 10400 ¥e
91-SPH-3C0154 sEIREIRIES [#) (CONQUEST PRO/PRO12) 7150 w
91-SPH-3C0155 SEIRTIRES [$# CONQUEST PROS-20) 7150 ¥e
91-SPH-3C0156 gk AR SIM PACEL BIPOLAR PACING CATHETERS 2749
91-SPH-3C0157 145 S % LIFESTENT) % 42000
91-SPH-3C0158 B IMAS ST ALIFESTEN T 59550
91-SPH-3C0159 L EHAE ARSI IR S R 55 250 34020
91-SPH-3C0161 COOK ZILVER VASCULAR STENT(ILIAC ARTERY) i FEmifIRIAGS 342 34020
91-SPH-3C0162 o A o 0T 1A% S 4 42000
91-SPH-3C0163 v JR A e A S e 59550,
91-SPH-3C0164 5 PR 41455 5 mﬁéz Ffi 37896
91-SPH-3C0165 B2 S TR 8723
91-SPH-3C0166 " s kKIS liﬁriﬁﬁ 5.0~10.0FR,55~90CM" 8308
91-SPH-3C0167 o e (f1 PEEA54:12-18/35/38 8723
91-SPH-3C0168 o i 1 A5 4-18/35-90/110 8723
91-SPH-3C0169 AEAEA G OB ANEA¥DDDR 130333]35000
91-SPH-3C0170 A Lol T 2 (DDDR WITH AFX) 177333[82000
91-SPH-3C0171 BT LR TR0 ARPACIN LEAD 1944T/1948T 9132
91-SPH-3C0172 T A A PACING LEAD 1988TC/2088TC 9541
91-SPH-3C0173 FREE 5 1037
91-SPH-3C0174 COOK ADVANCED 18LP LOW PROFILE PTA BALLOON DILATATION CATHETER 6986
91-SPH-3C0175 WA T PEAVERR(V-18.0.18 200CM) 3337
91-SPH-3C0176 P LT OEA(V-18.0.18 300CM) 3360,
91-SPH-3C0177 YRR MO 9672
91-SPH-3C0178 T T e 9672
91-SPH-3C0179 G 19644
91-SPH-3C0180 P EERRIHIR S X XL PTA BALLOON 6936
COOK ADVANCED 14LP LOW PROFILE PTA BALLOON DILATATION 2:4CM
91-SPH-3C0181 2:8CM 10480
COOK ADVANCED 14LP LOW PROFILE PTA BALLOON DILATATION 2:4CM
91-SPH-3C0182 12:20CM 14272
91-SPH-3C0183 APPROACH CTO WIRRE 0.14 190CM 3394
91-SPH-3C0184 APPROACH CTO WIRRE 0.14 1300CM 3444

A AR > BEATEMEE

A 3

S0F 0 AEATEE Page 50




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

91-SPH-3C0185 e P A HEAS 650001 COOK CXI SUPPORT CATH 10981
91-SPH-3C0187 i v AT FEEAY (51574 COOK CROSSCATH SUPPORT CATH 10981
91-SPH-3C0188 s p i | 2840 MICROPUNCTURE INTRODUCER 1993
91-SPH-3C0189 COOK APPROACH HYDRO ST 0.14 190CM 2824
91-SPH-3C0190 COOK APPROACH HYDRO ST 0.14 300CM 3104
91-SPH-3C0191 FEFOIEERL LKA ADDO1 ADAPTA PACEMAKER-DDD 104000
91-SPH-3C0192 ASAHI SION 0.014 180CM 3380
91-SPH-3C0193 MERIT 0.035 150:180CM WIRE 3337
91-SPH-3C0194 MERIT 0.035 260CM WIRE 3360
91-SPH-3C0195 VOLCANO EAGLE EYE PLATINUM DIGITAL IVUS CATHETER 85900P 24576
91-SPH-3C0196 VOLCANO PRIMEWIRE PRESTIGE PRESSURE GUIDE WIRE 8185/8185] 24000!
B.BRAUN SEQUENT PLEASE PACLITAXEL-RELEASING RAPID EXCHANGE PTCA
91-SPH-3C0197 BALLOON CATHETE 58000!
91-SPH-3C0199 REEF HP 0.035 PTA BALLOON 6936
91-SPH-3C0204 V14 CONTROLWIRE GUIDEWIRE 182CM 3662
91-SPH-3C0205 V14 CONTROLWIRE GUIDEWIRE 300CM 3731
91-SPH-3C0206 0.14 STERLING PTA BALLOON D:2-4MM L:80 100MM 11353
91-SPH-3C0207 0.14 STERLING PTA BALLOON D:2-4MM L:120 150MM 15461
91-SPH-3C0208 EXPRESS LD ILIAC STENT 34020
91-SPH-3C0209 QUICK-CROSS SUPPORT2 CATH 11330
91-SPH-3C0210 e A 278
91-SPH-3C0211 SIM_ ] PE A B AR AOSAS 18400
ABBOTT XIENCE XPEDITION EVEROLIMUS ELUTING CORONARY STENT
91-SPH-3C0212 SYSTEM 73996]59192
91-SPH-3C0213 RESPONSE ELECTROPHYSIOLOGY CATHETERS-QUADRIPOLAR 9348
91-SPH-3C0214 LIVEWIRE ] 280/ HE A A (] 28D U i) 15969
91-SPH-3C0215 R AR LT IMPLANTABLE CARDIAC PULSE GENERATOR #£]is) 130333]35000
91-SPH-3C0216 BOSTON SCIENTIFIC PROMUS PREMIER EVEROLIMUS-ELUTING COR 75721{60917
91-SPH-3C0217 VICTORY PTA WIRE 195CM 3444
91-SPH-3C0218 VICTORY PTA WIRE 300CM 3600
91-SPH-3C0219 COYOTE PTA BALLOON 6936
91-SPH-3C0220 COYOTE PTA BALLOON 401-100MM 10480
91-SPH-3C0221 COYOTE PTA BALLOON 120-220MM 14272
91-SPH-3C0222 EPIC NITINOL ILIAC STENT 34020
91-SPH-3C0223 INNOVA SFA STENT SHORT 20-120MM 43100
91-SPH-3C0224 INNOVA SFA STENT 150-201MM 59550
91-SPH-3C0225 RUBICON SUPPORT CATH 10981
91-SPH-3C0226 KM 554 4:11FR 11CM TRAGET INTRODUCER KIT 1140
91-SPH-3C0227 E-DOCTOR CEMENT DISPENCER 1170
91-SPH-3C0228 ENSURA DR MRIDDDR 157333]62000
91-SPH-3C0229 CAPSURE FIX MRI LEAD 19632
91-SPH-3C0230 CAPSURE SENCE MRI LEAD 23205
91-SPH-3C0231 CAPSUREFIX NOVUS MRI LEAD 23205
91-SPH-3C0232 SIM ASSURITY PULSE GENERATOR(SR) 83478
91-SPH-3C0233 SIM ENDURITY PULSE GENERATOR-SR(MRI) 105920
91-SPH-3C0234 SIM ENDURITY PULSE GENERATOR(DDD) 123000
91-SPH-3C0235 ANTHEM GENERATOR 234296
91-SPH-3C0236 QUICKFLEX U LEAD 25938
91-SPH-3C0238 SLITTABLE INNER CATH 2353
91-SPH-3C0239 SLITTABLE OUTER CATH 8486
91-SPH-3C0240 TENDRIL MRI PACING LEAD 23205
91-SPH-3C0241 BI-DIRECTIONAL ABLATION 27923
91-SPH-3C0242 DUAL-8 ABLATION 27923
91-SPH-3C0243 ELECTROPHYSIOLOGY 9348
91-SPH-3C0244 FAST-CATH HEMOSTASIS 7284
91-SPH-3C0245 DYNAMIC XT STEERABLE DECAPOLAR 15969
91-SPH-3C0246 STINGER ABLATION CATH 27923
91-SPH-3C0247 BLAZER II/BLAZER II(4AMM) 27923
91-SPH-3C0248 BLAZER II/BLAZER XP(8MM) 27923
91-SPH-3C0249 BOSTON SCIENTIFIC PROMUS PREMIER EVEROLIMUS-ELUTING COR 60892
91-SPH-3C0250 mik 2 e IREIIR 2 45 46(2.0~4.0MM 8:28MM) 0
91-SPH-3C0251 BOSTON SCIENTIFIC OMEGA MONORAIL PTCR CORONARY STENT SYSTEM 0
ABBOTT XIENCE XPEDITION EVEROLIMUS ELUTING CORONARY STENT
91-SPH-3C0252 SYSTEM 62892
91-SPH-3C0253 ZEER GV S [#2 TERUMO DESTINATION GUIDING SHEATH 8723
91-SPH-3C0254 JEH ) e ORI/ U B35 R 7833
91-SPH-3C0255 O JFAHR RSO IR IR 4R 23928
91-SPH-3C0257 MACH 1 PERIPHERAL GUIDING CATHETER 6:8F 2458
91-SPH-3C0258 PR e M R RS A 1108
91-SPH-3C0259 PR A OH i WS S AR (R4 37276
91-SPH-3C0260 PO JFAEH RSO IR IR 4R 0
91-SPH-3C0261 GOODTEC Y-CONNECTOR SET [filf#v YRdHEgaeshil 1278

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 51




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

91-SPH-3C0262 A R BH AR BSE A TBI THERAPY SMM 27922
91-SPH-3C0263 ] Q0 BETE AOE A 65000 pAY
91-SPH-3C0264 Wl S PR 1170
91-SPH-3C0265 KB Pk SR RIE S [f 3444
91-SPH-3C0266 SITESEER CATHETER 4-5FR 840
91-SPH-3C0267 PROFLO CATHETER 6-7FR 840
91-SPH-3C0268 KBOIME 2B S8 420
91-SPH-3C0269 B oAkl I MR 18360
91-SPH-3C0270 HONOR HEMOSTASIS VALVE ANGIOPLASTY PACK 1278
91-SPH-3C0271 FEH ] SR SR DGR A AR PR 10008
91-SPH-3C0272 ELIXIR DESYNE {&# %5 sl IR BIIRR S 40 HE 74117[59313
91-SPH-3C0273 0.0353% TERHR IS M P ERIIERAEASD 3:8MM; L 120:200MM 14272
91-SPH-3C0274 "0.01837 TR i %D 2:4MMEL 80,100MM" 10480
91-SPH-3C0275 0.0189 -TERL R # Sd BRIREAYD 2:4MML 120:220MM 14272,
BOSTON SCIENTIFIC SYNERGY EVEROLIMUS-ELUTING CORONARY STENT
91-SPH-3C0276 SYSTEM 75721(60917
91-SPH-3C0277 BOSTON SCIENTIFIC REBEL MONORAIL PTCR CORONARY STENT SYSTEM 23928
91-SPH-3C0278 ANGIOGRAPHIC CATHETER 4:6ER 100~110CM 840
BOSTON SCIENTIFIC RANGER AND RANGER SL PACLITAXEL-COATED PTA
91-SPH-3C0279 BALLOON CATHETER 8000049788
91-SPH-3C0280 FIELDER XT ASAHI PTCA GUIDE WIRE-FIELDER XT 6152
91-SPH-3C0281 FIELDER XT-A/XT-R ASAHI PTCA GUIDE WIRE-FIELDER XT-A/XT-R 6152
91-SPH-3C0282 ASAHI PTCA GUIDE WIRE-CONQUEST PRO8-20 6152
91-SPH-3C0283 ASAHI INTECC GAIA PTCA GUIDE WIRE 6152
91-SPH-3C0284 MEDTRONIC ENSURA MRI SURESCAN IMPLANTABLE PACEMAKER(SR) 97772
91-SPH-3C0285 EUROCOR DIOR PACLITAXEL ELUTING PTCA BALLOON CATHETER 58000
91-SPH-3C0286 BIOTEQ PTA BALLOON DILATATION CATHETER 6986
91-SPH-3C0287 SIM ASSURITY PULSE GENERATOR(DDDR)-MRI 15733362000
91-SPH-3C0288 SIM ASSURITY PULSE GENERATOR(DDDR) 133333[38000
91-SPH-3C0289 “SIM”  ELLIPSE IMPLANTABLE CARDIOVERTER DEFIBRILLATOR 410802
91-SPH-3C0290 SIM DURATA LEAD(FOR ICD) 90818
91-SPH-3C0291 “SIM”  ELLIPSE IMPLANTABLE CARDIOVERTER DEFIBRILLATOR 580441
91-SPH-3C0292 SIM DURATA LEAD(FOR ICD) 91997
91-SPH-3C0293 SIM ALLURE CARDIAC RESYNCHRONIZATION THERAPY PULSE GENERATOR 229012
ABBOTT XIENCE XPEDITION 48 EVEROLIMUS ELUTING CORONARY STENT
91-SPH-3C0294 SYSTEM 8132166517
91-SPH-3C0295 HEXACATH PREMOUNTED CORONARY STENT TITAN OPTIMAX 68500[53696
MEDTRONIC RESOLUTE ONYX ZOTAROLIMUS-ELUTING CORONARY STENT
91-SPH-3C0296 SYSTEM 74117[59313
91-SPH-3C0297 BOSTON SCIENTIFIC NC EMERGE PTCA DILATATION CATHETER(MONORAIL) 10008
91-SPH-3C0298 R I 22500
MEDTRONIC FORTREX 0.035" OTW PTA BALLOON CATHETER
91-SPH-3C0299 D:4:12MM:L:20:100MM 5986
BIOTRONIK PRO-KINETIC ENERGY COBALT CHROMIUM (COCR) CORONARY
91-SPH-3C0300 STENT SYSTEM 23928
BIOTRONIK PANTERA PRO CORONARY DILATATION CATHETER
91-SPH-3C0301 D:1.25MM:4.00MM:L:6MM:30MM 10008
91-SPH-3C0302 BIOTRONIK PANTERA LEO FAST-EXCHANGE PTCA CATHETER 10008
BOSTON SCIENTIFIC AGENT MONORAIL PACLITAXEL-COATED PICA
91-SPH-3C0303 BALLOON CATHETER 3% 58000
91-SPH-3C0304 MERIT ASPIRATION CATHETER 18360
91-SPH-3C0305 BARD ATLAS PTA BALLOON DILATATION CATHETER 6936
91-SPH-3C0306 BIOTEQ ANGIOGRAPHIC SYRINGE KIT W/HIGH PRESSURE TUBING 644
91-SPH-3C0307 “SUNMED” MANIFOLD AND STOPCOCKS:3 PORT 316
91-SPH-3C0308 SUNMED PRESSURE LINE 575
BOSTON SCIENTIFIC EMERGE PTCA DILATATION CATHETER(MONORAIL)
91-SPH-3C0309 D:1.20MM:4.00MM 10008
91-SPH-3C0310 TURNPIKE CATHETERJR vi 3545 22000 w
91-SPH-3H0001 S R 2110
91-SPH-3H0002 FH w78 0545 2096
91-SPH-3H0003 H B IOE T A 373
91-SPH-3S0002 IR ) g5 [ i I HE PR 110-4HM 30060 PAq
91-SPH-380003 PB4y, 160 ¥t
91-SPH-3S0004 FERIEM A, 470, w
91-SPH-380005 SER AT ISMM*6CM (4R 41.) 200! ¥e
91-SPH-380006 URETERAL ACCESS SHEATH 12FR X 35CM AS:COOK FUS-120035 4500 PAY
91-SPH-380008 PERFPLAERRA 100 ¥t
91-SPH-350009  |LOCKING LATERAL FIBULA PLATE 13-HOLE 59040 X
91-SPH-350010  |TRABECULAR METAL VETEBRAL BODY REPLACEMENT SYSTEM VBR-]| 131940 pAY
91-SPH-350011  |ZIMMER SPINE UNIWALLIS 110340 X
91-SPH-350012  |LOCKING LATERAL FIBULA PLATE 9-HOLE 59040 PAq
91-SPH-3S0013  [Bif2 BB E I s E-FEE 1827 DAY
91-SPH-3S0014 Btz B PSR- E 6600 ¥e
91-SPH-350015 "STAINLESS ANATOMICAL PLATE (TIBIAL,FEMUR,FIBULAR) 9H" 12520

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 52




VAREREG LA TERMBIAZRHEBERBERKRAE-HH &R

91-SPH-380016  [LOCKING LATERAL FIBULA PLATE 11-HOLE 59040 S
91-SPH-350017 [ SYNTCE 6.5 CANCELLOUS SCREW 50MM #218050" 600

91-SPH-3S0018 [ SYNTCE 6.5 CANCELLOUS SCREW 45MM #217045" 600

91-SPH-350019  [" SYNTEC 4.5 CORTEX SCREW 46MM, #214046" 360

91-SPH-350020 [ SYNTEC 4.5 CORTEX SCREW 52MM, #214052" 360

91-SPH-350021  [" SYNTCE 6.5 CANCELLOUS SCREW 45MM #216045" 600

91-SPH-350022  [LOW-PROFILE LOCKING(LPL)YMEDIAL TIBIA PLATE 9-HOLE 59040 ¥¢
91-SPH-350023  [" SYNTCE 6.5 CANCELLOUS SCREW 40MM #216040" 600

91-SPH-350024 [ SYNTCE 6.5 CANCELLOUS SCREW 50MM #216050" 600

91-SPH-350025  [" SYNTCE 6.5 CANCELLOUS SCREW 50MM #217050" 600

91-SPH-350026 " SYNTCE 6.5 CANCELLOUS SCREW 50MM #217055" 600

91-SPH-350027 _ [" SYNTCE 6.5 CANCELLOUS SCREW 50MM #218055" 600

91-SPH-350028  [AMKLE PLATE CLATERAL FIBULA PLATE 70-0147 59040 S
91-SPH-350029  [LOCKING PLATE 4H 441.341 41000 PAY
91-SPH-350030  ["MATHYS LOCKING PHILOS PROXIMAL HUMERUS 3.5, PLATE 8H AS:SY] 66000 S
91-SPH-350031  [CORTEX SCREW 4.5 360

91-SPH-350032 _ [HHIEH 1400

91-SPH-350033 “LAGIS” LAPBASE CAP FOR WOUND RETRACTOR(CP-60ES) 3220 PAY
91-SPH-350034  [TRINICA AND TRINICA SELECT ANTERIOR CERVICAL PLATE SYSTEM ] 23500 *
91-SPH-350035  [TRINICA AND TRINICA SELECT ANTERIOR CERVICAL PLATE SYSTEM =] 26000

91-SPH-350036 ["Z 2RISR 2 FE 41 #1598 30G SMM, 40:BD" 20

91-SPH-350037  [BOSTON SCIENTIFIC RESOLUTION CLIP DEVICE 3790 PAY
91-SPH-350038 __ |[JZEA e aiEiRes 30 A
91-SPH-350039  [LASER FIBER 200 AS:LUMENIS 0644-017-01 5000 PAY
91-SPH-3V0003  [ATRIUM ADVANTA PTFE VASCULAR GRAFTS 22125:21125 18960

91-SPH-3V0004  [ATRIUM ADVANTA PTFE VASCULAR GRAFTS 21061:21064;22062;22064 20338

91-SPH-3V0005  [ATRIUM ADVANTA PTFE VASCULAR GRAFTS 21112:21115:22112:22113:2] 11900

91-SPH-3V0008  [ATRIUM ADVANTA PTFE VASCULAR GRAFTS 21010:21012 ; 21014;22012; 12954

91-SPH-3V0009  [ATRIUM ADVANTA PTFE VASCULAR GRAFTS STANDARD WALL-CENTH 16367

91-SPH-3V0010  [LEMAITRE EMBOLECTOMY CATHETERS 1601-24;26:34;38:44:48:54;58 5 64; 1285

91-SPH-3V0011  [LEMAITRE EMBOLECTOMY CATHETERS 1651-34;38:44:48;54:58:84:88 5 64 2274

91-SPH-3V0012  |[ECMOTEERE R AH 53634

91-SPH-3V0013  [SEBIE TEEMHEIR) 21889

91-SPH-3V0014 [ FEEHGEIR 21889

91-SPH-3V0015 |1 &E IR R s HIBFIHTMC-38 1097

91-SPH-3V0016  [MAQUETHE L ELE 11434

91-SPH-3V0017  |B4MiEteEsiss 106

91-SPH-3V0018  [Hiese (1000T) 5520

91-SPH-3V0019  [DISTAL PERFUSION CATHETER 8.5FR 1313

91-SPH-3V0021  [ECMOfEERE B AH(R&PUMP HEAD) 50382

91-SPH-3V0022  ["Z#5¢ 845 FLOPPY TYPE(.018 ~0.038 150,180CM" 924

91-SPH-3V0023  [/)v&= 33

91-SPH-3V0028  |diFafiizesilEs [£54H MICROPUNCTURE INTRODUCER 1993

91-SPH-3V0029 [ #fumE [ 5 H B 72k 5 (R 2 A (JEER).#OM-90008S." 53760

91-SPH-3V0031  |FE(EASSMEIRE - LB R 2R 478

91-SPH-3V0032 | /Lofififa E b2 TS2000 53760

91-SPH-3V0033  [STABILIZER AND POSITIONER SYSTEM 52000 S
91-SPH-3V0034 V4% .o m% 8 Fr BARD CARDIOVASCULAR PATCH-CARDIOVASCULAR ] 5922

91-SPH-3V0035 [T FR A AMM*61CM 1820

91-SPH-3V0036 |/ (alll/& 4 Fr (PLEDGETS)3/16* 1/4 fE[EIF 49

91-SPH-3V0037  [MYOTHERMXP CARDIOPLEGIA DELIVERY SYSTEM 3808

91-SPH-3V0038  ["CORONARY CANNULA 10:14FR 30010,30012" 733

91-SPH-3V0039  [TEMPORARY MYOCARDIAL PACING LEAD 6491 1246

91-SPH-3V0040 _ [ERZ2IE AN SR MU L5 A TIME 8MM X 70CM 27066

91-SPH-3V0042  |[ENDOSCOPIC NEEDLES 150MML 455

91-SPH-3V0044  [JLoe K EE iplRehGREE 518 40000 e
91-SPH-3X0002  [AMPLATZ SUPER STIFF GUIDE WIRE 035/145(t BHsE ) 1033

91-SPH-3X0003  [SPRING LOADED BIOPSY NEEDLE(E B s D (R B ) 1690

91-SPH-3X0004  [BONE MARROW BIOPSY NEEDLE(EEHT F) 1102.5

91-SPH-3X0009  [PIGTAIL NEPHROSTOMY SET W/SAFETY STRING LOCK SYSTEM 4225

91-SPH-3X0010  [GUIDE WIRE STRAIGHT 364

91-SPH-3X0011  [CONTRAST MEDIUM DISPOSABLE SYRINGE 200ML(CTP-200FLS) 473

91-SPH-3X0013  [DISPOSABLE SYRINGE SYSTEM 150CC W/HANDI FIL LINDEN LUER 252

91-SPH-3X0015 |ME& @& 2flgt 215

91-SPH-3X0019  [MERIT HIGH PRESSURE TUBING 48 503

91-SPH-3X0028 |3l e s 1208

91-SPH-3X0029  [MRI SYRINGE SET BESZHESS (RS RHE ) 565

91-SPH-3X0030  [CAREFUSION TEMNO BIOPSY NEEDLES —£#37 E#ast 1024

91-SPH-3X0031 _|[El##Es [$ 1024

91-SPH-3X0033  [VESSEL/FASCIAL DILATOR#EIEZ2(JCDO5-10) 300

91-SPH-661790  [PROXIMATE RELOADABLE LINEAR STAPLER 30MM TX30BREL#V) & 284H 2408.7

91-SPH-661820  [TLCSS 158 HEhiE & 28 SSMM 2520

A AR > BEATEMEE
HECWAE" Rl - ASAIEL Page 53




VARERESATERMBIAZRHEBERBERKRAE-HH &R

91-SPH-661850 | TX60K BEVIES 2 2415
91-SPH-661860  |[TLCLOFAi#H 6790

CLSBG108 b 400 i
COTHCL12 BABY COAT 100 PAY
FBD00281ICNS1  |COMPRESSION HIP SCREW SYSTEM 8922
FBDOO28INNS1  |DCS SYSTEM 8925
FBEH15000NS2  |OSTEONICS TOTAL ELBOW SYSTEM 89940 *
FBEHI8105NZ1 |TOTAL ELBOW SYSTEM 93100 *
FBHBAIQOONSD |MICROPORT BIPOLAR HIP SYSTEM 48000
FBHBAIO0ONAE |BICONTACT BIPOLAR HIP SYSTEM 53790
FBHBA2000NUO |UNITED U2 BIPOLAR SYSTEM 53400
FBHBASO00TZ] |BIPOLAR HIP SYSTEM (CUP + HEAD + STEM) 39677
FBHBAPRFMR5D [MICROPORT BIPOLAR HIP SYSTEMGH & ZR B ) 51970
FBHBCCERAZSD [MICROPORT CERAMIC BIPOLAR HIP SYSTEM 69688[23070
FBHPALQOONSD |MICROPORT TOTAL HIP SYSTEM 48000
FBHPALO0ONAE |BICONTACT TOTAL HIP SYSTEM 59900
FBHPALI0ONDP |CORAIL TOTAL HIP SYSTEM 59900
FBHPA4000TZ1 |TOTAL HIP SYSTEM 59900
FBHPAPREMRSD |[MICROPORT TOTAL HIP SYSTEM(HH & 0 BAH) 62270
FBHPCCERA3Z1 |" ZIMMER BIOLOX TOTAL HIP SYSTEM(CERAMIC),FBHLCCERA2ZI+FBH  134414[93518
FBHPCCERA45D |MICROPORT CERAMIC TOTAL HIP SYSTEM 102870[52051
FBHPCCERAS85D |MICROPORT LINEAGE CERAMIC TOTAL HIP SYSTEM 75370[24551
FBHPMLDH045D |[MICROPORTBIG FEMORAL HEAD TOTAL HIP SYSTEM 135319]84500
FBHRAI000NW2 |REVISION TOTAL HIP SYSTEM WRIGHT 73000
FBHRA2000NSD |MICROPORT PERFECTA REVISION TOTAL HIP SYSTEM 78750
FBHRA2000TZ1 |VERSYS REVISION TOTAL HIP SYSTEM 71700
FBHRA3000NS2 |HA REVISION TOATA HIP SYSTEM 71700
FBHRAGOO0TZ]  |ZIMMER WAGNER SL REVISION HIP SYSTEM 55124
FBKPA7000TZ1 |NEXGEN KNEE LPS SYSTEM 67900
FBKPASOOOTZ]  |[NEXGEN LPS-FLEX COMPLETE KNEE SYSTEM 67236
FBKRAIQ0ONW?2 |WHITESIDE ORTHOLOC LONG STEM REVISION TO 88440
FBKRA2000NW?2 |WRIGHT P.S.L TOTAL KNEE SYSTEM 86940
FBKRA3000TZ1 |VERSYS REVISION TOTAL KNEE SYSTEM 88440
FBKUA2000TZ1 |UNICOMPARTMENTAL HIGH-FLEX SYSTEM 155f5(FEMORAL+TIBIAL +S 59500
FBNO5403FSY2  |[FEMUR INTERLOCKING NAIL SYSTEM (NAIL*1+SCREW*3) 10300
FBN05403S1Y2  [SYNTEC KING BO HUMERAL INTERLOCKING NAILS SYSTEM-FEMORAL 10300
FBNO5403TSY2  |TIBIA INTERLOCKING NAIL SYSTEM (NAIL*1+SCREW*3) 10300
FBSF1ASO0IAQ |TITANIUM SPINAL OC-FIX SCREW SYSTEM —Ai(RX2+SX4) RATHT R Z 17463.6
FBSFIASNO2AQ |TITANIUM SMARTLOC SPINAL SYSTEM(SX6+RX2) 25062
FBSF1ASY05AQ [TITANIUM SMARTLOC EVOLUTION SPINAL SYSTEM Z£fi(SX4+RX2) 29088 *
FBSFIASY06AQ |TITANIUM SMARTLOC EVOLUTION SPINAL SYSTEM =ffi(SX6+RX2) 41964 *
G11-873 PG (PR 900 Y
WDD0830053BF  |KALTOSTAT CALCIUM-SODIUM ALGINATE 10X20CM?2 1155

A AR > BEATEMEE

HECWAE" Rl - ASAIEL

Page 54




